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Part 1
Module I
Variant I

1. Rewrite the text and translate it into your native language.
IlepenuiunTe TEKCT U NEepeBeIUTE €ro HA POAHOM A3BIK.
IlepenuuuiTh TEKCT i MEePeKJIAAITH HOTO PIAHOIO MOBOIO.

Global Economy

The global economy flourished throughout much of the postwar period. In
the early 1960s, many industrialized countries grew as fast as 5% per year,
with Japan leading the way at 10%.

In the early 1970s, a combination of factors, including increased oil prices,
contributed to slower growth in Japan and most of Western Europe. Inflation
reached unprecedented levels in many countries and their governments fought it
by slowing economic growth. In the early 1980s, high interest rates limited
investment and increased unemployment in many countries.

By 1986, many of these problems had receded. But increased competition
among the advanced industrial countries made it seem that one could grow
rapidly only at the expense of the others.

In the international horse race (or is it rat race?) of economic growth,
investment determines success. Small wonder the Japanese have carried home
many of the prizes: throughout the 1970s, investment averaged over 20% of
Japan's net national product.

Investment in both Britain and the U.S. averaged less than 10% of the net
national product in the 1970s, one reason their growth rates were not
mpressive.

Rates of investment sagged worldwide in the late 1970s. In Japan, Britain,
West Germany and the U.S., investment as a percentage of the net national
product was lower in 1984 than in 1972.

Because U.S. corporations have international portfolios, they have a smaller
economic stake in the U.S. than they once did. In 1985, about 30% of all the
after-tax profits of U.S. corporations were earned abroad, a substantial
increase over earlier years. Profits earned abroad are usually subject to lower tax
rates than those earned at home.

U.S. corporations often invest in developing countries to gain access to raw
materials (such as oil) or to take advantage of low wages and less workplace and
environmental regulation.

But access to markets also influences investment patterns. U.S. corporations
invest in many areas, such as Canada and Western Europe, to avoid trade
restrictions and sell to wealthier consumers.



Goods produced in the U.S. gradually became more competitive. But the
adjustment process has proven very slow, too slow to help the many companies
that have already gone out of business and the many workers who have already
lost their jobs.

As the economy has faltered, U.S. corporations have become even more
dependent on profits from overseas investment. But this investment has actually
declined in recent years. And foreign corporations, many of them Japanese, have
increased their investments in this country. By building plants here they can get
around tariff barriers and protect themselves from future fluctuations in value of
the dollar.

What about the underdeveloped world?

U.S. foreign aid could provide substantial assistance to the world's neediest.
Instead, it is largely devoted to increasing military and police arsenals that
supposedly protect U.S. strategic interests abroad.

U.S. banks have a big stake in the developing world.

Slow growth, high interest rates, and increased competition in world trade
make it difficult for many countries to repay those debts. And debts repaid at
the expense of economic development could create even greater debts in the long
run.

1. Learn new words
3anmoMHHUTE HOBBIE CJI0OBA
3anaM’daTaiTe HOBI CJIOBA

Flourish — pa3pactaTbcsi, mpoiBeTaTh, MpeycCcrieBaTh

Industrialize — pa3BUBaTh MPOMBIILIEHHOCTb, IPOU3BOIUThH
Contribute — BHOCUTB BKJIaJ, CIIOCOOCTBOBATH, COJEHCTBOBATH
Inflation — nasAIAS

Unprecedented — 6ecriperieIeHTHBIN

Interest rate — craBka NpoUEHTA, CCyAHBIN TPOLECHT

Recede — magaTs (0 1eHax, aKIMAX ), CHHIKATHCS

Rapidly — GeicTpo

Investment — THBECTUPOBAHUE, BIOKEHUE JACHET, KAIIUTAIl

National product — BanoBbIil TPOIYKT CTPAHbI

Sag — cHUXKEeHue YpOBHS, NAJCHUE, 3aMeJJICHIE pOCTa MPOU3BO/ICTBA
Corporation — akilHOHEpPHOE 00111€CTBO, KOpHOopalusi, 00beIUHEHUE
Economic stake — s3koHOMUYeCcKas CTaBKa

After-tax profits — npuObLIL OCJIE YILJIATHI HAJOTOB, YUCTas MPUOBLTH
Substantial — BaxHbIN, 3HAYUTEIIBHBIN, TPOYHBIHN, PEATIbHBIN, 3HAUUTEIbHbBIN
Increase — yBenuueHue, poct, IPUPOCT, BO3pACTaAHHE

Profit — mpuOBLIBL, TOXOI, BEITOA, TOJIh3a

To gain — momy4aTh, MpuOOpPETaTh, JOOUBATHCS, 3apabATHIBATH

Raw material — cpipbe, HCXOHBII MaTepUa

Workplace — mpou3BoCTBEHHOE TOMEIIEHUE, paboyee MECTO
Environmental regulation — mpupog00XpaHUTEIbHOE 3aKOHOAATEIBCTBO



Wealthier consumer — 6onee Ooratslii MOTpPEeOUTENH

Competitive — KOHKYPEHTOCIIOCOOHBIN

Falter — xoneGatbcsi, 1eHCTBOBATH HEPEIIUTEILHO

Tariff barrier — TapudHsbIit 6apbep

Fluctuation — kone6anue, HeyCTOMUHUBOCTh, U3BMEHEHUE, TEKYUECTh
Debt — nonr, 3a101KEHHOCTB, IOJITOBOE 005S3aTEIbCTBO

Repay — ymiauuBars, noraiiatb, BO3MEIATh

2. Find a word in the text to complete these phrases.
Haiigure c10Ba U3 TEKCTA U JOMOJHUTE 3TH BbIPAKCHUS.
3HaliAiTh €JI0BAa y TEKCTi TA JONOBHITH CJI0BOCIIOJIyY€HHS.

) e.ooennn. growth

2) A, P countries
3) economicC S.............

4) deveiiiiiiiii, patterns
5) overseasi.............

6) fo corporations
7) rawm..................

8) teeeii, rates

9) globale...................

10) noooeeeeiiiins product
11) after-tax p.........cceennnnes
12) eccvvnnnnnnnn. regulation

3. Complete the following sentences with the phrases from the text.
JlonoJtHMTE JaHHBbIE NPeAJIOKeHus (ppa3amMu U3 TeKCTa.
JIOmOBHITH 1aHI pe4YeHHs CJI0BOCHOJYYEeHHAMH 3 TEKCTY.

1. In the early 1970s, a combination of factors...................cooeiiiiinie.
contributed to slower growth in Japan and most of Western Europe.

2. In the international horse ................oiiiii. of economic
growth, investment determines success.

3. Rates of investment ......................o..t in the late 1970s.

A have international portfolios, they have a
smaller economic stake in the U.S. than they once did.

5. Butaccessto .....ooovvvniiiiiinnn. investment patterns.

6. Profits earned abroad are wusually subject to lower tax

7. Goods produced in ............ooiiiiiinnn.l became more competitive.

T they can get around tariff barriers and protect
themselves from future fluctuations in value of the dollar.



4. Complete the dialogue with the phrases in the box.
JomoanuTe 1uanor (ppazaMu U3 paMKH.
JonoBHITH Aiajor (ppazamu 3 paMKH.

a) We specialize in medium-sized generators

b) I work for a large multinational company

¢) We manufacture components for our car production plants in Europe
d) We export to Eastern Europe and the Far East

e) the company has operations in over fifty countries

f) The domestic market accounts for about 40 per cent of our total sales

A: So, who do you work for?

B called DAK Group. We have
five main areas for business- construction, heavy industry, shipbuilding, motor
vehicles and telecommunications.

A: And which side of the business do you work in?

B: The motor vehicles division. I work in our Belgian factory.

A: Where are DAK headquarters?

B:In Seoul. But ......oouiiii and thirty
factories all over the world.

A: What does your company do exactly?

B: We deign and assemble a wide range of electric generators for hospitals,
hotels and small factories. ............coooiiiiiiiiiiiiiiiiiii i but we’re hoping

to diversity into large models next year.
A: And who do you sell to?

5. Complete the sentences with a preposition.
IlocTaBbTe MpeAIOrd B MPeAJI0KEHHS.
BcraBre NpUilMEHHUKH Y peYeHHS.

on for with over
of in for into for
I. 'm.......... the afternoon shift this week.
2. We produce components .................... the car industry.
3. Exports account ................ 70 per cent of total sales.
4. We have factories all ............ the world.
5. We specialize ............... top-of-the-range cars.
6. We’re trying to diversify ............... more expensive models.
7. What does IBM stand ............. ?
8. He’s responsible ................ Quality Control.



9. 'min charge ............... the workshop.
10.Who takescare ................. after-sales service?

6. Match the products and industries. Use a dictionary to help you if
necessary.
CoenuHure NPOAYKTHI W OTPACJU mNpoMbinuieHHOcTH. Hcmoab3yiite
CJI0Bapb, €CJIU B ITOM €CTh HEOOX0AUMOCTb.
IMoeanaiiTe mNPOXYKTHM Ta Trajdy3i MNpPoOMHCIOBOCTI. BuxopucroByiite
CJI0BHHUK, SIKIIIO B IbOMY € OTpeda.

the packaging industry
the mining industry

1. diesel oil ¢ the pharmaceutical industry
2. car components e the construction industry
3. buildings e the textile industry
4. Qrugs . e the electronics industry
5. jet engines e the petrochemical industry
6. cardboard boxes e the aerospace industry
7. semi-conductors e the telecommunication industr
8. gold o Y
. floth : the automotive industry
[ J

10. mobile phones

7. Translate from Russian into English.
IlepeBeauTe ¢ PyCCKOI0o HA AHIVIMUCKHH A3BIK.
Ilepexnanith 3 pociiicbKOi MOBH aHIIIICHKOIO.

1. Poct oOmero ypoBHS LE€H WM LIEH OTIENbHOM TPYIIbl TOBAapOB OOBIYHO
BBI3bIBAETCS YBEIMUYEHHUEM JIEHE)KHOM MAacChl WJIM HEONAronpusiTHBIM U3MEHEHHEM
YCJIOBUU MPEIJIOKECHUN.

2. YupexaeHue, NpealpusITHEe WIM OpraHU3alsi, BBICTYIAIOLIUE B KAueCTBE
CaMOCTOSITEJIBHOTO HOCUTEJIS IPAKIAHCKUX IIpaB U 00S3aHHOCTEW, MOTYT OT CBOETO
UMEHM  [pUOOpeTaTh M OCYLIECTBISATh  MMYLIECTBEHHBIE U JINYHBIE
(HEeMMYILIECTBEHHbIE) MpaBa, HECTU OOS3aHHOCTH, OBITH HCTIOM U OTBETUYUKOM B
cyze.

2. OH Noay4us NpUWINYHYIO 3apIuiary.

3. Pabouee MecTo — 3TO OrpaHUYCHHOE MPOCTPAHCTBO B MPOHU3BOJACTBEHHOM
win paboueM TOMEIIEHUH, KaOWHET, MpeIHa3HAUYEHHBIA MJi1 BBIINOJIHEHUS
ONpeACNeHHOW pPadOThl COTPYAHMKOM WJIM COTPYJHUKAMH, Kak IPaBUIIO,
000pyI0BaHHOE HEOOXOIMMOI JIJIs1 pabOThI TEXHUKOM, MHCTPYMEHTAMH.

4. Hamm notpeOuTenu 0’KUJAI0T OT HAC TAaKUX MIPOJYKTOB, KOTOPBIE HE TOJBKO
BKYCHBI U O€30IacHBI JUIS 370POBbs, HO €Ill€ M ObUIM IPOU3BEJEHBI HAJUIEKAIIUM
0o0pa3oM U UMENH IPUEMIIEMYIO LIEHY.



5. MBI ropauMcst T€M, 4TO MBI MPOJOJDKAeM OOECIeYnBaTh CBOMX KIMEHTOB
TOBapaMHM, IPOU3BEJACHHBIMU U3 CaMbIX KaU€CTBEHHBIX UHIPEIMEHTOB, KAKUE €CTh Ha
PBIHKE.

6. PaznuuHble OrpaHUYCHUsI O BPEMEHM, MU3MEHEHMS IPaBUJ, COKpAILCHUE
BEJIMYMHBI TTOCOOMM OBLTU OOBSICHEHBI KaK «CTUMYJIbl», IIPU3BAaHHBIE MOATOJKHYTh
nojtyyaTesen ColranbHbIX TOCOOUM K TOMCKY OTIauMBaeMOM pabOThI.

7. bnara, KOTOpbIe KaXIblii pallMOHAJIBHBIA YEJIOBEK XOTeJll Obl HMETh
HE3aBHUCUMO OT TOTO, KaKOB palMOHAJbHBIN IUIaH >KU3HU YEJIOBEKAa: 3/I0POBLE,
YMCTBEHHBIE CITIOCOOHOCTH, 00pa30BaHUE, SHEPTUIHOCTh, BOOOPAXKCHHE H T.]I.

8. Test
Tecr
Tecr
1. Change the underlined parts into the necessary Participles.
N3meHnuTe noxyepKHyTHIE CJI0BA HA HE00OX0AMMOE MMPUYACTHE.
3MiHITH MiAKpec/eHi cJ10Ba HA HeOOXiTHUI TiENPUKMETHHK.
1. When he was carrying out the experiment, he made notes.
a) When he carrying out the experiment, he made notes.
b) When carrying out the experiment, he made notes.
¢) When carried out the experiment, he made notes.
2. The report that our engineer made was the last.
a) The report made by our engineer was the last.
b) The report our engineer mading was the last.
c) The report maked by our engineer was the last.
3. The material that allows electricity to flow is called a conductor.
a) The material allowing electricity to flow is called a conductor.
b) The material allowing electricity to flow is called a conductor.
¢) The material allowed electricity to flow is called a conductor.
4. When he was speaking about the new method, he told much interesting.
a) When spoken about the new method, he told much interesting.
b) When he speaking about the new method, he told much interesting.
¢) When speaking about the new method, he told much interesting.
5. The falling water has kinetic energy.
a) The water that is falling has kinetic energy.
b) The water that falling has kinetic energy.
c) The water fallen has kinetic energy.
6. The transistors that were invented led to the acceleration.
a) The transistors inventing led to the acceleration.
b) The invented transistors led to the acceleration.
¢) The transistors that invented led to the acceleration.
7. A person who begins some experiments should be very careful.
a) A person beginning some experiments should be very careful.
b) A person begun some experiments should be very careful.
¢) A person beginning some experiments should be very careful.
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8.The describing theme is very difficult.

a) The theme that described is very difficult.

b) The theme that was described is very difficult.
c¢) The described theme is very difficult.

2. Translate into English using Participles.
IlepeBeauTe HA AHTIMIICKUH A3BIK, HCIIOJIb3YS IPUYACTHS.
IlepexnaaiTh aHIJIICbKO MOBOK, BUKOPUCTOBYOYH Ji€NPUKMETHHUK.

. KHI/IFI/I, IMPOYUTAHHBIC B JICTCTBC, KAJKYTHCA CTAPbIMU APY3bsIMU.

a) The books read in childhood seem old friends.
b) The books reading in childhood seem old friends.
c¢) The books being read in childhood seem old friends.

. Ilocne Toro, Kak OH Hanmucaja MUCbMO, OH TIOLIEN Ha POOOTY.

a) After having written the letter he went to work.
b) After written the letter he went to work.
c) After writing the letter he went to work.

. Sl He CJibllIajia, YTO OH 3HAMEHUTHIN ITOAT YMCED.

a) I did not hear this famous poet died.
b) Idid not hear this famous poet having died.
¢) I did not hear this famous poet being died.

. OHn AyMalid, 4TO UX ITOBEAYT B KMHO 3aBTpa.

a) They thought being taken to the cinema tomorrow.
b) They thought taken to the cinema tomorrow.
c) They thought will being taken to the cinema tomorrow.

. Tak xak s ObLIT OYEHB 3aHSAT, 5 PELINT HE UATH HA BEUCPUHKY.

a) As he was being very busy, I decided not to go to the party.
b) He being very busy, I decided not to go to the party.
c) He been very busy, I decided not to go to the party.

. IlpunsB nymi, oHa nomnia Ha poOoTYy.

a) Taken a shower she went to work.
b) Having taken a shower she went to work.
c) Taking a shower she went to work.

. [IpuHumas ayui, oHa merna.

a) Taking a shower she was singing.
b) Taken a shower she was singing.
c) Took a shower she was singing.

. OHa Bcerja xorena, mo0 il mogapuin co0aky.

a) She has always wanted having presented a dog.
b) She has always wanted been presented a dog.
c) She has always wanted being presented a dog.

. OH ceiluac 3aHAT, TaK KaK IPpUHUMAET Jeneranuo u3 Uranuu.

a) He is busy now, being receiving the delegation from Italy.
b) He is busy now, received the delegation from Italy.
c) He is busy now, he receiving the delegation from Italy.



3. Translate into English using modal verbs.
IlepeBeauTe HA AHITIMICKUH A3BIK, HCIOJb3YS MOJAAJbHBIE CJI0BA.
Ilepeknagitb aHIIINCBKOI0 MOBOI, BHKOPHUCTOBYIOYHM  MOJAJIbHI

aiecaoBa.

1. You (He nmomkeH Obu1 pasroBapuBath) to her like that. You (HaBepHoe,
obuzen) her.

a) You shouldn’t have spoken to her like that. You must have hurt her.

b) You may not have spoken to her like that. You can have hurt her.

¢) You need not have spoken to her like that. You might have hurt her.

2. He MOXeT ObITh, 4TO OH paboTaeT B 3TOM Komnanuu. TeOs oOMaHyIu.

a) He may not be working in this company. You were deceived.

b) He must not be working in this company. You are deceived.

c) He can not be working in this company. You have been deceived.

3. Heyxenu HHUKTO HE 3aMETHUJI, KaK OH BBILLIET U3 KOMHATHI?

a) Could anybody have fail to notice that he left the room.

b) Can anybody have failed to notice that he has left the room.

¢) May anybody have failed to notice that he has leaved the room.

4. MoeT ObITh , Thl HE YCIIbIIIAJ, YTO JOJIKEH CIeNIaTh ATO ceilyac!

a) You must have failed to hear that you must do it right now.

b)You might not hear that you have to do it right now.

¢) You may not have not heard that you are to do it right now.

5. Moxer OwiTh, ANHca yxe TMpuexana, HaM HYKHO TMOTOPOIUTHLCS, YTOOBI
BCTPEJHTH €€.

a) Alice may have already come, we should hurry to meet her.

b) Alice must have already come, we ought to hurry to meet her.

c) Alice must already came, we should to hurry to meet her.
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Variant I1

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

World Banking system is a ‘money launderers’ dream

It was the biggest money laundering investigation in US history. Evidence had
been gathered secretly over many mothers by undercover officers risking their lives.
The suspects were lured to Las Vegas for a conference on money laundering. Then
the police struck, arresting 22banking officials from Mexico’s largest financial
institutions, plus 14 alleged members of Mexican and Colombian drug cartels and
another 70 linked to them. Seizure warrants were issued to recover $122m from bank
accounts in the US and Italy, to add to $35m seized so far. The operation so damaged
confidence in Mexican banks that their shares fell collectively by 4% in panic selling.

But as Operation Casablanca struck its blow in the Americas, officials of the
United Nations Drug Control Programme in Vienna were editing the final version of
a report — to be released soon — that puts the US triumph into a gloomy perspective.

It says that at least $200bn of drug money is laundered every year, but with the
illegal international drug trade valued at $500bn, this is probably a conservative
estimate. In a good year, up to $500m will be recovered through anti-money
laundering measures — an annual success rate of about a quarter of 1% of laundered
funds. Operation Casablanca, with $157m, will probably make the year a good one,
but hardly vintage.

The report has been prepared by a group of experts for a special session of the
UN General Assembly on drugs in New York. With the growth of the international
drug trade, more ill-gotten money is being laundered than ever, party on the back of
electronic banking and the increasing globalisation and speed of operation of the
international financial system.

Cashless transactions, electronic trading and computerised clearing mean that
what the report calls ‘megabyte money’ can be moved anywhere with speed and ease.
With 700,000 wire transfers worth $2,000bn every day, the report says it is ‘a
reasonable guess that 0.05% to 0.1% contain laundered funds to a value of $300m’.
And even though half the total volume of transactions are bank-to-bank transfers of
‘aggregate funds’ for settlement or loans, the report says the ‘complicity of corrupted
bank employees’ ensures these also contain laundered money. ‘This system is a
money launderer’s dream.’

The one thing law enforcement officers have on their side is that criminals have
to play by the rules of the system in order to use it. While it is impossible to spot
transactions in progress once money is in the system, criminals have to risk exposure
in putting it there. UN officials want the process made riskier.

At present, criminals reduce their risk by operating through offshore financial
havens with lax financial regulation and poor banking supervision. They also hide
behind banking secrecy, and disguise the ownership of assets by setting up shell
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companies and offshore trusts in jurisdictions where no questions are asked about
shareholders and beneficiaries. Many accounts and trusts are known as ‘walking’
ones, where there is a standing instruction to move the accounts to another
jurisdiction at the first sign of inquiry by the authorities.

UN officials accept that commercial confidentiality, legal tax avoidance and the
easing of capital transfers at low or nil tax rates are legitimate reasons for bank
secrecy and disguising corporate ownership, but they say the system is too lax in
some places, allowing infiltration for illicit or nefarious purposes. ‘One of the most
striking things about offshore financial centres is the enormous increase that has
taken place in the number of banks,” says the report. Banks can be set up with relative
speed and ease and a minimum of due diligence investigation, so long as they meet a
basic level of funds, which can vary between one jurisdiction and another.

Exporting bulk cash, usually in $100 bills and sometimes carried under
diplomatic cover, is the favoured method of getting deposits to banks where no
questions will be asked. Casinos in offshore centres are a favourite for converting
funds: cash is exchanged for gambling chips, the launderer plays for a while at the
tables then exchanges the chips back again. Instead of a cheque, some casinos offer
immediate electronic transfer of ‘winnings’ to an offshore bank account.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anam’sATaiiTe HOBI cJIOBa

Laundering — oTMbIBaHUE J€HET

Investigation — pacciieIoBaHHE, UCCIIEI0BAaHUE, PACCMOTPEHUE, U3YUEHUE
Evidence — scHO, 0ueBUIHO

Undercover — cekpeTHBbIii, TaliHbII

To lure — 3aBneKaTh, IPUMaHUBATDH

Alleged — yTBepxkaaemblil, mpeanoaaracMblii, COMHUTEIIbHBIN

Cartel — xaprens (ogHa u3 Gopm 00bEAMHEHUS TPOMBIIIEHHBIX,
KOMMEPYECKUX WM MOTUTHUYECKUX OpraHu3aIui)

Seizure warrant — opiep Ha BBIEMKY

Release — n3baBnenue, ocBoOOXKACHHUE (OT 00S3aHHOCTEH)

Gloomy perspectives — MpauHbl€, IIe4aJIbHbIE TIEPCTIEKTUBbI

Illegal — mpoTHBO3aKOHHBII, HEPABOMEPHBII

Estimate — o1leHUBaTh, OJICUUTHIBATH, COCTABISITh CMETY

Vintage — naTa npou3BOJICTBA WJIA BBIMYCKA,

[1l-gotten money — 1OOBITHIE HE YECTHBIM MyTEM JACHBIU

Cashless transaction — 6e3/1eHeKHBIC OTIepaIus, CIelKa, COTJIalleHue
Megabyte money — 3JIEKTPOHHbBIE JIEHbI'U

Settlement — yperyinupoBaHue, pacyerT, yijaTta

Loan — 3aeM, ccyna, KpeauT

Complicity — coyyactue, COTpYIHUYECTBO

Enforcement — npuHyxeHue, 1aBlieHUE, B3bICKAHUE

Spot transaction — HaJTM4YHAas CAEKA, CJEIKA 32 HATMYHBIA pacyeT
Exposure — He3alUIIIEHHOCTh, OTKPBITOCTb, pa3o0iiaueHue, MHHOPMUPOBAHUE
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Offshore — ocyiecTBUMBIiA B IpyTUX CTpaHax

Lax financial regulation — c1a0biif pUHAHCOBBIN PErIAMEHT
Supervision — HaOJIOICHUE, KOHTPOJIb, TPOBEPKA, YIIPABICHHUE
Secrecy — TaitHa, 3arajaka, CEKpeT

Disguise — MacKkupoBKa, MpUTBOPCTBO, JIOK, 0OMaH

Beneficiary — 6eneduruapuii (Jiuio, mojaydaroIiee BoIroay OT
CYIIIECTBOBAHUS TPaACTa)

Tax avoidance — n30exaHue HaJ0roB

Nil tax rates — HyJeBas HaJIOrOBasl CTaBKa, HyJ€Bas CTaBKa HAJOTOBOI'O
00710KEeHUS

Legitimate — 3aKOHHBI, TETUTUMHBIN

Infiltration — MPOHMKHOBEHKE B ThUI IPOTHUBHUKA, IPOCAYNBAHUE

Illicit — HEe3aKOHHBIM, 3aMPEIIEHHbBIN

Nefarious — HeUeCTHEBIN, TOIJIBIN

To ease — obJyieryaTh, yMEHbIIIATh

Due — nomxHbIN, HaJJIe)KaMi, COOTBETCTBYOIIUN

Diligence — HamoxeHre apecTa Ha UMYIIECTBO C IIeJIbI0 00eCIieueHre 0ra
Bulk cash — 6osibI1ast 4acTh HaIUYHBIX, OOJIBIIIASI CyMMa HaJTUYHBIX

2. Find a word in the text to complete these phrases.
Haiiqure cj10Ba B TEKCTE U AOMOJHUTE 3TH BHIPAKCHUS.
3HaliiTh €JI0BAa y TEKCTi Ta IONMOBHITH 1[i BUPa3N.

I) m........... laundering

2) seizure W..............

3) fol. version

2 estimate

) RS PO S money
6) €viiiiiiiinnnnn. trading

7) riske..oooooiiiiiiiiiiiin....

8) f havens

9) Coveriiiiiiii confidentiality
10) Covvvvvve transfers

11) Ovevneeei, financial centres

3. Discuss these questions.
OO0cyaurte Takue BONPOCHI.
OOMipKyiiTe HACTYIIHI NMTAHHS.
a. Have you ever bought anything trough the internet? If so, what did you buy?
b. How did you pay for the goods you bought? Did you receive them safely?
c. What guarantee did you have that you would get what you paid for? Find a
word in the text to complete these phrases.
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4. Complete the following sentences with the phrases from the text.

JlonosiHUTE TaHHbIE NPeAI0KeHUus ppa3zaMu U3 TEKCTA.

JIonoBHITH JaHi peyeHHs (ppa3amMu 3 TEKCTY.

1) The suspects were lured to ............coovviiiiiiinnnn. on money laundering.

2) Itsaysthat .......covvvviiiiiiiiiinn... 1s laundered every year, but with the
illegal international drug trade valued at $500bn, this is probably a conservative
estimate.

3) The report has been prepared by a group of experts for a special session of

the oo :

AThe coveeii have on their side is that criminals have
to play by the rules of the system in order to use it.

D) e their risk by operating through offshore

financial havens with lax financial regulation and poor banking supervision.

6) Many accounts and trusts are known as ‘walking’ ones, where there is a
standing ..........oooviiiiiiinn. the accounts to another jurisdiction at the first sign of
inquiry by the authorities.

7) Exporting bulk cash, usually in $100 bills and sometimes carried under

diplomatic cover,isthe ...............oovviiiii .. to banks where no questions
will be asked.
8) Operation .........ccevvvviiieeenninnnnnnn. , will probably make the year a good

one, but hardly vintage.

5. Complete the dialogue with the phrases in the box.
JonmoanuTe quajor ¢ppazamu U3 paMKH.
JonoBHITH Aiagor ¢gpazamMu 3 paMKH.

a) What does IABS stand for?

b) We have over sixty employees.

¢) What’s your annual turnover?

d) We have about forty factory workers and technical people
e) The original company

f) our workforce has grown a lot

g) was founded in 1960

h) the rest are admin and sales staff

A: How many people does your company employ?

B
PO PPUURRROPRE 3 1¢ |
............................................................ . We started off with only ten
PEOPIE SO v

A

B: It was just over two million euros last year.
A: How long has the company been in business?
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B: For over forty years............ccooeiiiieiieiine.n. - Davies Engineering —
................................................. by the Davies brothers in a small workshop
in 1980 and opened up a new factory in Leeds.

A: When did it become IABS?

B: In 1997 — when it was bought by a German company. They set up two more
businesses in the UK.

A

B: International Air Banking Systems.

6. Complete the sentences using a word from the box below.
IlocTaBbTE CJIOBA B MpeIJI0KEHUS.
BceraBre cJjioBa y peyeHHs.

apprentice components flexi-time
workforce shift turnover operations
plant people overtime
I. Our ...l this year will be about $500 000.
2. 'mdoing .........ccceeennn... this week so I’ll earn more money.
3. Mysonisan ......occeevenivennnnnnn.. at a local furniture factory.
4. She works .......ccooviiiiiiiiinL, so she can start work any time between 8
a.m. and 9 a.m.
5. Ourcompany has ..............occeeiiiiinne.. in more than twenty countries.
6. What ... are you on this week?
7. OUT oo has been cut because we don’t have enough
orders.
8. They manufacture electronic ...................ooovnne. do all our repairs.
9. DAK 1s Opening a NewW Car ...........ceevueeennuennn. in the UK next year.

7. Translate from Russian into English.
IlepeBeauTe ¢ pycCKOro Ha AHTJIMUCKUN A3BIK.
Ilepexnanith 3 pociiicbK0Oi MOBH aHIIIICHKOIO.

1. On nocrtaBun 50 nou1apoB Ha CKayKax W MPOUTrpall, OH 3HAN, YTO PUCKOBAJ
MOTEPSITH BCE.

2. AyIuTOpCKHUI PUCK — 3TO BEPOATHOCTH TOTO, YTO ayJAUTOP MPU COCTABICHUU
3aKIIOYEHUST HE CMOXKET aJEeKBATHO OLEHUTh CYLIECTBYIOIIME OTKJIOHEHUS B
(bUHAHCOBOW OTYETHOCTH.

3. Bxuaguuku MOTyT MOTpeOOBATH JILIOTHBIE YCIOBUS HAIOTO00JI0XKEHUS, €CIH
CMOTYT J10Ka3aTh, YTO CYIIECTBYET PUCK MOTEPHU JOXO0/1a UM UX BKJIAJ0B.

4. 5l e MOry NOATBEPAUTH MOMAJIMHHOCTH MOHET.

5. TlnarexHbll JOKYMEHT — 3TO KpPAaTKOCPOYHOE JIOJTOBOE 0053aTeNbCTBO,
BbIJIaBAEMOE T'OCYJIAPCTBEHHBIM YUPEXKJEHUEM, JaeT CBOEMY JEp KaTelr0 MpaBO Ha
MOJIyYeHHE ONPEEICHHON CyMMBbI M OOBIYHO MOJIpa3yMeBAET BBIIIATY MPOLIEHTHOIO
0X0/4a.

6. MBbI Bcerga MOKEM IOJIOKUTHCS Ha HAIll IEPCOHA.
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7. BuesamHas motepsi A0BepHs K KOHKPETHOMY (DMHAHCOBOMY YUYPEKICHHUIO
Wi (UHAHCOBBIM pPBIHKaM B 1I€JIOM, XapaKTepU3yeTcs pEe3KHUM MaJeHUEeM IIeH,
U3BATHEM JICTIO3UTOB, OAHKPOTCTBAMU.

8. baHKOBCKHME MaHWKHU 3aCTaBIsUIM MPaBUTEILCTBA MHOTHUX CTpaH CO3/1aBaTh
JNECHEKHO-KPEIUTHBIE  YUPEKJCHUS, KOTOPble  PEryJIupoBaid  OAHKOBCKYIO
NEeSTEIBHOCTh U, B YACTHOCTH, CTAHOBUJIUCH KPEAUTOPAMU MOCIIETHEN HHCTAHIIUH.

8. Test
Tecr.
Tecr
1. Change the underlined parts into the necessary Participles.
N3MeHnTE MOAYEPKHYTHIE CJIOBA HA HE00OX0AUMOE MPUYACTHE.
3MIHITH MiAKpec/eHi cJ10Ba HA HeOOXiTHNI NMPUCJIiBHUK.
1. A person who has such a capital is wellknown.
a) A person had such a capital is wellknown.
b) A person hasing such a capital is well-known.
¢) A person having such a capital is well-known.
2. The woman who stands near the window is our neighbour.
a) The woman standing near the window is our neighbour.
b) The woman stood near the window is our neighbour.
c) The woman being standing near the window is our neighbour.
3. Our teachers read the lectures on the subject that are included to the time-
table.
a) Our teachers read the lectures on the subject having been included to the time-
table.
b) Our teachers read the lectures on the subject included to the time-table.
¢) Our teachers read the lectures on the subject including to the time-table.
4. The flower that was grown by us turned to be banana.
a) The flower grown by us turned to be banana.
b) The flower growing by us turned to be banana.
c¢) The flower been grown by us turned to be banana.
5. Cybernetics is gaining an importance being growing.
a) Cybernetics is gaining grown importance.
b) Cybernetics is gaining an importance that is growing.
c) Cybernetics is gaining growing importance.
6. The students listen to the lesson that is taped.
a) The students listen to the taped lesson.
b) The students listen to the lesson taping.
c¢) The students listen to the being taped lesson.

7. The instruments that were used must make precise measurements.
a) The instruments been used must make precise measurements.

b) The used instruments must make precise measurements.

¢) The instruments that used must make precise measurements.

17



8. While he was experimenting with this substance he was very careful.
a) While being experimenting with this substance he was very careful
b) While he experimenting with this substance he was very careful

¢) While experimenting with this substance he was very careful

2. Translate into English using Participles.
IlepeBeauTe HA AHTIMIICKUH A3BIK, HCIIOJIb3YS IPUYACTHS.
IlepexnaniTh aHIJIiiCbKOI MOBOK, BUKOPUCTOBYIOYH NPHCJIiBHUK.
1. OH cMoTpern Ha MEHs ybIOasICh.
a) He was looking at me smiling.
b) He was looking at me being smiling.
c) He was looking at me having smiled.
2. OHa noHs1a, 4TO €€ 0OMaHYyIIH.
a) She understood being deceived.
b) She understood was being deceived.
¢) She understood having been deceived.
3. Mou poauTeNH CAbIIIAIN KaK CCOPSITCS COCE/H.
a) My parents heard their neighbours being quarreling.
b) My parents heard their neighbours quarreling.
¢) My parents heard their neighbours being quarreled.
4. V3-3a TOro 4tro OHa yXe ObLIa B 3TOM Tropojie, €€ AUPEKTOp OT MpaBUJ €€ B
Ipyrou
a) As she already being to this city her director sent her to the other one.
b) As she hading been this city her director sent her to the other one.
c) She having already been to this city her director sent her to the other one.
5. Bel oTnpaBmid TOKyMEHTBI, TTOAMMCAHHBIC TUPEKTOPOM ?
a) Have you sent the documents signed by the director?
b) Have you sent the documents being signed by the director?
c) Have you sent the documents signing by the director?
6. Kynus HOBOE MJ1aThe, OHA pelIniia MoKa3aTh €ro CBOiil mojpyre.
a) Bought a new dress she decided to show it to her friend.
b) Having bought a new dress she decided to show it to her friend.
¢) Buying a new dress she decided to show it to her friend.
7. MBI Bcera 1eaeM peMOHT, Tak KakK y HAC OTITYCK.
a) We always do a repair in summer, having vacation.
b) We always do a repair in summer, as we having vacation.
c) We always do a repair in summer, we had vacation.
8. 4 ciblinana, 4To OH Iepeexan B APYyro ropo/.
a) I heard he left to another city.
b) I heard him leaving to the other city.
c¢) I heard him having left to the other city.
9. [locne Toro, Kak MOroja U3MEHUJIACh Mbl CMOTJIU BbIEXaTh.
a) After the weather changing, we could start.
b) The weather having changed, we could start .
c) After the weather having changed, we could start.
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3. Translate into English using modal verbs.
IlepeBeauTe HA AHITIMICKUH A3BIK, HCIOJb3YS MOJAAJbHBIE CJI0BA.
Ilepeknagitb aHIIINCBKOI0 MOBOI, BHKOPHUCTOBYIOYHM  MOJAJIbHI

aiecaoBa.

1.( Heyxxenu) he be still at home? He (mosmken Ob1 puiiTh) at 5. He (imoBipHO,
3a0yB) my address.

a) Can he be still at home? He was to come at 5. He must have forgotten my
address.

b) Could he be still at home? He must come at 5. He may have forgotten my
address.

c) Could he be still at home? He must come at 5. He may forget my address.

2. Heyxenu on paboTaet ¢ camoro yrpa?

a) Can he work since the very morning?

b) Could he be working since the very morning?

¢) Can he have been working since the very morning?

3. He MoxkeT ObITh, UTO OHA BBIIIUIA 32 HETO 3aMYX !

a) She must not have married him!

b) She can not have married him!

¢) Can not she married him!

4. Bo3M0kHO, KaKasi-To CpouHasi paboTa 3a/iepaaia ero 1 OH He CMOT IPUUTH

a) Some urgent work must have delayed him and he can not came.

b) Some urgent work may have delayed him and he may not come.

c) Some urgent work may have delayed him and he could not come.

5. BpayHbl BeposATHO OBLIIM BUEpa B 300MaPKE.

a) The Browns must have been to the zoo yesterday.

b) The Browns may be to the zoo yesterday.

c) The Browns could have been to the zoo yesterday.

6. DH/ApIO HE HY)KHO OBLIO BCTpedaTbesi ¢ MaiikoM 3a JIaHYEM B TOT JI€Hb.

a) Andrew did not need to meet with Mike at lunch that day.

b) Andrew should not have met with Mike at lunch that day.

¢) Andrew did not have to meet with Mike at lunch that day.
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Variant 111

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

Ukraine’s Banking System

It dates to March 1991 when the Ukrainian Parliament passed the law on Bank
and Banking Activities, determining this system as two-level, composed of the
National Bank and commercial banks.

The National Bank is Ukraine's central financial body conducting a uniform
national monetary, credit and currency policy, aiming to strengthen the national
currency, organizing interbank settlements, and coordinating and supervising
the whole banking system.

Commercial banks varying in type and ownership are set up by legal entities
and private persons as joint stock companies. At present, there are 230
commercial banks in Ukraine. Their main functions include loans to business
entities and private citizens at the expense of assets of enterprises, institutions,
organizations, and file population, cash and payment services, currency, and
other banking transactions.

Prominvestbank, Ukreximbank, Bank "Ukraine", Ukrsotsbank, and
Gradobank are the leading commercial banks.

There is also the Ukrainian Interbank Currency Exchange which functions
efficiently.

To secure the banks' stability, the National Bank of Ukraine resolved to
increase the minimum amount of operating banks to 0.5 million ECU, and that of
their own funds, to 1 million ECU. A minimum authorized stock of 3 million ECU
was set for the registration of newly established banks. That of banks founded
with foreign investments was set at 5 million ECU, provided the foreign share in
the stock is less than 50 percent, and at 10 million ECU if it is more than 50 per
cent.

Ukraine's banking strategy is geared to stimulate commercial banks and
promote their role in solving economic and social problems.

Beginning in 1996, updated economic information will be carried by the
monthly edition International Financial Statistics of the International
Monetary Fund.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anam’sATaiiTe HOBI cJIOBa

Conduct — pykoBOACTBO, yIIpaBJICHUE

Uniform national monetary — nocTOsiHHas HallMOHAJIbHAS BaJIIOTa

Credit — xpenur

Currency policy — BajitoTHas MOJUTUKA

Interbank settlements — Me)x0aHKOBCKHE COTJIAIICHUS, YPETYIUPOBAHUS

Entity — sxoHOMUYECKUI 0O0BEKT

20



Expense — Tpata, pacxojbl, U3AEPKKHU
Stability — ycTOHYHBOCTh, CTAOMIBHOCTD, IPOYHOCTH
To gear — HanpaBAATh HA TOCTUXKEHHUE ONPEACICHHON LENH

2. Find a word in the text to complete these phrases.
Haiiaure cji0Ba B TEKCTE U JTONOJHUTE ITH BbIPAKEHUS.
3HAWIITH CJI0BA y TEKCTI TA IONOBHITH I[i BUPa3H.

) t..... = PR system

2) commercialb..............
3) fo body

4) national m....................
5) no.. currency

6) joints............ Covevnnneeennnnn
7)) Peveeeennnnnnn. services

8) bankingt....................
9) m................. amount
10) foreigns...................
IT) Sevevviviiiiinnnn. problems

3. Match the following descriptions with one of the jobs below. Use a

dictionary to help you if necessary.

Coenunure naHHble onmucaHusi ¢ npodeccusamu. Mcmoab3yiite ciaoBaps,

€CJIM B 3TOM €CTh HEe00X0UMOCTD.

3’ennaiiTe nani onucu 3 npodecisimu. BukopucToByiiTte CI0BHHK, SIKIIO B

bOMY € HEOOXiIHICTh.

together, usually using heat

maintains engines, especially car
engines

of work or goods

¢ Someone who works with wood ® Production planner

e Someone who works in the ¢ Electronic engineer
laboratory e Joiner

® Someone who works with a e Mechanic
machine on a production line e Fitter

e Someone who puts together, e Machine operator
adjusts or installs machinery or e Inspector
equipment e Welder

® Someone who works with e FElectrician
electrical equipment e Lab technician

¢ Someone who joins metal

¢ Someone who repairs and

¢ Someone who checks the quality
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¢ Someone who schedules the order
of production runs

¢ Someone who works with things
like computers, TVs, radios, etc.

4. Complete the following sentences with the phrases from the text.
JlomoiHUTE TaHHBbIE NPEAI0KeHUus ppa3aMu U3 TEKCTA.
JIOmOBHITH 1aHI pe4YeHHSs CJI0BOCIOJYYEeHHAMH 3 TEKCTY.

a. Commercial ... and ownership are set up by legal
entities and private persons as joint stock companies.
D Interbank Currency Exchange

which functions efficiently.

c. Ukraine's banking strategy is geared to stimulate commercial banks and
promote their role in ...

d. Atpresent,there ..............coooiiiiiiiiiiiiii.. in Ukraine.

e. Beginning in 1996, wupdated economic information will be
...................................... International Financial Statistics of the
International Monetary Fund.

f. A minimum authorized ...................l was set for the
registration of newly established banks.

5. Complete the dialogue with the phrases in the box.
JdomoaHuTe 1UagO0r (ppazaMu ¢ paMKH.
JdonoBHiTH Aiajor ¢ppazamu i3 paMKH.

a) I’m an apprentice

b) Who do you report to?

c) I hope the company will take me on as an engineer
d) I'm in charge of about twenty-five assembly workers
e) What does your job involve?

f) T have to make sure our projects run smoothly

A: What do you do?
B: o with a local engineering firm. My training lasts for two
years. Two days a week I study Engineering at a local college. If pass all my

B I’m the Project Manager SO .........ccovviiiiiiiiiiiiiiiiiiieniieanne. . I work
with three Project Engineers. They take care of after-sales service and look after the
maintenance side of the business.

A: I’'m a foreman in our assembly shop.

...........................................................

............................................................ It’s their job to check the quality of

A I report to the Shift Supervisor, and he reports to the Factory Manager.
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6. Add a verb to the preposition to make a two-part verb.
CoeauHuTe 1J1aroJ ¢ NpPeajioroM, 4YTo0bl COCTABUTDH CJI0KHBIN IJ1aroJi.
00’eaHaliTe Ti€CT0BO 3 3afMEHHHUKOM, 1100 CKJIACTH CKJIaJHE Ji€CJI0BO.

| take look close/shut take set/start |

a. The company is planning to ................ up a factory in China next year.

b. We will have to .....ccccce...e. on some more machine operators as we are
behind with orders.

c. Our IT people .........c.......... after the maintenance of our computer systems.

d. They had to ................. down their German factory because costs were too
high.

e. I'm going to ................. off the whole of July this year. I need a good holiday.

f. I would like to become self-employed and ..................... up my own car repair
business.

7. Translate from Russian into English.
IlepeBeauTe ¢ pycCKOro Ha AHTJIMUCKUN A3BIK.
Ilepexnanith 3 pociiicbKOi MOBH aHIIIICHKOIO.
e Kak nonro Bel paboTtaere B 3Toi pupme? — Yike Kak AecsTh JIET, TOUHEE C €€
MOMEHTA OTKPBITHSI.
¢ Ycnemnsle KOMIIAHUM MPOCTO MCIOJIB3YIOT PECYPChl M JEHUCTBYIOT B CBOEU
OTpaCJIH JIy4llle, Y4eM UX KOHKYPEHTBI
® VY Hee ObUIO JOCTATOYHO JEHEr, 4TOObI 00ECNeunTh CBOUX JETEH MOKa OHa
YCTpOUTCS Ha paboTy.
e CymiecTByeT MHOTO (OPM M €CIM HMX CHUCTEMAaTUYeCKH H3ydaTh, TO OHH
PacKpOIOT MHOTO UHTEPECHOTO.
¢ [locTeneHHO OH Mpeoji0eBal MPENATCTBUS, KOTOPbIE BCEr/a BO3HUKAIOT Ha
yTH HAYMHAIOIIETO KyPHAJIUCTA.
¢ HeGoublioe HenopazyMeHUE IMOJIOKHIO KOHEl[ €€ Kapbepe M Temnepb OHa
6e3paboTHasl.
¢ [lonp30BaHue 31aHneM 0€3 HAIMYUS aKTa O IMPUEMKE 3[JaHUs B IKCIUTyaTalHI0
CUMTAETCS] HE3AKOHHBIM.
® YpaBisTh NPABUTEIBCTBOM — 1IEJ10€ JEJO!

8. Test
Tecr.
Tect
1. Change the underlined parts into the necessary Participles.
N3meHuTe NOTYEPKHYTHIE CJIOBA HA HEOOX0AMMOE MPUYACTHE.
IlominsiiTe migKpecaeHi cJI0Ba HA HEOOXiTHUH TIENPUKMETHHUK.
1. The scientist who is working at the method is well-known.
a) The scientist who working at the method is well-known.
b) The scientist worked at the method is well-known.
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c) The scientist working at the method is well-known.

2. When he carried out the experiment he made use of some new instruments.
a) Having carried out the experiment he made use of some new instruments.
b) Carriyng out the experiment he made use of some new instruments.

c) Carried out the experiment he made use of some new instruments.

3. The technology that was developed enables us to improve the quality of

articles that were introduced.

a) The technology developing enables us to improve the quality of articles

introduced.

b) The developed technology enables us to improve the quality of introduced

articles.

c) The technology that developed enables us to improve the quality of articles

that introduced
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4. The device that was used in our work is up-to-date.

a) The device using in our work is up-to-date.

b) The device used in our work is up-to-date.

c) The device been used in our work is up-to-date.

5. When he was translating the article he used a dictionary.

a) When translating the article he used a dictionary.

b) When he been translating the article he used a dictionary.

c) Having translating the article he used a dictionary.

6. The building that is elevated by workers will be one of the highest.

a) The building elevating by workers will be one of the highest.

b) The building that elevated by workers will be one of the highest.

c) The building elevated by workers will be one of the highest.

7. The worker that is repairing the car is very skilled.

a) The worker repaired the car is very skilled.

b) The worker repairing the car is very skilled.

c) The worker being repaired the car is very skilled.

8. The experiments that are carried out by the scientist are of great importance.
a) The experiments carried out by the scientist are of great importance.

b) The experiments having carried out by the scientist are of great importance.
c) The experiments carrying out by the scientist are of great importance.

2. Translate into English using Participles.
IlepeBenuTe HA AaHIVIMICKUN A3BIK, HCIIOJIb3YS IPUYACTHS.
IlepexnaaiTh aHIJIICbKO MOBOK, BUKOPUCTOBYOYH Ji€NPUKMETHHUK.
1. Ilomapennas kHUra €My O4€Hb IIOHPABUIIACH.
a) He liked the presented book.
b) He liked the book being presented.
c) He liked the presenting book.
2. Tak kak rnorojia Oblja OTBPATUTEIBHOM, MBI PEILIMIN OCTAThCA OMa.
a) As the weather having been nasty, we decided to stay at home.
b) As the weather being nasty, we decided to stay at home.
c) The weather being nasty, we decided to stay at home.



3.Korna ero cnpocuiiv 0 poJAUTEIISIX, OH OTBETUJI, UTO OHU KUBYT B MOCKBe.
a) When he been asked about his parents he answered they lived in Moscow.
b) He having been asked about his parents, he answered they lived in Moscow.
¢) When asked about his parents he answered they lived in Moscow.

4. bpaT HUKOT]Ia HE CJIbIIIal, KaK MOET €ro cecTpa.

a) The brother never heard how his sister singing.

b) The brother never heard his sister sung.

c) The brother never heard his sister singing.

5. HakpebiBast Ha CTOJI, OHA CJIyIlIajia MY3bIKY.

a) Laying the table she was listening to music.

b) Lain the table she was listening to music.

c) Having laid the table she was listening to music.

6. [lourpas B maxmaTbl, OHU MMOULIN JOMOM.

a) Having played chess they went home.

b) Having playing chess they went home.

c) Played chess they went home.

7. Korpa-To yTepsiHHbIC BEIIM ObLITM HAWEHBI HA YepJlaKe.

a) Whenever loosing things were found on the attic.

b) Whenever lost things were found on the attic.

¢) Whenever being loosing things were found on the attic.

8. Ilocne Toro, Kak OH Hamucaj MUCbMO, OH YIIEN Ha paldoTy.

a) After having written the letter he went to work.

b) After written the letter he went to work.

c) After writing the letter he went to work.

9. 4l He 3HaNA, YTO JOKYMEHTHI €€ HE OTIPABJICHBI.

a) I did not know the documents not having been sent.

b) I did not know the documents not having sent.

¢) I did not know the documents not sent.

3. Translate into English using modal verbs.
IlepeBeauTe HA AHIVIMICKUH A3bIK, HCIOJb3YS MOJAAJbHBIE CJI0BA.
Ilepekaagitb aHIIINCLKOI0O MOBOI, BHKOPHUCTOBYIOYHM  MOJAJIbHI

aiecJioBa.

1. You (Bo3moxHO, npunercs) work at weekends.

a) You must have to work at weekends.

b) You may have to work at weekends.

¢) You may must work at weekends.

2. Heyenu TBOUM POAUTEISIM HE TTIOHPABIIIACH 9T MUJIAs ACBYIIKA?

a) Can your parents have failed to like this nice girl?

b) Could your parents did not like this nice girl?

c¢) Can your parents have failed to like this nice girl?

3._He MoxeT ObITh, 4TO OHa BCe elie BeTpeuaercs ¢ Jxumom.
a) It may not be she is still going out with Jim.

b) Is she still to be going out with Jim.

c¢) She can not be still going out with Jim.
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4. 1oKHO OBITh, OH cIeNan MHOTO goTorpaduii, koraa OblT HAa MOpE.

a) He must have made many photos when he was at the seaside.

b) He might have made many photos when he was at the seaside.

¢) He must be made many photos when he was at the seaside

5. 5 yxkacHO ce0si 4yBCTBYIO, HE CTOMJIO MHE BYE€pa TakK J0JI'0 OPOJIUTH C TOOOM

I10 yJIunam.
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a) I am feeling bad, I did not have to wander round the streets so long.
b) I am feeling bad, I shouldn’t have been wandering round the streets so long.
c) I am feeling bad, I needed not be wandering round the streets so long.



Variant IV

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

The Role of the European Bank for Reconstruction and Development
(EBRD) in Ukraine's Transition

The European Bank for Reconstruction and Development (EBRD) has
already become the leading investor in the private sector in Eastern Europe and in
the countries of CIS. Set up with the specific aim of assisting the transition
towards a market economy, the Bank works with various partners. For
example, the Bank works with foreign investors and local entrepreneurs, with
the financial sector, and works to remove infrastructure bottlenecks which
hamper private sector development. It is succeeding in its endeavours.

The project we finance include financial institutions, telecommunications,
energy-saving, power generation, transport construction, manufacturing and
agriculture. Taking into account the participation of other investors, the overall
total benefit to the countries in which we operate is ECU 13.7 billion.

The EBRD has been participating in Ukraine’s development since December
1991 and it opened its office in Kiev in May 1993. With its key mandate of helping to
foster the transition to an open market-oriented economy, the Bank has been keen to
assist Ukraine in its initial steps towards independence, nationhood and the market
system. But the Bank cannot work alone. It relies on the government to create the
framework within which a market economy will prosper. As the Bank’s President
Jacques de Larosiere highlighted at the 1994 Annual Meeting in St Petersburg,
‘Structural reform requires a stable macro-economic framework and the control of
inflation........... The success of economic reforms [also] presupposes sustained
effort and a coherent approach to implementation’; this has unfortunately not been
the case in Ukraine until now. Things may be about to change. Since the recent
election of President Kuchma, it appears that the tide is turning towards reform. The
recent agreement with the IMF is testimony to this. With this new commitment to
reform, the Bank in all its activities seeks to encourage the transition process.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anam’siTaiiTe HOBIi ci10Ba

Assisting - moMoraTh, COJIEHCTBOBATh, CITIOCOOCTBOBATH, OKAa3bIBAThH ITOMOIITh
Local entrepreneur — MECTHBII, TOCY1TapCTBEHHBIN NIPEAPUHUMATEID
Infrastructure bottlenecks — cy>xenue HHPPaCTPYKTypbI

To hamper — npensITCTBOBaTh, 3aTPYIHATH

Endeavour — noneITKa, cTapaHue, yCuine

Take into account — B3ITh BO BHUMaHHE

Overall — o0muii, npeaenbHbINA, aOCOTIOTHBIN
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Key mandate — kimroueBoit ManaaT (mopydeHue 6aHKy OpraHU30BaTh
CUHIUIIMPOBAHHBIN 3a€M)

To foster — noOyx1aTh, CTUMYJIUPOBATh, OJOOPSATH

Market-oriented economy — 5KOHOMUKA OPUEHTHUPOBAHHASI HA PHIHOK
Nationhood — craryc rocyaapcrsa

Framework — ctpykTypa, cucrema, paMmKu, yCIIOBUS

Prosper — mpoluiBeTartb, rpeycrneBaTh

Presuppose — nonarate, npeanoJyarath

Sustain effort — moaKpenIsIrONIUe yCUIus

Coherent approach — corinacoBaHHbBIN MOJIXO/T

Implementation — BbIIIOJIHEHNE, OCYLIECTBIEHUE, BBEJCHUE B JICHCTBUE
Tide — noToK, TeUeHUE, pa3BUTHUE, TPOIOTKEHUE

2. Find a word in the text to complete these phrases.
Haijinure ¢cJ1I0BO B TE€KCTE, YTOOBI 3aBePIIUTH (Ppa3bl.
3HAWIITH CJI0BO Y TEKCTI, 1100 3aBepumiuTH Qpasu.

I 1.......... investor

2. private S.........eeennnn..
KT 1 | P economy
4. foreigni................
S. f sector

6. power g................
7 SR into account
8. totalb.............

9. m......... S economy
10.markets.............

| B of inflation

12.economicr............

3. Complete the dialogue with the phrases in the box.
JdomosHuTe 1UANOT (ppa3aMu ¢ paMKH.
JlonoBHITH Aiajor ¢ppazamu i3 pamMKHu.

a) Park in the visitor’s car park in front of the factory

b) The goods are being wrapped and loaded onto pallets

¢) We used to be on an industrial estate on the outskirts of York
d) How long does that usually take?

e) We needed larger premises

f) They’re setting up the machine for a new run

g) We moved to this greenfield site last year

h) What’s going on over there?

1) This is the main factory area

J) I’d like to show you the layout of the factory

k) The main production area — our machine hall — is situated next to it
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A: I’'m phoning about the factory visit next Friday. What should I do when I
arrive?

B and then go to the gatehouse. It’s
directly opposite the entrance to the car park. The Security people will sign you in
and give you a visitor’s badge. My assistant will come down to meet you.

A: OK, thanks. Look forward to seeing you on Friday, then.

B: Have you always been on this site?

AT N O, oot

B: Why did you move?

A SO ettt
It’s nearer the motorway so it’s better for transportation.

B OK, SO ot We’re now walking

past the printing machine. It’s printing in four colour at the moment.

B About twenty minutes.

A: What’s happening at the far end?

B: That’s the packing line.
................................................................... ready for transportation.

A: Good morning, everybody. Welcome to IAM Technology. I’'m very pleased
so many of you could make it here today. My name’s Sam Weiss. I’m the Production
Manager. ..o.vviiii e e before we go and visit it. As you
can see from this diagram, everything is under one roof. We’ve designed it this way
to help the flow of materials and to avoid bottlenecks.

B: This area here 1is where we keep our raw materials.
................................................................................. Maintenance 1is
situated between the stores and the production area. Just to the right of Maintenance,
there are steps up to the Lab and the Admin Section. Process control is also on the
upper level. It’s located above the factory floor so that the operators can monitor
everything that is going on below.

A OK, SO oo . We’re now walking
past the printing machine. It’s printing in four colours at the moment.

B ?

A

B ?

A: About twenty minutes.

B: What’s happening at the far end?

A: That’s the packing line. ... ready
for transportation.
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4. Match the questions and answers.
CoenuHuTte BONPOCHI U OTBETHI.
O0’canajiTe NUTAHHA TAa BiANOBIiai.

1. How long does it usually take? a. Two tanks and a cooling system.
2. What’s the maximum output? b. No, we moved here last year.
3. What does it consist of? c. No, only partially.
4. What’s the running speed? d. About twenty minutes.
5. Have you always been on this site? e. 1 500 metres per minute.
6. Is the factory fully-automated? f. About 50 000 tonnes per annum.
5. Complete the sentences with a preposition.
3anoaHNTE NPeAJI0KEeHNs NMPeII0raMH.
3anoBHITH peYeHHS NPUIIMEHHUKAMM.
at onto to of into to at through to in |
a. We’re located ............... an industrial zone.
b. What’s goingon ................... The far end of the production line?
c. The goods are loaded ................. pallets.
d. I'look forward ............... seeing you next week.
e. What does it consist .................. ?
f. Ttiscut............... smaller lengths.
g. Wemoved .................. this site last year.
h. We’re running ................ half capacity at the moment.

[

o

The fabric then passes
Welcome

This stage the metal is painted.
a series of rollers.
HLB Engineering.

6. Find out the English and American synonymic word combinations.

IlonOepure K  AHIVIMHACKMM —  aMEPUMKAHCKHE CHHOHMMHUYHbIE
CJIOBOCOYETAHMS.
Hinoepitb hi (1) AHIJIIHCLKHUX - aMepUKAHChKI CHHOHIMIYHI
CJIOBOCIIOJTYYEHHS.
English American
1. car park a. color
2. the gatehouse b. parking lot
3. be on an industrial estate | c. the supplies
4. this Greenfield site d. the security building/ the warehouse
5. abrownfield site e. freeway/expressway
6. motorway f.  bein an industrial park
7. the stores g. this undeveloped site
8. colour h. aredeveloped site
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7. Translate from Russian into English.
IlepeBeauTe ¢ pycCKOro Ha AHTJIMUCKUN A3BIK.
Ilepekaaaits 3 pociiicbKOI MOBHM aHIJIIICHKOIO.

¢ Ero umyiiectBo oneHuBaIoch B 150 ThICSY 10J11apOB.

® MBI MOKEM MOCTaBUTh TOBAPhl U3 HAILIETO LIEHTPAIBHOTO Mara3uHa.

® DKOHOMUYECKUHI KpU3UC - 3TO AKOHOMMYECKas CUTyauus,
XapaKTepU3YyIONIAsCs COueTaHeM UHQIISALMU U SKOHOMUYECKOTO CIaja.

® OHU MPUCOEIUHUIUCH K HAIIMOHATILHOMY KOMUTETY.

e Ounnan — 3T0 000COOJEHHOE CTPYKTYpPHOE TMOApAa3AeIeHUe OpraHu3alluu,
uMerolee Apyroi (pu3MvecKkuii apec U OCYIIECTBISIONIee OT UMEHH OpraHHU3aliu
BCE WJIM 4acTh €€ (QyHKUUH.

¢ [[paBUTENHCTBO MOAACT 3aKOHHOE TPEOOBAHWE KOMMEPUYECKOMY TEPEBO3UHKY
Ha BO3MeEIEHHE YOBITKOB IO CIPABEAJIMBON PHIHOYHOW CTOMMOCTH.

® MOXXHO C YJIOBOJIbCTBUEM OTMETUTH, KaK XOPOLIO YKOMIUIEKTOBaH IITAT
COTPYJHHKOB OaHKa.

e Ckopee, OHU COCTaBJISIOT OYEHb MPOCTOW BapUAHT 3aBEIIAHUS WJIH HE
COCTaBJISIFOT BOOOIIE HUKAKOTO 3aBEIIaHNs, B 000MX 3TUX CIy4asX UMYILIECTBO OyaeT
Pa3nENeHO CPEeIn IETEN B PABHBIX JOJIAX.

8. Test
Tecr.
Tect

1. Change the underlined parts into the necessary Participles.
HN3meHnuTe noxyepKHyThIE CJI0BA HA HE00X0AMMOE MPUYACTHE.
3MIHITH MiAKpec/eHi cJ10Ba HA HeOOXiTHNI NMPUCJIiBHUK.

1. The method introduced received general recognition.

a) The method introducing received general recognition.

b) The method be introduced received general recognition.

c¢) The introduced method received general recognition.

2. When they were developing the new method they achieved good results.

a) When developing the new method they achieved good results.

b) When they developing the new method they achieved good results.

¢) When developed the new method they achieved good results.

3. When they had improved this device they could use it for many purposes.

a) When they improved this device they could use it for many purposes.

b) Having improved this device they could use it for many purposes.

¢) When improved this device they could use it for many purposes.

4. The article that was published last year is very interesting.

a) The article being published last year is very interesting.

b) The article published last year is very interesting.

c) The article publishing last year is very interesting.

5. Transistors have no parts that are moving.

a) Transistors have no parts that moved.

b) Transistors have no parts that moving

c¢) Transistors have no moving parts .
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6._When these scientists were working in our laboratory they obtained good
results.

a) When working in our laboratory these scientists obtained good results

b) When these scientists being working in our laboratory they obtained good
results

¢) Having working in our laboratory they obtained good results.

7. The motor that was checked showed good performance.

a) The motor checking showed good performance.

b) The checked motor showed good performance.

c¢) The motor being checked showed good performance.

8. The metal that was discovered many years ago found wide application in
industry.

a) The metal that being discovered many years ago found wide application in
industry.

b) The metal discovering many years ago found wide application in industry.

¢) The metal discovered many years ago found wide application in industry.

2. Translate into English using Participles.
IepeBeauTe HA AHTTIMIICKUH A3BIK, HCIIOJIb3YS IPUYACTHS.
IlepexkaagiTh aHIJIIHCHKO MOBOIO, BUKOPUCTOBYIOYHM JTi€MNPUKMETHHK.
1. MyxunHa, UTparOINN B IIaXMaThbl, MOU COCEL.
a) The man playing chess is my neighbour.
b) The man played chess is my neighbour.
c) The man being playing chess is my neighbour.
2. Ilourpas B 1IaxMaTkl, OH IO3BOHUJI O CBOEH KEHE.
a) Playing chess he rang his wife.
b) Having played chess he rang his wife.
c¢) Played chess he rang his wife.
3. CtpouTtenu pecTaBpupyroT 31aHUE, IOCTPOCHHOE B MPOIILJIOM BEKE.
a) The builders are restoring the building built last century.
b) The builders are restoring the building having built last century.
c¢) The builders are restoring the building builded last century.
4. TIpocMOTpEB HECKOJIBKO KYPHAJIOB, OHA PEIINIIa KYIIUTh JIBA U3 HUX.
a) Seeing some magazines she decided to buy two of them.
b) Looking through some magazines she decided to buy two of them.
c¢) Having looked through some magazines she decided to buy two of them.
5. OHna xoTena, 4To ObI €€ OTBE3INA JOMOM.
a) She wanted being taken home.
b) She wanted taking home.
¢) She wanted take her home.
6. A BBl UyBCTBYETE, KAK MEHSETCS OTro1a?
a) And do you feel how the weather changed?
b) And do you feel the weather changing?
¢) And do you feel the weather having changed?
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7. Tak Kak Mbl BCE MOHSUIH, YIYUTEIh HE TOBTOPSII MPABUIIA ABAXKIBI.
a) We having understood everything, the teacher did not repeat the rules twice.
b) As we having understood everything, the teacher did not repeat the rules

twice.

¢) We understood everything, the teacher did not repeat the rules twice.
8. OHa He 3aMeTusIa IPUHECEHHYIO BUepa TEIEHPOrpaMmy .

a) She did not notice the TV programme having brought yesterday.

b) She did not notice the TV programme bringing yesterday.

c¢) She did not notice the TV programme brought yesterday.

9. HakpbIB Ha CcTOJI, OHA TIO3BOHIIIA EMY.

a) Laid the table, she called him.

b) Having laid the table, she called him.

c) Laying the table, she called him.

3. Translate into English using modal verbs.
IlepeBeauTe HA AHITIMICKUH A3bIK, HCIOJb3YS MOJAAJbHBIE CJI0BA.
Ilepekaagitb aHIIINCBKOI0 MOBOI, BHKOPHUCTOBYIOYHM  MOJAJIbHI

aieciaoBa.

her.

1. She still didn’t agree to give evidence. Someone (MOXET ObITh, YyTPOXKAET)

a) She still didn’t agree to give evidence. Someone can threaten her

b) She still didn’t agree to give evidence. Someone must threaten her.
c) She still didn’t agree to give evidence. Someone might threaten her.
2. Heyxenu on Bce emie pabotaer?

a) Can he still be working?

b) Could he still work

¢) Can not he still be working?

3._.He mMoxet ObITh, 4TOOHI 5 YK€ TJIe-TO Bac BUACN(A).

a) It can not be I saw you somewhere.

b) I can not have seen you somewhere.

c¢) I could not saw you somewhere.

4. Hurae He MOTy HalTH CBOIO CYMKY. — MOeT ObITh, Thl OCTaBWJI €€ B Mara-

3HUHC.

a) I can not find my bag anywhere. — You must left it in the store.

b) I can not find my bag anywhere. — You might have left it in the store.

c¢) I may not find my bag anywhere. — You may be left it in the store.

5. He Hazjo 6b110 i BCcTaBaTh, 3Ta MPOTYJIKa MOXKET OKOHYATENbHO MOAOPBATh

(to undermine) ee 310pOBbE.

a) She needed not to get up. This walking may undermine her health.
b) She did not need to get up. This walking could undermine her health.
¢) She shouldn’t have got up. This walking can undermine her health.
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Module 11
Variant 1

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOU A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

The Bank of England

The Bank of England is the central bank of the United Kingdom. Most
countries have a central bank; for example the Federal Reserve System in the
United Stales: the Deutsche Bundesbank in Germany: the Banque de France: the
Bank of Japan. Each differs a little from the others in the range of its activities,
in the powers and techniques it can use and in the nature of its relationship with
government: but they all serve as banks both to their country's government and
to its banking system. It is through the interaction of these two roles that
central banks come to play their key role in carrying out monetary policies in
their respective countries — that is policies affecting the cost and availability of
money and credit. This makes central banks individually important in their
domestic economies, and collectively extremely influential in world financial
markets In addition, many central banks (including the Bank of England) are
involved in supervising financial markets, banks and other institutions.

Founded in 1694 the Bank of England is one of the oldest central banks. But
its original purposes and functions were very different from its present ones. It
started as a commercial bank with private shareholders, and developed a large
private banking business. It was not until 1946 that it was brought into state
ownership. But for many years before that the Bank had seen itself and behaved
as a public institution carrying out public functions." These functions included,
from the very start, acting as the government's bank and arranging its
borrowings The Bank has also always had the right to issue Bank notes in
England and Wales, and acquired the monopoly after the Bank Charter Act
of1844. The same Act accelerated the Bank's withdrawal from commercial
banking to concentrate on its role as banker to other banks and to government
increasing its influence on monetary conditions. The Bank also took on a degree
of responsibility for maintaining orderly money and capital markets in London,
and watched over the soundness of the banks.

In the modern market economy, these central banking functions play a vital
role. And they are now based on more than tradition and informal relationships
between the Bank and City firms, since the Bank has explicit statutory powers of
supervision.

The Bank's functions are: first, maintaining the value of the nation's
money, mainly through policies and market operations agreed with the
government; second, ensuring the soundness of the financial system, including
direct supervision of banks and participants in some City financial markets; and
third, promoting the efficiency and competitiveness of the financial system,
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notably in the field of domestic and international payment and settlement
systems, so that the City of London can serve industry and commerce at home
and maintain its place as the world's leading international financial centre.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anam’siTaiiTe HOBIi ci10Ba

Interaction — B3auMoOIeliCTBHE

Key role — BaxkHast poJib, KJitou€Basi poiib

Monetary policy — KpeIUTHO-I€HEXKHAsI MOJUTUKA, BAJIIOTHAS MTOJUTUKA

Domestic economy — BHyTpEHHSISI 5KOHOMUKA

Collectively — KOMJIEKTUBHO, BMECTE

Extremely — upe3BbluaiiHO, KpaiiHe, B BBICIIEH CTENEHU, OUYEHb

Influential — BausITENLHBIN, BasKHBIM 00/1a1aI0IHAI BIACTHIO

Supervising — HaOrO1AFOITUH, KOHTPOIUPYIOIIHI

To issue — BbINyCKaTh, U3/1aBaTh, CHA0KaTh, 00ECIIEYNBATDH

Acquired — mpuoOpeTEHHBIM

Monopoly — MmoHoTnONHS

Accelerate — yCKOpsiITh, yBEJIMUMBATh, IyCKATh B X0/

Withdrawal — u3bsiTue, aHHyIMpPOBAHUE, CHITUE, OT3bIB, U3BJICUYECHHUE,

yaajieHue

Watched over — ciiequTh, NpucMaTpuBaTh, OXPaHATh

Soundness — MPOYHOCTH, KPENMOCTh, PABUILHOCTh

Vital role — mupokas posib

Explicit — sCHBI, TOYHBII, ONIPEAEIICHHBII

Statutory power — mpaBo, IpaBOMOYHE MO 3aKOHY

Notably — uckiounTeNIbHO, OCOOEHHO, BECbMA, 3aMETHO, OUEHb

2. Find a word in the text to complete these phrases.
Haiigure ¢cJ1I0BO B TeKCTE, YTOOBI 3aBePIIUTH (Ppa3bl.

3HAWIITH CJI0BO Y TEKCTI, 1100 3aBepmiuTH Qpasu.
Cureeeeeiinnenns bank
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3. Complete the dialogue with the phrases in the box.
JdomoaHuTe 1uasor (ppazaMu ¢ paMKH.
JdonoBHiTH Aiajior ¢ppazamu i3 pamMKHu.

a) Would you like me to show you our new cleaning unit?
b) Bar-code system

¢) What does the unit consist of?

d) Some of the work is still done manually

e) This is our newest machine

f) Is the factory fully-automated?

g) What’s the running speed of the machine?

h) It then passes through a series of rollers.

1) If we’re running at full capacity

J) Most of the water is extracted

k) It’s 160 000 tones per annum

1) The pulp falls from a box onto the first part of the paper machine

A ?7 It’'s a clever
design.

B: Yes, I'd like to see that. What does it clean exactly?

A: It washes the solvent off all the metal parts — the blades, trays etc. — and then
sends it back into the system.

A Well, it’s basically two tanks — one for the dirty solvent and one for the clean
solvent — a pump and a washing unit. Oh, and there’s a cooling system and a filter.
It’s all controlled by a PLC system — that stands for Process Logic Control.

B:OK,SO ciiiiiiiiiiiii It was only installed last year.

A ?

B: About 1 500 metres per minute. It’s one of the fastest in the world. We had a
few problems with it after start-up but it’s running very well now.

A: And what’s the maximum output?

......................................................................................................

..............................................................

A: Could you explain the paper-making process to us — in very simple terms —
please?

B WeEll, oo , which 1s
basically a wire bed with large holes in it, where ...................ooooooiiiin

A: So, is it actually paper at this stage?

B: Yes, 1t 1s. But we need to take out more water. So
................................................... , when more water is squeezed out. After
that it goes through the dryers, which are at a very high temperature. The paper is
then coated. And finally it’s wound onto reels and cut down into smaller lengths.
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B: Not completely. Our production process is partially- automated. We use
robots on the production line for routine assembly jobs  but

A: What about supply of parts to the production line?

B: Well, the parts are automatically selected from the store room using a
................................. And there 1s an automatic feeder which takes them to the
conveyor belt at the start of the production line.

A: What about the smaller components?

B: They’re transported to the workstations on automated vehicles — robot trucks
— which run on guide rails around the factory.

4. Complete the sentences with the words from the box.
JonmoaHuTe 1uajor ¢ppasamu ¢ paMKH.
JonoBHiTH Aiajor ¢ppazamu i3 paMKHu.

premises  capacity layout  gatehouse level
bar-codes estate brownfield  conveyor outskirts

a) The laboratory is situated on the upper .....................ooeeee.

b) Our warehouse is located on the ........................ of the city.

c) If webuildona.......................... site, it will be much cheaper.

d) When you arrive, go to the ..., to get a
visitor’s badge.

e)The ......cooviiiiiiiii, Belt transports goods around the factory.

f) We’re moving tonew ...........oooiiiiiiiiinn... next year.

g The ... on every product allow us to identify them.

h) We’re not running at full ... at present.

1) This diagram shows the ............................ of the factory.

J) We’re located on an industrial ................... by the motorway.

5. Choose a word from the box to make the name of a place where
something is produced or processed. Use a dictionary if necessary.
BbiO0epurte ¢j10BO U3 Ta0JUIbI, YTOObI COCTABUTH HA3BAHUE MECTa, /e
YTO-TO MPOU3BOAUTCH WIH 00padaThIBaETCH.
OO0epiTs cjg0BO 3 Ta0aMUIi, MO0 CKJIACTH HA3BYy Micusi, JAe LIOCh
BUPOOJISIETHCA UM 00POOJIAETHCS.

factory  mine station yard refinery works mill reactor

e as o
w2
=
(=8
g
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6. Complete the text with verbs from the box.
3aBepminTe TEKCT IJIAroJamMu U3 Ta0IuIbL.
3aBepuIiTh TEKCT Ai€CJT0BAMH 3 TAOJIHILI.

get learn offer spend want work nothave notearn |

Ines Garcia is a Spanish graduate in business administration and she
............... to have a career in business management. At present, she ............. for
a large telecommunications company in Madrid. It is a one-year graduate trainee
program and she .............. any guarantee of a job at the end on the year. The
company usually .................. jobs to only a few of the best trainees — Ines hopes to
be one of these. Trainees on the program ................... up to six weeks working in
different departments. This is usually helpful because the trainees ...................
useful work experience. A disadvantage is that trainees .............. very much
money. Ines says ‘It’s a hard life just now, but it’s good experience and I
................ a lot of new things.’

7. Translate from English into Russian.
IlepeBenure ¢ aHIVIMICKUM A3BIK HA PYCCKHUH.
Ilepekiaaith 3 aHIJIiliCBKOI MOBH POCiiiCbKOI0.
¢ [ would like to share with you some exciting news.
® You can share in the project by being part of our support team, by paying for
us or by contributing to our financial support.
* We need to batch together payments covering several invoices in order to
minimize the administrative costs of making payments.
¢ All his possessions were being inventoried for sale.
e Their father left an estate which inventories at $20.880.
¢ He had the duty to make a complete detailed inventory of all property and to
present the written detailed inventory to the court.
® Orders for stocks that can’t be matched are sent to market are

8. Test
Tecr
Tecr
1. Translate into English, using the Infinitive.
IlepeBenure HA AaHIVIMICKUN A3BIK, HCIIOJIb3Ys] HH(PMHUTHUB.
IlepexnanaiTh aHIJIiiCbKOI MOBOK, BHKOPUCTOBYIOUYH iH(IHITHB.
1. C HUM TpyJaHO pa3roBapuBaTh.
a) With him it is difficult to speak.
b) With he is difficult to speak with.
¢) He is difficult to speak with.
2. dymath ObUIO HEKOT/A.
a) To think was no time.
b) There was no time to think.
¢) Think there was no time.
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3. On notpeboBai, YTOOBI eMy MPEAOCTABUIN BOZMOXKHOCTD J0Ka3aTh 3TO.
a) He required to be given an opportunity to prove everything.
b) He required to give him an opportunity to prove everything.
c) He required given an opportunity to prove everything.

4. BbI He MOXKETE 3HATh, KAK MbI JIOJKHBI BECTH CeOsl.

a) You can not know us to behave.

b) You can not know how we must behave.

¢) You may not know how we behave.

5. Kaxercs, B TeUCHHE TOJITOTO BPEMEHU KOMHATY HE YOUPAJIH.
a) It seems the room not to be clean for a long time.

b) It seems they not to have cleaned the room for a long time.

c) The room seems not to have been cleaned for a long time.

6. Ha Hee npusATHO CMOTPETH.

a) She is pleasant to look at.

b) At her it is pleasant to look.

c) To see her is pleasant.

7. UtoOBI ee He HaKa3alli, OHa HUYEro HE paccKasala.

a) Not her to punish she nothing said.

b) Not to be punished she said nothing.

c) To her not punished she did not say nothing.

8. OH J0CTaTOYHO XOPOIIIO 3HAET SA3BIK, YTOOBI HE JIENIaTh TAKUX OIMHUOOK.
a) He knows the language quite well not to make such mistakes.
b) He knows the language quite well not to do such mistakes.

c) He know the language quite well to not to do such mistakes.
9. He 3acTaBnsiiTe ee €CTh TAK MHOTO XJIe0a.

a) Not make her to eat so many bread.

b) Don’t make her eat so much bread.

¢) Don’t make her to eat so much bread.

10.YTo 3acTaBuio Bac MPUHATH TAKUE KECTKUE MEPbI, UTOObI TPEIOTBPATUTD.
a) What made you to make such severe measures to prevent it?
b) What makes you made such severe measures to prevent it?

¢) What made you make such severe measures to prevent it?

2. Open the brackets and use the correct form of the Gerund. Use necessary
preposition instead of the gaps.
Packpoiite cko0ku M ucnosb3yiite HeoOxoaumyw ¢opmy [epynmaus.
Hcnoan3yiiTe npeasoru BMecTo nmpooeJios.
Po3kpuiite ayxkum 1 BuUKopuUcTaiiTe HeoOXximHy ¢opmy IepyHnnis.
Bukopucraiite npuiilMeHHUK 3aMiCTh POOLTY.

1. T'looked forward ............ (go) fishing with my grandfather.

a) to going b) for having gone ) in going

2. My farther didn’t insist .......... (pick him up), he didn’t want to come back
home.

a) in picking him up b) on being picked him up ¢) on picking him up

39



3. My grandfather always complains ............. his wife bad (cook).

a) at cooking b) on cooking ¢) in being cooked

4. Tsucceeded........oovvvvviviiiiiiiinnnnn.. (bake) chocolate chip biscuit without
any help.

a) of being baking b) in baking c¢) from baking

5. She always objected ..................... my (eat) much before (sleep).

a) to eating sleeping b) of having eaten sleeping c) at eaten sleeping

3. Define the Verbal Noun, the Gerund or the Participle.
Omnpepeaure Otriaaronbnoe CymecrBuresabHoe, ['epynaumii

IIpuyacrue.

Buznaure /liecaiBumii Imennuk, I'epynaiit yu lienpukMeTHHUK.

1. On receiving the answer of the firm, he handed all the documents to the

lawyer.
a) Verbal Noun b) the Gerund c) the Participle
2. He ran up to me heavily breathing.
a) Verbal Noun b) the Gerund c) the Participle
3. The unloading of the ship was stopped.
a) Verbal Noun b) the Gerund c) the Participle
4. My father thinks I am not capable of earning my own leaving.
a) Verbal Noun b) the Gerund c) the Participle
a) Verbal Noun b) the Gerund c) the Participle
5. He is proud of having won the first place.
a) Verbal Noun b) the Gerund c) the Participle
6. Not knowing English he won’t be able to translate the article.
a) Verbal Noun b) the Gerund c) the Participle
7. The looking through the newspapers is his morning habit.
a) Verbal Noun b) the Gerund c) the Participle
8. Getting of the bus he helped his mother.
a) Verbal Noun b) the Gerund c) the Participle
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Variant I1

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepeKkJIATITH HOT0 HA PiIHY MOBY.

Banking in Poland

Wielkopolski Bank Kredytowy SA (WBK SA) is one of the leading Polish
commercial banks. The bank offers a full range of commercial banking products
both for corporate and individual customers. WBK SA is also active on the
Polish capital market. WBK SA has a network of 57 branch offices and other
outlets and one foreign representative office in Berlin. The Bank is highly
regarded throughout Poland and in 1993 was awarded the title 'Firm of the Year
1993' by the 'Polish Businessmen's Association'.

THE WIELKOPOLSKA REGION

The WBK SA head office is located in Poznan which is one of the oldest
Polish towns. Poznan is the capital of the Wielkopolska region, in mid-west
Poland. Wielkopolska is traditionally one of the most advanced Polish
provinces. It was here where the first Polish banks emerged in the early 19th
century. It is a region of a well developed agricultural industry which provides a
strong base for the development of the food processing industry. The region is
also well known for its furniture industry and there are substantial electronics
and engineering companies based in Poznan and other major towns of the
region.

The Wielkopolska inhabitants have always been known as well organized
hard working people with a remarkable entrepreneurial spirit. The private
sector maintained a relatively strong position even under the command economy
but it is only for the last five years that a considerable expansion of privately held
companies has occurred. Poland's economic recovery is triggered by the private
sector. Wielkopolska is one of the fastest growing economies within Poland due
to the expansion in private companies. In addition a substantial number of state-
owned companies in the region have also been privatised. There are a number of
other major companies to be privatised soon.

Due to its fast growing economy and well developed manufacturing base
Wielkopolska is one of the most important of Poland's regions as far as foreign
investment is concerned. In addition to thousands of small and medium sized
businesses the region has been chosen by such multinationals as Nestle, CPC,
Volkswagen. The Wielkopolska region is well placed to expand further. It will
benefit from its proximity to the German market. A number of foreign companies
have already recognised the value of this region as a well developed
manufacturing base which has already started to compete with Germany.
Poznan is situated on the main highway between Berlin — Warsaw and Moscow.
The region will benefit from major highway system development and other
infrastructure projects in the near future.
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Learn new words

3anoMHHUTE HOBbIE CJI0BA

3anmam’saTaliTe HOBI cj10Ba

Customer — 3aKa34uK, MOKYIAaTeNb, MOTPEOUTENb, KIUCHT
Capital market — ppIHOK KanuTasIa

Throughout — moBcrOy, BO BCEX OTHOIIEHUSIX

To emerge — MOSBISATHCS, BCIUIBIBATH, BHIXOUTh

Food processing industry — muieBasi HpOMbIIIIJIEHHOCTh
Inhabitant — >xuTenn

Remarkable entrepreneurial spirit — Belgaromuiics NpeAnpUHUMATEIbCKUI
nyx

Considerable — 3HaUNTENBHBII, OOJIBIIION

Expansion — yBenudenue, paciimpeHue

Trigger- yciaoBus coriamieHus

State-owned company — rocyapcTBEHHasi KOMITaHUS
Due to — 6nmaromapsi, B CJICICTBUH, B pe3yJIbTaTe, U3-3a
Proximity — coceacTBO, CX0XKECTh

To compete — conepHUYaTh, KOHKYPUPOBaTh

2. Find a word in the text to complete these phrases.
Hajigure c10BO B TeKcTe, YTOOBI 3aBePIINTH (Ppa3bl.
3HaliAiTh CJI0BO y TeKCTi, 1100 3aBepmiuTH ppa3u.

| D P customers

2. Seiiiiiiinnn base

3. foreignr................

4. agricultural i..............

5. foodp............ in.............
6. €vvrnnnnn. spirit

7. developed m.............

8 Pevreennnnnn. sector

9. majorc.............
10.commande...............
Il.s......... “Ouereennnn. companies
12.fastg............ [

3. Put the words in the right order and match the questions to the answer.
IlocTtaBbTe c10Ba B NMPaBWIbHbIA MOPSA0K W NoadepuTe BOMPOCHI H
OTBETHI.
IlocTaBTe cJjI0Ba y BipHUil NOPS/IOK TA MiA0EePiTH MATAHHA TAa BiANOBIII.

1. What / do / company / kind / of / for
/ you / work?

2. What / do / your / company / does?

3. What’s / job / your?

4. What’s / role / main / your?

¢ I’m a financial analyst.

¢ [’'m responsible for estimating the
cost of new films.

e We provide services for the film
industry.

e [t’s a legal firm.
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. Correct the mistakes in these sentences.
HcnpaBbTe 0IUOKHN B NpeIJI0KEHUSIX.
BunpasTre NOMWIKH y pe4YeHHAX.

Could you like to go to the conference in Brussels?
Let me to help you with that report.

Would I have another cup of coffee, please?

You can open the window, please?

Could you give me please some information?

Can I the new design see?

. Choose the best response to each offer or request.
Bri0epuTe HAMJIYUYIIHIA OTBET K KAMXKAOMY NPeIJI0KEHUI0 WIH
npocsoe.

O0epiTh HallKpalLy BiANOBIAb 10 KOKHOI IPOMO3UIIIl Y4 MPOXaHHS.
1. Could I have the data by the end of the week, please?
at all

Not Certainly

Don’t worry
2. I could bring the files to your office.

Thanks — that’s very kind of you.

Yes.

That would be very nice.

3. Would you like another cup of coffee?

I’m afraid not.

Not just now, thanks.

No I don’t.
4. Can you give me a lift to the station, please?

Yes, please.

I’'m pleased to.

Yes, no problem.

5. Let me show you to the conference room.

Of course.

You’re welcome.

Thank you.

6. Would you send this by express courier, please? It’s urgent.
I’m sorry, I cannot at the moment.

It isn’t possible, I’'m busy.

Not at the moment, thanks.

. Translate from English into Russian.
IlepeBeauTe ¢ AHTIIMUCKUN A3BIK HA PYCCKUM.
IlepekaaiTh 3 aHIJIiliCbKOI MOBH POCiiiCbKOI0.
. We are waiting for permission to go ahead with this project.
. Big Japanese companies are thinking again about uniform pay system.
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3. They are offering a 20% discount for the duration of the trade fair.

4. Ford is aiming to corner 10% of car sales in the Asia-Pacific region within
the next 10 years.

5. IMB in Europe chooses schools with the technology to teach collaboration,
writes Dell Bradshaw.

6. The New Zealand government has decided to sell the country’s second-
biggest electricity generator.

7. Sales of DVD video should take off in Europe next year when nearly 500.000
players will be sold, according to new study.

8. Last year the international situation in the hydrocarbons industry improved to
some extent.

7. Test
Tect
Tect
1. Translate into English, using the Infinitive.
IlepeBeauTe HA AHTVIMICKUH A3bIK, MCIIOJIb3yS HHPUHUTHB.
IlepekaagiTs aHIJIIHCHKOI0 MOBOI0, BUKOPUCTOBYIOYH iH(iHITUB.
1. Ero pacckasy TpyJIHO IOBEPUTb.
a) His story hard to believe.
b) His story is difficult to believe.
c) It is hard to believe in his story.
2. Kak nepeBecTu: BUJIETh 3HAYUT BEPUTH?
a) How to translate: to see is to believe?
b) What is to translate: to see means to believe?
¢) How translate: to see - to believe?
3. OH roBOpUT, 4YTOOBI HUKOMY HUYETO HE JaBaJIH.
a) He is saying to nobody nothing to give.
b) He says nobody to give nothing.
c) He says nobody to be given anything.
4. Jlydiue Ob1 MBI HE BUCIU 3Ty aBapHUIo.
a) It was better us not to see this accident.
b) We'd better not have seen this accident.
¢) We better not to see this accident
5.0na cumrtaer Bac miIox0 BOCHUTaHHBIM, W 4YTO BBl HE 3aciyXuBaere
YBaXKCHUS.
a) She considers you to be ill-bred and you don't deserve to be respected.
b) She consider you are ill-bred and you don't deserve respect.
c¢) She think you be ill-bred and you don't deserve to respect.
6. C HUM NPUSITHO UMETH JETIO.
a) With him it is pleasant to have business.
b) He is good at business.
c) He is pleasant to deal with.
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7. KTo BuHOBAT, 4TO BEI 0m1o3gamu?

a) Who is guilty you are late?

b) Who is to blame you are late?

¢) Who is blame you be late?

8. OHa nomnpocusia NoBUJIATHCS C HUM.

a) She asked to have seen him.

b) She asked to seen with him.

¢) She asked to visit him.

9. [Touemy ObI HaMm He MoexaTh B UTanuto serom?

a) Why not go to Italy in summer?

b) Why we not to go to Italy in summer?

c) Why us not go to Italy in summer?

10. MHe He TOHPaBUIIOCh, YTO OH yexall 0€3 MEHS B adpOIOPT.
a) I didn't like he to go to the airport without me.

b) I didn't like him to have left to the airport without me.

c¢) I didn't like that he to have gone to the airport without me.

2. Open the brackets and use the correct form of the Gerund. Use necessary
preposition instead of the gaps.
PackpoiiTe cko0OKH M HMCHOJb3YyHTEe HeoOxoaumyrw ¢gopmy I['epynaus.
Hcnoan3yiiTe npeaioru BMecTo npooeJios.
Po3kpuiite ayxkum 1 BuUKopucTaiiTe HeoOXimHy ¢opmy IepyHnnis.
Bukopucraiite npuiilMeHHUK 3aMiCTh PoOOLTY.

1. My sister can't keep ............... (meet) to her friends every day.

a) on meeting b) for be meeting ¢) in being met

2. Whois goingto give ................... (study) English?

a) in studying b) of be studying c¢) up studying

3. This person is suspected ........... (steal) the money.

a) on having stolen b) of stealing ¢) in being stolen

4. Did you apologize to your colleagues ...............ccovvuvvenn.e (refuse) to go
that time?

a) on refusing b) in having refused c¢) for having refused

5. Are you proud............... your grandfather (be) a hero of the World War

a) of being b) for being ¢) in having been

3. Define the Verbal Noun, the Gerund or the Participle.
Omnpenesure OtriaaronbHoe CymecrBureabHoe, [epynaumii  uiam
IIpuyacrue.
Buznaure /liecaiBumii Imennuk, I'epynaiit yu lienpukMeTHHUK.

1. We know about his coming.

a) Verbal Noun b) the Gerund c) the Participle
2. My shoes need repairing.
a) Verbal Noun b) the Gerund c) the Participle
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3. Having read the first part of the book she wanted to know the continuation.

a) Verbal Noun b) the Gerund c) the
4. He spent much time on the copying of this lecture.

a) Verbal Noun b) the Gerund c) the
5. Our aim is solving this problem.

a) Verbal Noun b) the Gerund c) the
6. The man standing there is our dean.

a) Verbal Noun b) the Gerund ¢) the
7. The building of the house will be finished next month.

a) Verbal Noun b) the Gerund ¢) the
8. Being told of his arrival I went to see him.

a) Verbal Noun b) the Gerund c) the

Participle
Participle
Participle
Participle
Participle

Participle



Variant 111

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

Banking in Germany Customers are Calling the Tunes

The customer may not always be long in Germany, but banks are fast waking
up to the fact that people can be as choosy about where they put their money as
they can over where they dine or shop.

In recent months, banks have almost fallen over themselves to announce
faster and cheaper services. While last year saw the advent, of discount broking
in Germany, 1995 is proving to be the year of direct banking. Commerz-bank,
Deutsche Bank, Berliner Bank and Citibank of the US have all announced new
operations, enabling customers to make transactions by telephone when they
choose.

For a country where the service mentality is by no means prominent, the pace
of change in the banking sector is startling. It is driven by consumers' growing
awareness of the cost of banking services and willingness to switch banks, if
necessary. Banks say east German customers watch bank charges especially
closely.

Even so, for customers deciding they can obtain better or cheaper service
elsewhere, roving accounts are still tedious. But the time may come when this
task will be taken on by banks themselves.

'We are considering something along these lines', says Mr. Albrecht Schmidet,
chairman of Bayerische Vereinsbaink, intriguingly.

Vereinbank, based in Munich with operations across Germany, is spending
heavily on technology and customer services. It is not going down the discount-
banking road, but has adopted a 'multi-optional strategy': customers can choose
between high-quality services where advice is included, and cheaper telephone-
based services (in four languages) needing no counselling.

In Mr. Schmidt's view, the rate at which the banking sector has been
changing 'is rather like the shift from a fast train to a magnetic levitation
railway'.

He admits that 'there is a certain amount of confusion in the market' as
banks bring in more new services. 'It is very important to have innovative
strength, but you don't have to follow every modern gimmick.'

Customers are not seeking gimmicks but better value for money, and
transparency. This means more competition among banks, uncomfortably
conscious that their reputation for openness, responsiveness and fairness is not at
its highest. They are striving to contain costs, become more helpfull and give
local managers more decision-making authority. Deutsche Bank's Projekt
Kundenns (closeness to the customer) is aimed at transforming its culture in this
way, making staff more customer-oriented.
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This means smiling faces and a lack of arrogance, as well as financial skills,
believes Mr. Michael Endres, a Deutsche Bank director. 'If a customer goes into a
branch and the person on the counter is not friendly or is impolite, you can forget all
the competence you have.'

Thus customers are now being wooed more seductively. Mr. Erich Coenen, a
director of Commerzhank, says: "The market is shifting more and more from a
providers' market to one where demand reigns, largely because customers are more
discriminating, better informed and more price-conscious.'

Hence they drive towards direct banking in which, as with discount broking, fees
are much lower than in traditional banking because no advice is provided. The
potential market for direct banking in Germany is put at between Sm and 6m people,
mostly among the young and technologically-minded. In five years, Mr. Coenen expects
Corndirect to have some 250,000 customers, an estimate bases on the solid market
shared achieved by direct banks in the US and Britain.

Corndirect, which began in February, provides personal service between Sam
and 10pm, with standard queries answered by recorded voice 24 hours a day. It
offers instant access interest-bearing deposits, a low-cost brokerage, service, sale of
German and foreign mutual funds, and loans for securities purchases.

As with its introduction of money-market funds last year, Commerzbank was
keen to be first off the mark. But Deutsche Bank followed quickly with the
announcement of Bank 24, which it called Germany's first comprehensive 24-hour,
seven-clay a week banking operation. This will be aimed, said Mr. Hilmar Kopper,
Deutsche's chairman, at younger customers, "anyone who has remained young" and
those with an affinity for technology. Access will be by telephone, fax and personal
computer; and a full range of current, savings and investment accounts will be offered,
alone with discount brokerage and credit services.

Mr. Kopper said Bank 24, starting this autumn, should have up to 500,000
customers in four years. No more than 20 per cent of these will have switched from the
main bank. At Bank 24, the cost of some services will be half those at the parent bank,
which also intends to speed up work on giving customers electronic access to branches.
The race to link customers to their banks by computer is a sign of the times in
Germany, where branches still do not open on Saturdays, though banks hope they will
eventually.

As more Germans travel abroad, frustrations with their own restricted shopping
and banking hours is growing. When the German subsidiary of Citibank of the US last
month said it would extend its telephone banking service through CitiDirect Banking,
to provide a complete 'around the clock' telephone service, it stressed that customers
were now more demanding.

Mr. Richard Srednicki, a director of Citibank in Germany, said: 'We want to meet
the increasing demand of the German people to be able to do as much of their banking
business as possible at home, at work or wherever they are — regardless of opening
hours and location of branches, and regardless of which day of the week it is.'

It already runs CitiPhone Banking for payment transactions, based in Bochum
in the Ruhr. Its new direct banking unit, beginning in September, will be based
in Aachen, near Belgium and the Netherlands.

48



As Citibank's decision shows, not only is banking in Germany going
increasingly digital, but it is shifting from the main centres. Corndirect is based in
Hamburg and Bank 24 in Bonn, where full — and part-time labour is available at
favourable rates. Choosy customers are pulling the banks in directions they never
dreamed of a few years ago. They want service with a smile, at the right price and at
the right time.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anam’sATaiiTe HOBI cJIOBa

To fall over — magate
Announce — aHOHCUPOBATh; 3asBJISATh; OMOBEIIATH; BO3BENIATh; JaBaTh 3HATH;
JTIOKJIAJIbIBATh

Advent — npuxo/; npuObITHE; MOSABICHUE; CO3/IAHNE YET0-I100; BBEJICHNE

Discount broking — cHuxkeHue nocpegHnueckux (OpoKepCKux) yCiayr

Enable — naBath BO3MOXXHOCTB(UTO-IMO0 CAENATh); JaBATh MPABO; TO3BOJISTH;

Prominent — U3BECTHBII; BBIIAIONIUNCS, 3HAUYNTEILHBIN

Pace of change — remn nepemen

Startling — ucnyrartbe; HanyraTh; BCTPEBOKUTH; IOPA3UTh; CUIIBHO YAUBUT;

Awareness — 0CBeIOMJIIEHHOCTb; UHPOPMHUPOBAHHOCTh

Willingness — xenanue; oxoTa

Obtain — mpuoOpeTaTh; TOOMBATHCS; TOCTUTAThH

Roving account — Oyxaaromuii cyer

Tedious —CKy4HBII; yTOMUTENbHBIN; HYAHBIN; TPYTOEMKHIL; JITMTEIbHBINH;
TPOMO3JIKUN

Intriguingly — uHTpUTrYyIOLIE; YBIEKATEIBHO

Discount-banking road — cHrxeHHe 0aHKOBCKOTO IyTH

Shift — nepemelienue; nepecTaHOBKa; MEPEHOC; IEPEMEHA; U3MEHEHHE; CABUT

Magnetic levitation railway — MarHUTHBIN TOJABEC K/ 10POTU

Innovative — MTHHOBAIMOHHBII; OPUTUHAIIbHBIN; COBPEMEHHBIN;
n300peTaTeNbHbIN

Modern gimmick — cOBpeMEHHBIE YIOBKH, YXUILIPEHUS, TPIOKH, IPUEMBI

Transparency — HeHoBasi MPO3PAYHOCTh

Conscious — cO3HATeNbHbIN, TOHUMAIOIIUHI, 3APaBbli

Striving— cTapaTbcsl; Ipuiiarath yCUius; 00poThes

Decision-making authority— nmpaBo npuHATHS PELICHUI; TUPEKTUBHBINA OpraH

Arrogance — BBICOKOMEpHE; HAJMEHHOCTh; 3aHOCYMBOCTh; CAMOHA/IETHHOCTD

Wooed — yroBapuBaTh; JOKy4aTh NPOoCchO0aMu; 10OMBATHCSA PACTIOIOKEHUS

Seductively— 3aMaH4YMBO; YapyIOIIE; allETUTHO

Demand reigns — npaBUTh TpeOOBaHUSIMU

Hence — ciienoBartenibHO; B pe3yJIbTaTe

Technologically-minded — TeXHOTOTHYECKH PACIIONIOKEHHBIN
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Standard queries— CTpyKTypUpOBaHHE 3aPOCOB

Interest-bearing deposits — MpOLIEHTHBIN BKJIA]T; CPOYHBINA I€TIO3UT

Low-cost brokerage — HM3Kk03aTpaTHOE, Ma03aTpaTHOE OPOKEPCTBO

Keen — cuibHBIN, HHTCHCUBHBIN

Comprehensive — TIIAaTeNbHBIN; A€TATBHBIN; MOAPOOHBIMI

Affinity — poacTBo, commkeHue

Parent bank — 6aHk BiageromMi KOHTPOJIbHBIM IMAKETOM aKIUNA JPYTroro
OaHKa, pOIUTENHCKUN OaHK; TOJIOBHOM OaHK

Frustration — cpbIB; KpyIlIeHue, 0€3BBIXOHOE TTOJIOKEHUE

2. Find a word in the text to complete these phrases.
Haiigure cJ1I0BO B TeKCTe, YTOObI COCTABUTH (pa3bl.
3HalAITH CI0BO y TeKCTI, 100 cKIacTu ¢pasu.

111 P prominent
[« FU = o JOU road

10 A “O0iiiiiiniinn strategy

| P -boei.. services

XN B D=
—
5
5
S
2
2.
=
o
92]

3. Complete the article using the verbs in the box in the past simple.

3aKoHYNTE CTATHIO, HCHOJb3Ysl IJarojbl B Taljuue B IpolIexneM
BpeMeHHM.

3aBepuiiTh CTATTIO, BUKOPHUCTOBYIOYHM JI€CJI0Ba 3 TAOJULI Y MHUHYJIOMY
qaci.

|Want start buy expand be begin give produce |

Timberland ................. in 1918. It ............ as a small shoe company based
in Boston, Massachusetts. Nathan Swarts made boots. In 1955, he .............. The
Abingdon Shoe Company. Later, his sons worked for the company too. Together they
............ some of the world’s first waterproof leather boots.

In 1973, the Timberland name was born. It started as the brand name of the
original waterproof leather boot. The boot .................... so popular that the
company changed its name to The Timberland Company. In the 1980s, the company
................. into international markets. Then the company introduced adult and
children’s clothing, women’s footwear, and accessories. In the 1990s Timberland
began a project that .................... Timberland employees paid time off to work on
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local community projects. The company ................. to show that it was possible
for a company to do well financially and do good in the community.

4. Write the words in italic as numbers.
Hanumure BbIIeJIeHHbIE ¢JI0BA HUPppamMu.
Hanumits BuajIeHHi cjioBa nudpamu.

1) That’ll be twenty-nine dollars and thirty cents, please.

2) The room measures about two hundred and twenty-nine metres.

3) The account number is six double seven nine two eight.

4) He owns a third of the company.
5) The data shows the naught point four per cent of the people work from home.

6) There are exactly four thousand, six hundred and two employees.

7) This shows a rise of nineteen point five per cent.

8) The population of the United States is over two hundred and ninety-six
million.

5. Write the comparative or superlative form of each of the adjectives in
brackets to complete the text.

Consumers may be getting (adventurous) about changing
brands, but do they feel the same way about changing services? Some customers feel
(safe) purchasing something that they know, whether it is clothes, food
or services. In a busy world, staying with a company that you know can be
(easy) option but it is not always (sensible)
way of making a decision. For example, competition between service companies such
as call providers and internet service providers can benefit customers. Consumers can
often save money if they compare prices on the internet to find
(cheap) option. It is a similar case with banking, where some banks
offer a (competitive) deal than others. Again, a quick check on
the internet will let you know if your bank is paying a (high)
rate of interest on accounts than others, or perhaps that they have
(expensive) charges on business and personal accounts. It is good to
know what you like, but it is even (good) to know that you are
getting (good) deal possible.
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6. Complete the table.
3anmosiHuTe TA0JMILY.
3anoBHITH TA0JIHIIIO.

Noun Verb
L. e succeed
2. failure o
3. ® export
4. importer o
5. ® profit
6.retailer o
7. * supply
8.product/producer/production o

7. Translate from English into Russian.
IlepeBeauTe ¢ AHIIIMUCKUN A3BIK HA PYCCKUM.
Ilepekiaaith 3 aHIJiliCBKOI MOBH POCiiiCbKOI0.

1. Telecom Italia has asked its chief executive to complete negotiations over the
company’s plans to participate in a new digital pay TV system.

2. IT has shaken up company structures just as much as external markets, says
Vanessa Houlder.

3. To enthusiasts, information technology is forging a productivity revolution.

4. It has flattened organizational structures, eliminating vast numbers of jobs,
while making others more demanding and effective.

S. Whenever the disaster happens somewhere in the world, reporters and
photographers are sent there to interview people and take pictures.

6. Richard Pound, the International Olympic Committee official leading the
investigation into the corruption scandal engulfing the Olympic movement, said
yesterday the IOC had been trying ‘for years’ to find proof that its members took
bribes from bidding cities.

7. The director of the office of Trading said that car manufacturers were using
recommended resale prices to mask the true selling price of vehicles.

8. Test
Tect
Tect
1. Translate into English, using the Infinitive.
IlepeBeauTe HA AHTJIMICKUH A3bIK, MCIIOJIb3yS HHPUHUTHB.
IlepexkaagiTs aHIJIIHCHKO MOBIO, BAKOPHCTOBYIOYHM iH(]iHITHB.
1. Bama paboTta ocTaBisieT kelaTh Jy4lIero.
a) Your work leaves to desire better.
b) Your work leaves much to be desired.
¢) Your work leaves to be desired much.
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2. Uto HYXXHO CeNaTh, YTOOBI MOMACTh B 3TOT CIIHCOK?

a) What is to be done to get into this list?

b) What need to do to shoot into this list?

¢) What we need to do to be in this list?

3. 5 pan, 4To cnan 3K3aMeH.

a) I am glad to pass the exam.

b) I am glad to be passing the exam.

c) I am glad to have passed the exam.

4. To1 ke Benena eMy OTHECTH 0OyBb B PEMOHT.

a) You told him to fetch the footwear into repair.

b) You had him take the footwear to repair.

¢) You said to repair the footwear.

5. Mbl 3HaeM, YTO OHHU celvyac HaXOJATCs Mo MmyTu B Pum.

a) We know them to be on the way to Rome.

b) We know they to go to Rome.

¢) We know they to be on the way Rome.

6. M TpyIHO yrOAUTb.

a) Them difficult to please.

b) They are difficult to please.

c) It 1s difficult to please them.

7. 51 He BUHOBAT, YTO 3a MHOI HAOJIIOAIOT.

a) I am not guilty to watch.

b) I am not blame to be seen.

¢) I am not to blame to be watched.

8. OHU pajipl, UTO NOJTYYUIIU 3TY KHUTY.

a) They are glad to get this book.

b) They glad to have this book.

c¢) They are glad to have got this book.

9. Hac 3acTaBisitoT nmucath MHOTO ITUCEM.

a) We are made to write many letters.

b) Us to force to write many letters.

c¢) Us to make write many books.

10. Bol 3HaeTe, 4TO BU€pa OHA y4acTBOBaJIa B COPEBHOBAHUAX ?
a) Do you know she to take part in the competitions yesterday?
b) Do you know her to have taken part at the competitions yesterday?
¢) Do you know she to took part at the competitions yesterday?

2. Open the brackets and use the correct form of the Gerund. Use necessary
preposition instead of the gaps.
PackpoiiTe cko0OKH M HMCHOJb3YyHTEe HeoOxoaumyrw ¢gopmy I['epynaus.
HNcnoab3yiiTe npeajiorn BMeCTo nNpodeJios.
Po3kpuiite ay:kkm 1 BUKOpUcTalTe HeoOXiaHy ¢opmy I'epynais.
Bukopucraiite npuiiMeHHUK 3aMiCTh MPOOiy.
1. We congratulated them ..................... (win) the first prize.
a) on winning b) in having won ¢) on having won
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2. Tamtired ...........cceeeenee. constant (repeat) the same words to your mother.

a) of repeating b) at being repeated ) in repeating

3. He went to the club instead .............. (try) to find new evidences.

a) for trying b) of trying c) to be trying

4. Heisveryfond ..................... (play) chess.

a) in playing b) of having played c) of playing

5. Hewasaccused .......................e. (murder) the young girl last month.
a) of having murdered b) in murdering c¢) at be murdering

3. Define the Verbal Noun, the Gerund or the Participle.
Omnpenesure OtriaaronbHoe CymecrBureabHoe, [epynaumii  uiam

IIpuyacrue.
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Buznaure /liecaiBumii Imennuk, I'epynaiit yu /lienpukMeTHHK.
1. After graduating the University, he entered the post-graduate studentship.

a) Verbal Noun b) the Gerund c) the Participle
2. The workers building this house will finish their work soon.

a) Verbal Noun b) the Gerund c) the Participle
3. Ilike cooking.

a) Verbal Noun b) the Gerund c) the Participle
4. Swimming is a good exercise.

a) Verbal Noun b) the Gerund c) the Participle
5. Having invited all the guests she became calm at last.

a) Verbal Noun b) the Gerund c) the Participle
6. Her health was making worse because of smoking.

a) Verbal Noun b) the Gerund c) the Participle
a) Verbal Noun b) the Gerund c) the Participle
7. While reading the book I always remember my childhood.

a) Verbal Noun b) the Gerund c) the Participle



Variant IV

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

Banknotes

The Bank of England has been issuing banknotes for 300 years. During
that time, both the notes themselves and their role in society have undergone
continual change. From today's perspective, it is easy to accept unquestioningly
that a piece of paper that costs less than three pence to produce is worth five,
ten, twenty or fifty pounds. Gaining and maintaining public confidence in the
currency or, to put it another way, preserving its value and integrity, is a key
role of the Bank of England and one which is essential to the proper
functioning of the economy. As the present Governor points out:

"If we count the holders of our notes as customers — and I do — the Bank of
England has more customers than any other bank in the country"

In order to fulfill its promise to its customers — the promise to pay — the
Bank must ensure that the currency maintains as stable a level as possible, in
other words, that the value of its notes is not eroded by inflation. This is the role
of monetary policy, which is one of the Bank's main responsibilities. It must also
guarantee the integrity of its notes; making sure that they are as difficult as
possible to counterfeit, that they are readily and securely available to banks and
building societies upon demand, and, subject to these constraints, that they are
attractive and easily identifiable both to the human eye and to note reading
machines.

A BRIEF HISTORY OF BANKNOTES

The first recorded use of paper money was in the 7th century in China.
However, the practice did not become widespread in Europe for nearly a thousand
years. In the 16th century the goldsmith bankers began to accept deposits, make
loans and transfer funds. They also gave receipts for cash, that is to say gold
coin, deposited with them. These receipts, known as 'running cash notes', were
made out in the name of the depositor and promised to pay him on demand.
Many also carried the words 'or bearer' after the name of the depositor, which
allowed them to circulate in a limited way.

In 1694 the Bank of England was established in order to raise money for
King William Ill's war against the French. Almost immediately the Bank started
to issue notes in return for deposits. Like the goldsmiths' notes, the crucial
feature that made Bank of England notes a means of exchange was the promise
to pay the bearer the sum of the note on demand. This meant that the note could
be redeemed at the Bank for gold or coinage by anyone presenting it for
payment; if it was not redeemed in full, it was endorsed with the amount
withdrawn. These notes were initially handwritten on Bank paper and signed by
one of the Bank's cashiers. They were made out for the precise sum deposited in
pounds, shillings and pence. However, after the recoinage of 1696 reduced the
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need for small denomination notes, it was decided not to issue any notes for
sums of less than £50. Since the average income in this period was less than £20
a year, most people went through life without ever coming into contact with a
banknote.

The 18th century saw the gradual move to fixed denomination notes. From
1725 the Bank was issuing partly printed notes for completion in manuscript. The
£ sign and first digit were printed but other numerals were added by hand, as
were the name of the payee, the cashier's signature, the date and the number.
Notes could be for uneven amounts, but the majority were for round sums. By
1745 notes were being part printed in denominations ranging from £20 to £1,000,
the latter being equivalent to £68,000 at 1994 prices.

Learn new words

3anoMHUTE HOBBIE CJI0BA

3anam’sATaiiTe HOBI cJIOBa

Undergone — noiBepratbCs; UCMBITATh; IEPEHECTH; MPETEPIICBAThH

Unquestioningly — 6ecripeKkocioBHO

Integrity — 4€CTHOCTB; MPAMOTA; HENPUKOCHOBEHHOCTh; MTOJTHOTA; 11EJ0CTh;
COXPaHHOCTb;

Eroded — dhakTuecku yMeHbIIATh JOXO/IbI, 00€CIIEHUBATHCS; Pa3pPYIIUTh;

Monetary policy — KpeUTHO-ICHEKHasI MTOJTUTHUKA

Counterfeit — moaaeIbpIBaTH

Identifiable — moamaromnuiicst BEIIBICHUIO, OII03HABACMBIN

Goldsmith bankers — 6aHKUP-3070THIX €T MacTep

Redeemed — BeIIaTUTh; BO3MECTUTH; BO3BpAIllaTh

Withdrawn — 3a6upats; OpaTh Ha3ajd; U3bIMAThH

Small denomination notes — MajieHbKO€ 0003HaueHuEe OAaHKHOT

2. Find a word in the text to complete these phrases.
Hajinurte cJI0BO B TeKCTE, YTOObI COCTABUTH (pasbl.
3HAWIITH CJI0BO y TEKCTI, 1100 cKIacTu ppasu.

| change

P S andm............. public
3. monetary p................

4. m............. responsibilities
5. humane............

6. n............ | ORI machines
7. goldsmithb.............

8 toveiiinnen. funds

9. runningd............. -M..........
10cecvveeenaiin. feature
IT.amount w..................
12.d............ notes
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3. Add the definite article the if necessary to these geographical areas.
Jlo6aBbTe ompene/ieHHbIH ApTHKJDL the K reorpaduyecKkuM Ha3BaHHMSIM,
€CJIM He00XO0AUMO.
JonaiiTe BU3HAYHUH apTUKIbL the 10 reorpadgiyHux HAa3B, AKIIO

HeOoOXiTHO.

) Far East

) European Union (EU)
) ST South-East Asia

) ST China

) ST South America

) United States (US)

) ST United Kingdom (UK)
) ST Russian

o Western Europe

P o Germany

) Middle East

4. Look at the group of words. Underline the two verbs in italics that can
be used with each noun.
ITocMoTpuTe Ha rpynny c¢jioB. [loguepkHuUuTe 1Ba BbIIEJIEHHBIX CJIOBA,
KOTOPbI€ MOT'YT HCII0JIb30BAThCS ¢ 000MMHU IJIAroJIaMu.
HoauBiThes Ha rpyny giecaiB. Ilinkpeciits ABa BUALIeH] aiecioBa, AKi
MO’KYTh BHKOPHCTOBYBATHCH 3 000Ma JIi€C10BaMH.
1. take/open/get on a shuttle bus.
2. aflight rides/takes off/ lands
3. catch/ arrange/ miss a train
4. drive/ hire/ board a car

5. Choose the correct word (a-c) to complete the text.
Bri0epuTte BepHoOe ¢JI0BO (a-C), YTOOBI 3aBEPIIUTH TEKCT.
O0epiTh BipHe cj10BO (a-c), 1100 3aBEPIIMTH TEKCT.
Conrad Asher is an entrepreneur. When he was a boy he decided that he didn’t

want a job where he worked ............ 9am. ............. Spm every day. Conrad
wanted something more exciting. When he finished college ........ 1999, he
worked as an events organizer ........... two years. Then, .......... 26 August

2001, he launched his own company to help organizations choose which sporting
events to sponsor. The company made a loss for the first few years, but
............ year, it made a good profit. Conrad likes to start work early. He is

usually at his desk .......... 7am. He often goes to sporting events .......... the
evenings. ......... the weekend, Conrad plays rugby and hockey and goes to watch
football matches.

‘I enjoy my free time, but I always enjoy getting back to work ......... Monday

morning.” Conrad says, ‘ Sport is my work and my life; I'm very lucky.’
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1. a to b at ¢ from
2. a two b to c too
3. a 1In b on c at

4. a since b  during ¢ for
5. a at b on ¢ in

6. a then b the c last
7. a 1n b at c on
8. a at b on c in

9. a At b In ¢ To
10.a in b on c at

6. Find out the English and American synonymic word combinations.
IlonOepure  anrjamiickue u AMEePUMKAHCKHE  CHHOHUMUYHBIE
CJI0BOCOYETAHMS.

HinoepiTh aHIIiiCchKI Ta aMepHUKaHCHKI CHUHOHIMIYHI
CJI0BOCIIOJTyYEHHS.
English American
1) about 1 500 metres per minute a. steel mill
2) to run on guide rails b. to run on tracks
3) lorry/lorries c. fibers
4) fibres, d. about one mile a minute
5) steel works e. truck/trucks

7. Translate from English into Russian.
IlepeBeauTe ¢ AHTJIMUCKOTO SA3bIKA HA PYCCKUM.
IlepexkaagiTs 3 aHIIiICbKOI MOBH POCIiiCHKOIO.

1. A mission statement talks in general terms about a company’s overall policies
and objectives.

2. The main centres for international arbitration are: Paris, London, Geneva,
Stockholm. Which is used depends on the background and businesses of the parties.

3. John Dee imports microwave oven from Korea and has been working
satisfactorily with the same supplier for five years.

4. In June 1999 more than 100 people in Spain and two n Italy complained of
headaches, dizziness and stomach upsets after drinking canned soft drinks
manufactured by Sola-Soda.

5. American branded goods manufacturers make more profit in the UK than in
the US.

6. Distribution and marketing costs are much higher in Europe than in the US.

7. British supermarkets are often attacked for their profit margins which average
6 per cent, the highest in Europe and three times more than the levels achieved by
their European rivals.
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8. Test
Tect
Tect
1. Translate into English, using the Infinitive.
IlepeBeauTe HA AHTTIMICKUH A3bIK, MCIIOJIb3YyS HHPUHUTHB.
IlepexkaagiTs aHIJIIHCHKO MOBOI0, BUKOPUCTOBYIOYH iH(iHITUB.
1. O ToM, 4TOOBI KYIIUTh HOBYIO MAIIUHY, HE MOXKET ObITh U PEYH.
a) About to buy a new car can not be speech.
b) It is out of the question to buy a new car.
c) To buy a new car is impossible.
2. Ona ObuTa B IPEKPACHOM HACTPOCHUH, HE TOBOPS Y’KE O BHEITHOCTH.
a) She was in a good mood to say nothing of the appearance.
b) She was in a good mood not say nothing of the appearance.
¢) She was in good mood not to say nothing of the appearance

3. MBI IpUTBOPUIIMCH, YTO HE 3aMETHUIIH €TO.

a) We pretended not to see him.

b) We pretended not to have noticed him.

c) We pretended that not to noticed him.

4. Hudero He 0CTaBajaoCh, Kak TOJIBKO BBIOPOCUTD IPY3.
a) Nothing left as to throw out the cargo.

b) Nothing was not to leave but to throw the cargo.

c) There was nothing left but throw out the cargo.

5. Kaxercsi, OHa 3BOHUT JOMOM KaXK]IyI0 HEJIEIIO.

a) She seems to phone home every week.

b) It seems she to phone home every week.

c) It seems she phones home every week.

6. BbI mepBbIit 4eIOBEK, KOTOPBIM TOBOPUT MHE 00 3TOM.
a) You are the first person who to tell me about it.

b) You are the first person to tell me about it.

¢) You are the first man talk me about it.

7. Kopoue roBops, oH ycIien Ha MOe3/1.

a) To tell shorter he did not have time for the train.

b) Shorter tell he didn't catch the train.

c) To cut a long story short he didn't catch the train.

8. S pan(a), uto nan(a) BaM 3TU CBEICHUSI.

a) I gald to give you this news.

b) I am glad to have given you this news.

c) I am glad to gave you this news.

9. I1o3BoJsibTE HAM YITH, YTOOBI yCIIETh HA aBTOOYC.

a) Let us go to catch the bus.

b) Let us to go to catch the bus.

c) May we go to catch the bus?

10. Oka3bIBaeTcs, OHU ceiuac CMOTPAT (PHIIbM B KUHOTEATpE.
a) It appears they to watch the film at the cinema now.
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b) They appear to watch the film at the cinema now.
c) They appear to be watching the film at the cinema now.

2. Open the brackets and use the correct form of the Gerund. Use necessary
preposition instead of the gaps.
PackpoiiTe cko0OKH M HMCHOJb3YyHTEe HeoOxoaumyrw ¢opmy I['epynaus.
HNcnoab3yiiTe Npeajiorn BMeCTo nNpodeJios.
Po3kpuiite ayxkum 1 BuUKopuUcTaiiTe HeoOXimHy ¢opmy [@epyHnnis.
Bukopucraiite npuiilMeHHUK 3aMiCTh PoOOLTy.

1. Heisafraid .............coooiiiiiiinn... (catch) a cold.

a) of catching b) in be catching c) at catching

2. The seller were informed .......................... the goods (prepare) for
shipment.

a) of preparing b) about preparing c¢) about being prepared

3. Sheis thinking ...................... (make) an arrangement with our suppliers.

a) about being made  b) of making c¢) about making

4. My colleagues blamed me .................... (not do) the those affairs in time.

a) in not having done  b) of not doing ¢) at not be doing

5. Ipraise you .......... (be) kind with my relatives.

a) for being b) in be being c¢) of having been

3. Define the Verbal Noun, the Gerund or the Participle.
Omnpepesure OtraaronbHoe CymecrBureabHoe, [epynaumii  uiam
IIpuyacrue.
Buznaure /liecaiBumii Imennuk, I'epynaiit yu lienpukMeTHHUK.
1. We know about his coming.

a) Verbal Noun b) the Gerund c) the Participle
2. My shoes need repairing.

a) Verbal Noun b) the Gerund c) the Participle
3. Having read the first part of the book she wanted to know the continuation.
a) Verbal Noun b) the Gerund c) the Participle
4. He spent much time on the copying of this lecture.

a) Verbal Noun b) the Gerund c) the Participle
5. Our aim is solving this problem.

a) Verbal Noun b) the Gerund c) the Participle
6. The man standing there is our dean.

a) Verbal Noun b) the Gerund c) the Participle
7. The building of the house will be finished next month.

a) Verbal Noun b) the Gerund c) the Participle
8. Being told of his arrival I went to see him.

a) Verbal Noun b) the Gerund c) the Participle
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Module IIT

Variant I
1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEpeBeIUTE €ro HA POAHOM A3bIK.
IMepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

What is Marketing?

What does the term marketing really mean? Many people mistakenly thinking of
it as advertising and selling. Given the number of commercials on television, in
magazines and newspapers and all the signs and offers in and around the shops this is
not surprising. However, advertising and selling are only two of several marketing
functions, and not necessarily the most important ones.

The most basic concept underlying marketing is that of human needs. We have
many needs including ones such as affection, knowledge and a sense of belonging as
well the physical need for food, warmth, and shelter. A good deal of our lives is
devoted to obtaining what will satisfy those needs.

Marketing can thus be defined as any human activity which is directed at
satisfying needs and wants by creating and exchanging goods and value with others.

Marketing has become a key factor in the success of western businesses.
Today’s companies face stiff competition and the companies which can best satisfy
customer needs are those which will survive and make the largest profits.

For an exchange to take place, four conditions must exist. First, an exchange
requires participation by two or more individuals, groups, or organizations. Second,
each party must possess something of value that the other party desires. Third, each
must be willing to give up its ‘something of value’ to receive the ‘something of
value’ help by the other. The objective of a marketing exchange is to receive
something that is desired more than what is given up to get it, that is, a reward in
excess of costs. Fourth, the parties to the exchange must be able to communicate with
each other to make their ‘something of value’ available. Note, though, that an
exchange will not necessarily take place just because these four conditions exist.
However, even if there is no exchange, marketing activities still have occurred. The
‘something of value’ held by the two parties are most often products and / or financial
resources such as money or credit. When an exchange occurs, products are traded for
either other products or financial resources.

Learn new words

3anoMHUTE HOBBIE CJI0BA

3anam’sATaiiTe HOBI cJIOBa

Mistakenly — o ommbke, HEyMECTHO, OIIIIOOYHO

Western business — 3anagHbli OU3HEC

Stiff competition — )kecTOKasi KOHKYPEHIIUS; )KECTKAsA KOHKYPEHIUSA

Give up — OTCTynaTh, KEPTBOBATh, Pa3BOJAUTH pyKaMH, OpocaTh
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. Find a word in the text to complete these phrases.

Hajinure cJI0BO B TEKCTE, YTOObI COCTABUTH (pasbl.
3HAWIITH CJI0BO y TEKCTI, 1100 cKIacTu ppasu.

DU and selling
marketing f............
basicC................
hoooooai. needs
something of v............
110 P exchange
Cotereeeeeeeeaees with
marketing a.............
foor resources

10.money orc...............
I.f.... stiff
12.western b............

3.

Underline the two verbs that you could use to complete each sentence.
IoaguepkHuUTeE IBa IJ1aroJa, 4To0bl 3aBePIINTH KAKI0€ NMpelJioKeHue.
IiakpecyiTh ABa ai€c0Ba, H00 3aBEPUINTH KOKHE PeYeHHS.

I.They ................ good service at a reasonable rate.

a

offer b take c provide

2.1 products for my computer.
a give b purchase cbuy

O e A W

4.

We ... new products every season.

create b design c¢ imagine

Whenyou............. a company it is good idea to get financial advice.
invest b setup c¢ found

Does Jill still.............. the IT department?

run b close ¢ manage

Choose a prefix (in-, im-, il-, ir-, un-) to make the opposite of these

adjectives.

BoiOepure mnpucraBky (in-, im-, il-, ir-, un-), 4TO0BI COCTABMTH

INPOTUBOIOJIOKHOE€ 3HAYCHHUEC K IPpUWJIaraTe¢/JibHbIM.

Ob6epity mpegike (in-, im-, il-, ir-, un-), MOO6 CcKJIaACTH NPOTHJIECIKHE

3HAYCHHHA 10 HpHKMeTHHKiB.
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legal
polite
regular
different




5. Complete the sentences with a word from the box below.
3aKoHYHTE NMPeAI0KEeHNS CJI0BAMM U3 TA0IMIBI HUKeE.
3aBepiliTh peyeHHsI CJI0BaMM i3 TA0J ML HHKYeE.

Recycling  pollution environmentally  disposable
environmental dispose recyclable pollutants

® Most types of paper are

e There are six main air

e We are setting up an management system.

e We need to find a better way to of our waste.

e It’san friendly product.

¢ We have an office-paper scheme in our company.

o 1s having an effect on the world climate.

e They manufacture cheap cigarette lighters.

6. Rearrange these words to form questions.
IlepecTaBbTe C10Ba, YTOOBI COCTABUTH BONPOCHI.
IlepecTaBTe c10Ba, 100 CKJIACTH MUTAHHSI.

e plastic/ how/ be/ can/ recycled?

e you/ limits/happens/ if/ permitted/ the/ what/ exceed?

e of/ you/ waste/ how/ products/ your/ dispose/ do?

e VOCs/ explain/ are/ can/ you/ what?

e affected/ recent/ your/ been/ by/ company/ much/ legislation/ has?

e you/ of/ what/ sources/ use/ other/ energy/ do?

e ways/ environmentally/ products/ are/ in/ your/ what/ friendly?

e does/ ozone/ environment/ what/ do/ the/damage/to?

e heat/ explain/ is/ recovery/ what/ could/ you?
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7. Translate from English into Russian.
IlepeBeauTe ¢ AHTJIMUCKOTO SA3bIKA HA PYCCKUM.
IlepexkaaaiTs 3 aHIiICHLKOI MOBH POCIiiCHKOIO.
1. The strength of the pound may explain why a CD or a mobile phone bought
in France is cheaper than in the UK.
2. Sony Trinitron TV costs $77 more in London than in Paris.
3. Self-price companies are misleading.
4. T would be reluctant to change suppliers, but if the situation does not improve
I will be forced to look elsewhere.
5. Nestle, whose head office is in Vevey on the shores of Lake Geneve, is the
world’s largest food company.
6. There is an unexplained loss of $1.5 million in the company account and the
finance has been absent from work for the last eight days.
7. The director suddenly bought a huge block of shares when everybody else
was selling theirs.

8. Test
Tect
Tect
1. Rewrite sentences 1-6 in the passive and 7-11 in the active.
Ilepenemure mnpenyo:xkenus 1-6 B crpagareabnom, a 7-11 - B

JeHCTBUTEJILHOM 3aJI0Te.
IepenumiTs peyenns 1-6 y nacuBaomy, a 7-11 — y ailicHomy craHi.
1. Grandfather is telling the children a story.
a) A story is being told to the children by grandfather
b) The children are told a story by grandfather.
c) A story is told by grandfather to the children.
2. I don't like when people laugh at me.
a) I don't like when I am laugh at.
b) I don't like when I am laughed at.
c) I don't like when I am laughed at me.
3. They are raising money for the baby's operation in America.
a) Money for baby's operation are raised in America.
b) Money for baby's operation are being raised in America.
c) Money for baby's operation is being raised in America.
4. They made him confess to the robbery.
a) Him was made to confess to the robbery.
b) He was made to confess to the robbery
c) They were made him to confess to the robbery
5. They speak highly of this book.
a) This book is highly spoken of.
b) This book is highly spoken by.
c¢) This book be highly spoke of.
6. Nobody has slept in this room lately.
a) In this room has slept in nobody lately..
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b) This room has slept in by nobody lately.

¢) This room has been slept by nobody lately.
7. The bill must be paid immediately.

a) He must pay the bill immediately.

b) The bill must pay immediately.

¢) I must be paid the bill immediately

8. Many interesting books have been published by the company this year.
a) The company have published many books this year.

b) The company has published many books this year.

c) The company has been published many books this year.

9. This letter must have been sent by Jack.

a) Jack must have sent the letter.

b) Jack must have been sent the letter.

¢) Jack must has been sent the letter.

10. A great deal of property is destroyed by tornadoes every year.
a) Tornadoes destroyed a great deal of property every year.

b) Tornadoes are destroyed a great deal of property every year.

c) Tornadoes destroy a great deal of property every year.

I1. The child will have been fed.

a) They will have been fed the child.

b) The mother will have fed the child.

¢) The mother will has fed the child.

2. Translate into English using Passive Voice.
IlepeBenuTe Ha AaHIVIMICKUN A3BIK, HCIIOJB3YS CTPAAATEIbHBIN 32J10T.
IlepexkaagiTs aHIJIIHCHKOI0 MOBOK0, BUKOPUCTOBYIOYH MACUBHUI CTaH.

1.EMy nipeaioxkuiii Xopoliyro padoTy, HO OH OTKa3aJjcsl.

a) He was offered good job but he refused.

b) Him was offered good job but he refused.

¢) Him has been offered good job but he refused.

2. Camble BasKHbIE HOBOCTH I€YATAIOTCS B YTPEHHUX ra3eTax.

a) The most important news are published in the morning newspapers

b) The most important news is being published in the morning newspapers

¢) The most important news is published in the morning newspapers.

3. Bemm yxe ymakoBaHbl, He Tak ju? - Jla, yemMomaHbI yke COOpaHbl, a CyMKY
ceryac ynakOoBBIBAIOT.

a) The things have been already packed? - Yes, the suitcases are been packed
and the bag is packed now.

b) Have the things been already packed? - Yes, the suitcases have already been
packed and the bag is being packed now.

c) Are the things been already packed? - Yes, the suitcases have already been
packed and the bag is being pack now.

4. VluTepecHo, KaKOMY SI3bIKY €r0 YUUIIU B JIETCTBE.

a) I wonder what language he was taught in childhood.
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b) I wonder what language was he taught in childhood.

c) It is interesting what language he was taught in childhood.
5. DTOT BOIPOC MOKHO OTJIOKHUTH J0 CIEAYIOLIEr0 COBEIIAHUs
a) This question may put off to the next meeting.

b) This question can been put off to the next meeting.

c¢) This question can be put off to the next meeting.

3. Put in the right preposition.
BcraBbTe NpaBUIbLHBIN NPEAJIOL.
BcraBTe NpaBU/ILHUH NPUHMEHHUK.

1. He got angry and shouted ... me.

a) at b) on c) for

2. Have you read any books ... James Hudson?

a) of b) by ¢) from

3. James Hudson? I've never heard ... him.

a) of b) about c) to

4. She smiled to me as she passed me by ... the street.

a) in/on b) at ¢) above

5. What happened .... the picture that used to be on that wall?
a) at b) to c) by

6. I don't know whether I go ... tonight. It depends on how I feel.
a) to b) up c) out

7. The police are responsible ... maintaining law and order.
a) at b) for ¢) before

8. He usually drives ... a great speed.

a) at b) on c) down

9. Tarrived to the airport just ... time to see my friends off .
a) at b) to ¢)in

10. He insisted ... visiting Peter.

a) of b) upon c) on



Variant I1

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

Is price all that matters?

‘Price cutting’, it has been said, ‘is a technique for slitting someone else’s throat
and bleeding to death yourself.” Price cutting wars erode profits right across the
industry in which they are waged, and are often started by a wholly unnecessary
panic reaction to price competition.

The view that a competitor’s prices must always be matched in order not to lose
market share is unduly pessimistic one, based on the false assumption that the
customer is only interested in price.

Even in price sensitive industrial commodity markets this is so far from being
the case that price is not even the most important marketing variable in the eyes of
customers. Surveys in the UK and elsewhere have shown that in excess of 60 % of
DMUs would not change their best supplies for a drop of 5% plus, and for some the
figure would be 10%.

Sulphuric acid, for instance, is a bulk commodity that can be described as price
sensitive. The large buyer is likely to be involved in running a continuous process.
The acid cannot be stored in large quantities, except at prohibitive expense, because it
is corrosive, and so if the supply is interrupted for any length of time customer has to
stop production. For this reason he ‘multisources’ — that is, buys from several
suppliers. Even so, supplies are far from guaranteed because at peak business period
they will all be stretched. So the wise customer chooses suppliers primarily for
reliability, not price.

The example demonstrates an important principle: “The cost to my customer is
not necessarily the price I charge.” The customer’s costs include the risk of
interrupted supply, poor quality, ordering difficulties, and so forth. The buyer’s
decision, in other words, relates to many more factors than price alone.

It follows that knowledge of precisely which factors it is that customers regard
as of greatest importance, will enable the marketer to concentrate attention on these
points, and steer the buying decision away from price.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anam’sATaiiTe HOBI cJIOBa

Price cutting — CHUKEHHE 1IEHBI

Slitting — pBaTbCs; pacIEIUIATh; PACKAIbIBATh; CYXaTh; pa3pe3arhb

Erode — gakTtuyecku ymeHbIIaTh aKTUBBI/ TOXObI

Wage—BecTu; MpOBOAUTH (KaMIIAHUIO); OCYILIECTBISATH; OOPOTHCS

Wholly—T1101HOCTBIO0; LIETMKOM; BIOJIHE

Assumption — mpuHATHE Ha ce0s (OTBETCTBEHHOCTH, O0S3aHHOCTH);

MPUCBOEHUE; BEICOKOMEPUE; CAMOHAIEIHHOCTD; ITPEANOJI0KEHNUE;

Sulphuric acid — cepnas kucnora
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Bulk commodity — MaccoBbie TOBapbl; HACBIITHOU TPY3
Prohibitive expense — 3amnpernaroniye 3aTparbl
Corrosive — pa3beatolInii; eKHUii; TYOUTeIbHbBIN
Interrupted — npepBaHHbBII

Precisely — TouHO; onpeieIeHHO; POBHO

2. Find a word in the text to complete these phrases.

Haiigure cJ10BO B TeKCTe, YTOObI COCTABUTH (pa3bl.

3HalAITH CI10BO Y TeKCTI, 1100 CKIacTu ¢pasu.
| cutting

XN R W=
Eh .
et
2]
(@)
oo

S acid
bulkc.............
9. peeveennnn business
10.important p...............
| B difficulties

12.customersr............

3. Match the two parts of the sentences.
CoenuHuTre ABe YACTH NPeII0KEeHUS.
O0’eanajiTe 1Bi YACTUHH peYCHHS.

NN =

You can be fined

Our products minimize damage
Most plastics don’t bio-degrade
We’re hoping to use more energy
We can save energy

by using a heat recovery process.
for breaking pollution laws.

to the environment.

in the environment.

from alternative sources.

4. Complete the sentences with words from the box below.
3aBepuinTe MpeaI0KEHUS CJI0BAMM U3 TA0JUIbI HUXKE.

3aBepuiiTh cJIOBaMHU i3 Ta0JIHUIII HUKYE.

when you mind o0il tools out don’t careful
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hot sharp floor low
e Mind................. don’t trip. There are lots .............. lying around
® Be...oooieas ! Don’t touch the blades. They’re very...................
e Mind............. I Someone’s left some boxesonthe .....................
[




e Be careful..................... you walk across the factory. There are often
patchesof ...................... on the floor.
e Mindyou ...........cceeeenn. burn yourself. The metal is very ...................

5. Choose It or There.
Bri6epure It wnu_There.

O6epits It uu_There.
Ao cevvvieinnnenns might be slippery.
/. might be very noisy.
Co tevernnrcccnnns might be a lot of dust.
7 might be very sharp.
€. terrriiiiinnnns might be trucks unloading.
) might be bits of broken glass on the floor.
2. ceeeceiennnnens might be live.

6. Rearrange these words to form questions.
Cdopmupyiite Bonpocsl.

3dopmyiiTe nuTAHHS.
it/where/hurt/does?
move/arm/you/can/your?
happen/it/did/how?

get/the/I/shall/ first-aider?

keep/first aid/ where/we/ box/ do/the?
injured/ anyone/ been/ has?

anyone/ ambulance/ has/ yet/ called/ an?
your/to/ what/ done/ have/you/hand?

7. Translate from English into Russian.
IlepeBeauTe ¢ AHIIMUCKUN A3BIK HA PYCCKUM.
Ilepexkaagits 3 aHIIiICLKOI MOBH POCIiiCHKOIO.

e Commodity money refers to the use of some commodity as money. Many
commodities — such as stones, shells, various crops, metal and paper — have served as
money in various countries of the world.

e There are two basic types of modern money, each of considerable
importance: token money and paper money.

e Token or metallic money consists of coins — a special type of commodity
money which a metal such as gold, silver, or copper is used.

e Paper money takes the form of bills and notes. It may or may not be backed
by gold and silver.

e Representative money is money (usually paper) that serves in place of
commodity money.

e The government sometimes issued fait money, which is backed only by the
promise of the government to redeem it or to exchange it for other types of money.
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e Spanish coins circulate freely in the colonies in both North and South

America.

8. Test
Tect
Tect
1. Rewrite sentences 1-6 in the passive and 7-11 in the active.
Ilepenemure mpenio:xkenuss 1-6 B crpamaresbHoMm 3ajiore, a 7-11 — B

NeHCTBUTEJILHOM.
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IlepenuuiTs peyenns 1-6 y nacuBHomMy craHi, a 7-11 — y niiicHomy.
1. The robbers stole $2mln from the bank yesterday.
a) $2mln was stole from the bank by the robbers yesterday.
b) $2mln were stolen from the bank by the robbers yesterday.
¢) $2mln were stealen from the bank by the robbers yesterday.

2. This company has designed a new car model recently.

a) A new car model has been designed by this company recently.

b) A new car model have been designed by this company recently.

c) A new car model has be designed by this company recently.

3. A friend of mine is looking after my children at the moment.

a) After my children are looked by a friend of mine at the moment.

b) My children are looking after by a friend of mine at the moment.

¢) My children are being looked after by a friend of mine at the moment.
4. They will hold the funeral in Westminster Abbey.

a) The funeral will be held in Westminster Abbey.

b) The funeral will be hold in Westminster Abbey

c¢) The funeral will is held in Westminster Abbey

5. The boys are always laughing at John.

a) At John is always laughed by the boys.

b) John are always laughing by the boys at.

c) John is always beinglaughed at by the boys.

6. They take good care of their grandmother.

a) Of their grandmother is taken good care by them.

b) Their grandmother is taken good care of by them.

c¢) Their grandmother is tooken good care by them.

7. She was to be operated on Tuesday.

a) The doctor was to operated her on Tuesday.

b) The doctor was to be operated her on Tuesday.

c¢) The doctor was to operate her on Tuesday.

8. The case is being opened again as they aren't satisfied with the verdict.
a) They are opening the case again as they aren't satisfied with the verdict.
b) They is opening the case again as they aren't satisfied with the verdict.
c) They open the case again as they aren't satisfied with the verdict.



9. The origin of the Universe will never be explained.

a) We will never explain the origin of the Universe.

b) We will never explained the origin of the Universe.

c) We never explain the origin of the Universe.

10. Some new equipment has been ordered by the company.
a) The company has ordered some new equipment.

b) By the company has ordered some new equipment.

c¢) The company have ordered some new equipment.

11. They had been washed before you came to fetch them.
a) Before you came to fetch them they had wash them.

b) She had washed them before you came to fetch them.

c¢) She had been wash them before you came to fetch them.

2. Translate into English using Passive Voice.
IlepeBeauTe HA AHITIMICKUH A3BIK, HCIOJIb3YS CTPAJaTEeIbHbIN 32J10T.
IlepexkaagiTs aHIJIIHCHKOI0 MOBOKO, BUKOPUCTOBYIOYH MACUBHUI CTaH.

1. Korpa s kynanach, y MEHsI yKpaJld BCIO OJIEHKY.

a) When I was swimming (bathing) all my clothes were stolen.

b) When I was swimming (bathing) all my clothes was stolen.

¢) When I was swimming (bathing) all my clothes had been stolen.

2. IlpecTynHUK yxe nmoiMan?

a) Is the criminal catched?

b) Did the criminal been already caught?

c) Has the criminal been already caught?

3. B HameM paiioHe cTposITCS Cpa3y Ba HOBBIX JI0OMa.

a) In our district two new buildings are built at once.

b) Two new houses are being builded in our district at once.

c) Two new houses are being built in our district at once.

4. DTy KapTUHY HE COOMPAIOTCA MPOJIaBaTh.

a) This picture is to be going to sell.

b) This picture is not going to be sold.

c¢) This picture is not going to be seld.

5. 3a MalleHbKUMHU JE€ThMU HY>KHO CMOTPETh KXKIYI0 MUHYTY.

a) Little children need to be looked after (watched) every minute.

b) After small children need to be looked every minute.

c) Little children need to see every minute.

3. Put in the right preposition.
BcraBbTe NpaBUIIbLHBIN NPEAJIOL.
BeraBTre npaBuJIbHUN NPUMEHHHUK.
1) I advertised several times ... someone to mow the lawn....me, but .... the end

I did it myself.
a) by b) for c) to
a) to b) from c)up
a) of b) at ¢) in
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2) St. Petersburg is pleasant ... summertime, especially early ...the morning

and ... peaceful evenings.

a) of b) at c) in

a) in b) from c)up

a) by b) in c) to

3) A stranger approached ... me ... the street and asked me ... money.

a) to b) from c)up

a) at b) on/in c) to

a) by b) for c) to

4) I had to care ... my sister day and night, I took her ... a walk, carrying her ...
my arms.

a) by b) at c) of

a) to b) for c) along

a) by b) in c) to

5) There's no use ... looking ... him ... this address. He doesn't live here any
longer.

a) for b) up ¢) in

a) to b) for c) along

a) of b) at ¢)in

6) Children always get presents for their birthdays.

a) from b) at c) for

7) I'm looking ... arriving ... Moscow.

a) along to b) forward to ¢) from of

a) from b) to c) in

8) I'm interested ...football, but I'm not very good .... basketball.

a) in b) on c) at

a) for b) in c) at

9) The monster is supposed to live ... the bottom ... the lake.

a) on b) at C) upon

10) We arrived ... London ... the beginning ... spring.

a) in b) at c) to

a) in b) at c) till

a) of b) up c¢) for
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Variant 111

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

The Market in London

The bulk of foreign exchange business in London is accounted for by
trading between banks. However, customers, such as multinational corporations,
pension and investment funds, have come to account for a larger share of
turnover in recent years and now account for nearly a quarter of total foreign
exchange trade in London.

Meanwhile, although the share of business transacted through brokers has
declined modestly in recent years, brokers remain an important part of the
market and intermediate in about a third of all foreign exchange transactions
done in London.

Spot, Forward, Futures and Options Markets

Over the years spot business has not grown as fast as forward business so
that spot transactions now account for about only half of total foreign exchange
turnover.

Forward transactions — mainly swaps — account for most of the rest;
futures and options business has grown rapidly but remains a relatively small part
of total market turnover.

Currency composition

The most traded currency pairs are £/US$ and US$/DM; but their
combined share has declined as non-US$ currency trading has grown, particularly
involving the D-Mark. Overall, the range of actively traded currencies is wider in
London than in other major centres. In fact, foreign exchange market in London is
so large and well developed that more trading in US dollars and D-Marks takes
place in the UK than than US and Germany respectively.

Market share of overseas banks

About 20% of the foreign exchange business transacted in London by Banks
is done by UK institutions and the remaining 80% by foreign-owned banks. US
and Canadian banks are the most active, with a combined share of about 40%.
Japanese banks have roughly a 10% share as do EC banks (excluding the UK).

Source: 1992 national survey

THE ROLE OF GOVERNMENT AND CENTRAL BANKS

Not only is the exchange rate influenced by real economic variables but its
level and volatility also have an impact (both direct and indirect) on these same
economic factors. Even modest changes in the value of a currency can have
significant effects on business and the national economy more generally. If a
currency were to weaken excessively, it would put upward pressure on domestic
inflation as imports and internationally tradable goods produced domestically
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rose in price. Conversely, a strengthening currency might lead to a fall in import
prices and lower domestic inflation. Domestic producers would need to contain
their costs in order to remain internationally competitive. Otherwise their
profitability and the level of activity in the economy as a whole might be
adversely affected.

The pound sterling is currently allowed to "float" freely against all other
currencies. This means that the authorities are not committed to maintaining the
market value of sterling within a pre-announced range against any other
currency. Sterling was a member of the Exchange Rate Mechanism of the
European Monetary System from 8 October 1990 until 16 September 1992.
During this period sterling's ability to fluctuate against the currencies of the
European Community was constrained by a commitment by the authorities to
hold sterling within a margin of 6% on either side of its agreed central rates
against each of the other participating currencies. (For further information, see
the Fact Sheet on Economic and Monetary Union in Europe.)

The authorities have a number of means of influencing the exchange rate.
The Bank of England can intervene in the foreign exchange market by buying
or selling pounds, using the government's foreign exchange reserves. This acts
directly on the demand for or supply of sterling. In addition, because the Bank of
England acts on behalf of the Treasury, news of the Bank's operations, if detected
by the market, can convey a message as to the government's overall stance on
exchange rate policy and may generate supporting deals from the market which
can magnify the effect of the intervention. However, although intervention can
be effective in smoothing short-term fluctuations in the value of the pound, it
cannot resolve underlying economic problems, which may need to be addressed
by more fundamental policy measures.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anam’siTaiiTe HOBIi ci10Ba
Spot transactions — clieJIka Ha HaJTMYHBINA TOBAP; ClIEIKA C HEMEJICHHBIM PacYETOM
Swaps— MeHa; clelKa; B3aMMOIIOCTaBKM; OIEpallys CBOM; MOKYNKa WIA MpoAaxka
BAJIIOTBl HA YCJIOBHUSAX 'CHOT' C OJHOBPEMEHHBIM 3aKIIOYEHHEM OOpaTHOM
(dbopBapIHOH CIENTKH; OOMEH 00s13aTeIHCTBAMU WJIH AKTUBAMH
Rapidly — 6b1cTpO; CTpeMUTEIBHO
Volatility — HEMOCTOSHCTBO; HECTAOMIHPHOCTD
Upward pressure — TIOBBIIAIONIEEe BO3JCHCTBUE; (AKTOPhI Ha MOBBIIICHHCE,
TEHJICHITUS K TIOBBIIICHUIO
Fluctuate — kosiebaTbcs
Constrained— BBIHYXXJCHHBII; NPUHYXACHHBIN; HANPSKEHHBIA; CTECHEHHBI;
HECBOOOIHBIN; HATSAHYTHIN;

Margin— mapa; JONOJTHUTENIbHAs CYyMMa; MPUOBLIb
Intervene— BMeMBAaTLCA; BCTYIATHCS; MOCPEAHNYATD;
Fundamental— ocHOBHOI1; CyIlI€CTBEHHBII; HEMPEMEHHBIN; (DyHIaMEHTaIbHBIN
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. Find a word in the text to complete these phrases.

Hajinure cJI0BO B TEKCTE, YTOObI COCTABUTH (pasbl.
3HAWIITH CJI0BO y TEKCTI, 1100 cKIacTu ppasu.

I fooo exchange

2. multinational c....................

T PO funds

4. spotb.............

S. Mmool turnover

6. combined s............

7. €. variables

8. modestc.............

9. deeeiiiiil. inflation
10.internationally c...............
Il.pre-.....ccvvvennnnn. | S
126............ policy

3. Complete the sentences with the correct form of the verb.

3aBepmuTe npeasioKeHus Heo0xoaumoi Gpopmoi riaroJa.
3aBepuiiTh pedyeHHs He0OXiIHOI0 opMOI0 Ti€cI0BA.

a. You'llneedto ................. (drain) the system completely.

b. Whydon’tyou ..............cooiiiiiiii. (phone) the banker?

c. Ithink you should ...................... (switch off) the power.

d. Youllhaveto ............oooeienin. (upgrade) you software.

e. Haveyoutried ...................... (replace) the neighbour?

f. Quick, .cooovvviiiii (close) the valve!

g. The powerkeeps .......cccoeviiiiiiiiiiiinn... (cut out).

4. Complete these pairs of opposites with the words from the box.
3axkoH4uTe (ppa3bl NPOTHUBONOJIOKHOCTH CJIOBAMHU U3 TAOIHIBI.
3aBepiuiTh Gpa3u NPOTUIIEKHOCTI CJIOBAMH 3 TAOIHUILI.

be down be stable decrease shrink fall
get worse go down hit a low

a. To go up/to

b. To rise/to

c. To improve/ to

d. To reach a peak/to

e. To increase/to

f. To grow/to

g. To be up/to

h. To fluctuate/to
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5. Complete the sentences with one of these words: gradually, sharply,
significantly, slightly, slowly, steadily.
3aBepminTe NMpeNIOKeHUS OJHUM W3 JaHHBIX ¢J0B: gradually, sharply,
significantly, slightly, slowly, steadily.
3aBepmiiTh peYeHHs OMAHUM i3 mogaHux cJaiB: gradually, sharply,
significantly, slightly, slowly, steadily.
a)Sales increased slowly (not so fast)

b)Sales increased (suddenly)

c¢)Sales increased (a little)

d)Sales increased (slowly over a long time)
e) Sales increased (noticeably)

f) Sales increased (gradually and regularly)

6. Complete the sentences with one of these words: by, by, for, from, in, of,
since, to.

3aBepinTe NpeaJioKeHNsl OTHUM M3 JaHHBIX ¢JIOB: by, by, for, from, in, of,
since, to.

3aBepiIiThL pevyeHHs OJHMM i3 MOAAHUX CJiB: by, by, for, from, in, of, since,

to.

1) Sales increased 3 %.

2) There was an increase 3%.

3) There was a 3% increase sales.

4) Sales increased 15,000 17,500 — so they increased
2,500.

5) Sales have been increasing January/ six months.

7. Translate from English into Russian.
IlepeBeauTe ¢ AHTJIMUCKOTO SA3bIKA HA PYCCKUM.
Ilepexkiagith 3 aHIJIIICBKOI MOBH POCICHKOIO.
® Miners have staged a two-hour token stoppage to demand better pay and
conditions.
¢ Customers have to make a down payment of 10% when they buy expensive
goods on financing.
® Banks are closely concerned with the flow of money into and out of the
economy.
® Banks originated as places to which people took their valuables for safe-
keeping, but today the great banks of the world have many functions in addition to
acting as guardians of valuable private possessions.
® The bank of England disciplined its subordinate banks by presenting their
notes systematically for collection in silver or gold.
¢ The most important instrument of monetary management is the Federal
Reserve open — market operations.
¢ Banks are told to check carefully when they are asked to open account with
more than $67,800 of cash or precious metals.
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8. Test
Tect
Tect
1. Rewrite sentences 1-6 in the passive and 7-11 in the active.
Ilepenemure mpenJioxkenust 1-6 B crpaagareibHoM 3ajiore, a 7-11 — B
JAEeUCTBUTEJILHOM.
IlepenuiuiTs peyenns 1-6 y nacuBHoMYy cTaHi, a 7-11 — y gilicHomy.
1. Everyone knows she is a successful business woman.
a) She is known as a successful business woman.
b) She is a successful business woman known by everyone.
c) She knows as a successful business woman by everyone.
2. You can buy washing machines like this one anywhere.
a) Washing machines like this can buy one by you anywhere
b) Washing machines like this one can be bought anywhere.
¢) Washing machines like this one can be buy anywhere.

3. He wants to present her something special.

a) Something special is wanted to present by he to her

b) Something special wants to present by him to her

¢) Something special wants to be presented by him to her.
4. They listened to the lecturer very attentively.

a) The lecturer listened to very attentively.

b) To the lecturer was listened very attentively.

c) The lecturer was listened to very attentively.

5. Are you trying to say lie?

a) Is lie trying to be said by you?

b) Is lie to try to be said by you?

c) Are lie tries to be said by you?

6. Newspapers always write about famous people.

a) About famous people are always written in newspapers.
b) Famous people always written in newspapers about.

c) Famous people are always written about in newspapers.
7. As she had been stung by bees, she has no love of insects.
a) As bees had stung her, she has no love of insects.

b) As bees had stung her, she has no love of insects.

c) As bees had stung her, she has no love of insects.

8. The form has to be signed immediately.

a) The director has to be sign the form immediately.

b) The director have to signed the form immediately.

c¢) The director has to sign the form immediately.

9. The wallet has been stolen from my pocket.

a) The robber has stolen the wallet from my pocket.

b) The robber has been stolen the wallet from my pocket.
c) The robber stolen the wallet from my pocket.
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10. The garbage needs to be taken out.

a) He needs to taken out the garbage.

b) He need to be take out the garbage.

c) He needs to take out the garbage.

11. Has he been informed about our meeting?
a) Has they informed about our meeting?

b) Have they informed about our meeting?

c) Have they been informed about our meeting?

2. Translate into English using Passive Voice.
IlepeBenuTe Ha AaHIVIMICKUN A3BIK, HCIIOJB3YS CTPAAATEIbHBIN 32J10T.
IlepexnaaiTh aHIJIiiCbKOI MOBOK, BUKOPHCTOBYOYH MACUBHUI CTAaH.
1. A rne mos Ba3a? - Ee pa30uiu coBcemM HEAaBHO.
a) And where my vase is? - It has been brake quite recently.
b) And where is my vase? - It was broken quite recently.
c) And where is my vase? - It has been broken quite recently.

2. 3nech OOTUHKU U Ty(PJIM PEMOHTUPYIOTCS OTLIOM U3BECTHOTO JIOP/IA.
a) Here boots and shoes are repaired by the famous lord's father.

b) Here boots and shoes are being repaired by the famous lord's father.
c) Here boots and shoes is repaired by the famous lord's father.

3. Ceiluac HaM MMOKa3bIBAIOT CTAPUHHYIO KPEMOCTbD.

a) Now we are shown an ancient fortress.

b) Now we are being shown an ancient fortress.

c) Now we are being show an ancient fortress.

4. Ee MonuTBaM Heb3s OBLUIO OTKA3aTh.

a) Her prayers could not be refused.

b) Her prayers could not be refusing.

c) Her prayers could not refused.

5. JleBy1ika caenana, Kak e cka3aiu.

a) The girl did as she was told.

b) The girl do as she have been told.

c¢) The girl did as she had been told.

3. Put in the right preposition.
BcraBbTe NpaBUIbLHBIN NPEAJIOL.
BcraBTe NpaBU/ILHUH NPUHMEHHUK.

1. Why is he always laughing ... me?

a) at b) on c) to

2. I'mnot listening ... the radio. You can turn it off.
a) for b) to C) on

3. We should look ... our planet.

a) for b) in c¢) after

4. Usually I go to work ... metro.

a) in b) by ¢) under



5. Have you ever read any poems ... Byron?

a) by b) of ¢) for

6. He has never been ... Egypt.

a) on b) in c) to

7. When we arrived ... the station, our friends met us.
a) at b) to ¢) from

8. ... Sunday evening we're going to the theatre.

a) at b) in c) on

9. We usually have family parties ... the weekend.

a) for b) at c)up

10. Why are you always late? Why do you never come ... time?

a) for b) till ¢) in
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Variant IV
1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOU A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiIHOI0 MOBOIO.

Money in the USA
FUNCTIONS OF MONEY

Money is a medium of exchange that is generally acceptable by all persons
within the immediate community. For you, the immediate community is the United
States and its territories and possessions. In additions to serving as a medium of
exchange, money serves as:

e  astore of value (your savings)

e aunit of account (your means of comparing prices of goods and services)

e astandard of deferred payment (your claim on goods and services that can
be exercised now or in the future)

KEY LEGISLATION

The Constitution outlines only the broadest provisions for United States money,
assigning ultimate power ‘to coin money’ and ‘regulate the value thereof’ to
Congress. Over the years, Congress has deliberated upon and enacted more than 60
key statutes to shape our present monetary system.

The earliest monetary statute, the so-called ‘Mint Art’ of April 2, 1792,
established that ‘the money of account of the United States will be expressed in
dollars or units’ and that principal subsidiary parts of the dollar be expressed in
‘dismes (sic) or tenths, cents or hundredths, and milles or thousandths’ and that ‘all
accounts in the public offices and all proceedings in the courts of the United States
will be kept and had in conformity to this regulation.” By this action, the United
States became the first of the present community of nations to adopt the decimal
system for its currency. Another key statute was the Federal Reserve Act of 1913
(and its various amendments), which created the Federal Reserve System and, among
other things, directed the Federal Reserve to manage the nation’s supply of money
and credit in such a way as to help achieve the basic economic goals of high
employment and stable prices.

POLICY DEFINITION OF MONEY

As part of its responsibility for the nation’s monetary system the Federal Reserve
periodically publishes the definitions of money. The most recently published
definitions attempt to distinguish between money that is oriented toward transactions
and money that includes other highly liquid balances that serve a variety of purposes.
The narrowest of these definitions — M1 — is designed to include balances that are
commonly used in payment for purchases of goods and services — that is, assets
thought to be held primarily to carry out transactions. Thus, M1 consists of currency,
travellers checks issued by nonbanking firms, demand deposits, and interest-bearing
accounts with unlimited checking authority. In addition to its reference as the
narrowest definition of money, M1 is also known as the narrowest measure of our
money stock. Other measures of our money stock are referred to as M2 and M3.
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Learn new words
3anmoMHHUTE HOBBIE CJI0BA
3amam’darTaiiTe HOBI cJ0Ba

Immediate community— cpo4HO€ COAPYKECTBO/0OIIECTBO
Provision— cHabxeHue; obecneyeHne; 3aroToBJIEHUE; 3ar0TOBKA; 3arac
Conformity — COOTBETCTBHE; COTJIACOBAHHOCT;

Economic goals— skoHOMUUY€ecKHUE Lieau/3a0aumn

Liquid balances — nukBuAHBII/IIeHHBIN OanaHc/caibao

2. Find a word in the text to complete these phrases.
Haiigure cJ1I0BO B TeKCTe, YTOObI COCTABUTH (pa3bl.
3HalAITH CI0BO y TeKCTI, 100 cKIacTu ¢pasu.

| T community

2. unlimited p............

3. colnm................

4. m.o............ system

5. stable p............

6. €ennnn goals

7/ PO balances

8 Meveevennnns firms

9. demandd.............

104 i, | TR accounts
I1.unlimited c............... Qeevnnnnennn.

3. Complete the sentences with the words and phrases from the box.
3aBepmiuTe NpeasioKeHns: CJI0BaMu U ppazamMu U3 Ta0IHIbI.
3aBepuiiTh pedyeHHsI cJ1oBaMu Ta ¢pa3amu i3 TeKCTY.

appropriate audience AV aids feedback
informative objectives structure

1. Make sure your presentation is - most people want to
learn something new.

2. Your presentation will be easy to understand if it has a clear

3. I’'m very nervous; there are over a hundred people in the

4. At the start, explain your so people know why you are
talking to them.

5. Knowing your audience will help you choose material that is

for their interests.
6. Using is a good way to help communicate your ideas.




4. Organize the words into sentences.

Opranusyiite c10Ba B peAJ10KeHUS.

Opramisyire cJI0Ba y peYeHHs.

Pay/purchase/ by check/ or/ the/ with your credit card/ can/ in cash/ you/ for.
If/ bounce/ you/ you/ your/ changes/ check/ a/ penalty/ a/ bank.

How/ refrigerator/ much/ was/ down/ payment/ the/ for/ the?

Think/ buy/ on/ I/ this/ financing/ machine/ the/ can/ washing/ we.

They/ cards/ they/ why/ 1/ credit/ accept/ say/ don’t.

Make/ on/ don’t/ purchases/ like/ credit/ to/ 1.

5. Translate from English into Russian.
IlepeBenure ¢ aHIVIMICKOIO SA3bIKA HA PYCCKHMH.
Ilepexkaaaits 3 aHIIiIICHKOI MOBH POCIHiCHKOIO.

e [nflation risk — if you wait to buy a car until next year, you accept the
possibility that the price may increase.

¢ Interest rate risk — interest rates go up or down, which may affect the cost of
borrowing or the profits you earn when you save or invest.

¢ Income risk — you may lose your job due to unexpected health problems,
family problems, an accident, or changes in your field of work.

e Personal risk — driving for eight hours on icy mountain roads may be
hazardous. The risk may not be worth the money you would save on airfare.

¢ Liquidity risk — liquidity is the ability to easily convert financial assets into
cash without loss in value. Some long-term investment, such as a house, can be
difficult to convert quickly.

e Short-term goal take one year or less to achieve (such as saving to buy a
computer).

¢ Intermediate goal take two or five years to achieve (such as saving for a
down payment on a house).

e Long-term goal take more than five years to achieve (such as planning for
retirement).

6. Complete the sentences with the words from the box.
3aBepmiuTe NpeasioKeHNs: CJI0BAMH U3 TA0IHIBI.
3aBepuIiTh peyeHHsI CJIOBAMM i3 TEKCTY.

financial need time well-being basis education
health durable soda add up good haircut shampoo

The to have your hair cut at a salon is different from the need to
buy a new car. A i1s a service or a task that a person or a machine
performs for you. A new car is or a physical item that is produced and can be
weighted or measured. You might buy a every day. You might buy a new
car five or six years. How you establish and reach your goal will
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depend on whether a goal involves the need for consumable goods (such as a soda),

durable goods (such as a car), or intangible items (such as ):
e (Consumable goods are purchases that you make often and use up quickly.
Food and products, such as and conditioner, are in this category.

Although the cost of such items may not equal the cost of a car, the costs of
consumable goods :

o goods are expensive items that you do not purchase often. Most
durable goods, such as cars and large appliances, will last three years or more when
used on a regular

¢ [ntangible items cannot be touched but are often important to your
and happiness. Examples of intangibles include your personal
relationships, , education, and free . Intangible are overlooked but
can be expensive.

7. Translate sentences from Russian into English.
IlepeBeanTe ¢ pyCCKOro si3bIKAa HA AHTJIUNCKHU.
IlepexnaniTs 3 pociiicbK0Oi MOBHM aHIJIICHKOIO.

e HekoTopsie cTapbie TeneOHBI-aBTOMAThl JO CHX IMOpP MPUHUMAIOT TOJBKO
KETOHBI.

¢ [locne ymiaThl HaJIOTOB HAII 10XO]] 3HAYUTEIHHO YMEHBIIUIICS.

o K kaxmo# 3anucu no ne0eTy A0HKHA CYIIECTBOBATh KOPPECTIOHIUPYIOIIAs
3aMKCh MO KPEIUTY U HA00OPOT.

e TpeOyercs MONOJHUTENbHAs MPOBOJKA, YTOOBI BEPHYTh TOBapbl Ha CYET
3amacoB, J1e0eToBaTh CYET 3amacoB U MPOBECTH KPEAUTOBYIO 3alUCh MO CUETY
ce0ECTOMMOCTHU PeAIM30BaHHOM MPOAYKIIUH.

e Komnanuu, KOTOpble TEPSIOT JOBEpUE NOTpeOUTENe! U HHBECTOPOB,
PHUCKYIOT MOTEPATH MHOTO OOJIbIIIE.

e [Iponaser He 00s13aH MPOAABATH B KPEIUT KIMEHTY.

e Komnanuu ObUIO TPEJOCTABICHO MPaBO TOProBaThb HAa OKKYIMHUPOBAHHOM
TEPPUTOPUHU.

¢ 3akoHO/ATENIbHOE COOpaHHE HE PEIIMJIOCh JaTh pa3pelieHUuEe Ha CO3/AaHHE
KOpHOpaluu.

8. Test
Tecr
Tecr
1. Rewrite sentences 1-6 in the passive and 7-11 in the active.
Ilepenemure mpeno:xkenuss 1-6 B crpamareabHoMm 3ajiore, a 7-11 — B
JAEeUCTBUTEJILHOM.
IlepenuiuiTs peyennsi 1-6 y nacuBHoOMY cTaHi, a 7-11 — y abliicHOMY.
1. Grandfather was telling the children a story.
a) A story was being told to the children by grandfather
b) The children were told a story by grandfather.
c) A story was told by grandfather to the children.
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2.1 don't like when people laugh at me.

a) I don't like when I am laugh at.

b) I don't like when I am laughed at.

c) I don't like when I am laughed at me.

3. They will be raising money for the baby's operation in America.
a) Money for baby's operation will raised in America.

b) Money for baby's operation will being raised in America.

¢) Money for baby's operation will be raised in America.

4. They made him confess to the robbery.

a) Him was made to confess to the robbery.

b) He was made to confess to the robbery

c) They were made him to confess to the robbery

5. She speaks highly of this book.

a) This book is highly spoken of by her.

b) This book is highly spoken by her.

c¢) This book be highly spoke of by her.

6. Nobody has slept in this room lately.

a) In this room has slept in nobody lately.

b) This room has slept in by nobody lately.

c¢) This room has been slept by nobody lately.

7. The house must be sold immediately.

a) He must sell the house immediately.

b) The house must sell immediately.

c) I must be sold the house immediately

8. Many interesting books have been published by the company this year.
a) The company have published many books this year.

b) The company has published many books this year.

¢) The company has been published many books this year.
9. This book should have been given by Jack.

a) Jack should have given the book.

b) Jack should have been given the book.

c¢) Jack should has been given the book.

10. A great deal of property is destroyed by tornadoes every year.
a) Tornadoes destroyed a great deal of property every year.
b) Tornadoes are destroyed a great deal of property every year.
c) Tornadoes destroy a great deal of property every year.
11. The child will have been fed.

a) They will have been fed the child.

b) The mother will have fed the child.

¢) The mother will has fed the child.



2. Translate into English using Passive Voice.
IlepeBeauTe HA AHITIMICKUH A3BIK, HCIOJIb3YS CTPAJaTEeIbHbIN 32J10T.
IlepexkaagiTs aHIJIIHCHKOI0 MOBOK0, BUKOPUCTOBYIOYH MACUBHUI CTaH.

1. EMy npennoxxuiu Xopolyto paboTy, HO OH OTKa3aJcs.

a) He was offered good job but he refused.

b) Him was offered good job but he refused.

¢) Him has been offered good job but he refused.

2. CamMpble BaKHBIE BEIIU YK€ OBLIIM COOpaHBI.

a) The most important clothes have already been gather.

b) The most important clothes has already been gathered.

c) The most important clothes have already gathered.

3. Bemm yxe ymakoBaHbl, He Tak ju? - J[a, 4emMomaHbl yke COOpaHbl, a CyMKY
ceryac ynakOoBBIBAIOT.

a) The things have been already packed? - Yes, the suitcases are been packed
and the bag is packed now.

b) Have the things been already packed? - Yes, the suitcases have already been
packed and the bag is being packed now.

c) Are the things been already packed? - Yes, the suitcases have already been
packed and the bag is being pack now.

4. VlnTepecHo, Kak1M sI3bIKaM ceiuac y4datr B IIKOJax.

a) I wonder what languages they are taught at schools now.

b) I wonder what languages are they being taught at schools now.

c) It is interesting what languages they are taught at schools now.

5. DTOT BOIIPOC MOXKHO OTJIOKHUTH J0 CIEAYIOLIEr0 COBEIAHUS

a) This question may put off to the next meeting.

b) This question can been put off to the next meeting.

c¢) This question can be put off to the next meeting.

3. Put in the right preposition.
BeraBbTe NpaBUIIbHBIN NPEAJIOr.
BeraBTe npaBuJIbHUN NPUAMEHHHUK.

1. He got angry and shouted ... me.

a) at b) on ¢) for

2. Have you read any books ... James Hudson?

a) of b) by c¢) from

3. James Hudson? I've never heard ....him.

a) of b) about c) to

4. She smiled to me as she passed me by ... the street.

a) in/on b) at ¢) above

5. What happened .... the picture that used to be on that wall?

a) at b) to c) by

6. I don't know whether I go ... tonight. It depends on how I feel.
a) to b) up c) out

7. The police are responsible .... maintaining law and order.
a) at b) for c¢) before
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8. He usually drives ... a great speed.

a) at b) on ¢) down

9. Tarrived to the airport just ... time to see my friends off .
a) at b) to ¢)in

10. He insisted ... visiting Peter.

a) of b) upon c) on



Module IV
Variant 1

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOU A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

International trade
Without international trade we would all be much poorer. There would be some
items like pineapples, coffee, cotton clothes, foreign holidays and uranium that we
would simply have to go without. Then there would be other items like wine and
spacecraft that we could only produce very inefficiently.

International trade has the potential to benefit all participating countries.

Totally free trade, however, may bring problems to countries or to groups of
people within those countries. Many people argue strongly for restrictions on trade.
Textile workers see their jobs threatened by cheap imported cloth. Car manufacturers
worry about falling sales as customers switch to Japanese models or to cheap Eastern
European ones. The chapter therefore also examines the arguments for restricting
trade. Are people justified in fearing international competition, or are they merely
trying to protect some vested interest at the expense of everyone else?

The advantages of the trade. Specialization as the basis for trade.

Why do countries trade with each other, and what do they gain out of it? The
reasons for international trade are really only an extension of the reasons for trade
within a nation. Rather than people trying to be self-sufficient and do everything for
themselves, it makes sense to specialize.

Individuals specialize in the jobs they do, and with the money they earn from
selling their labour they buy the goods they need: goods that other people have
specialized in producing.

Firms specialize in producing certain goods. This allows them to gain economies
of scale and to exploit their entrepreneurial and management skills and the skills of
their labour force. It also ownership of any particular capital equipment or other
assets they might possess. With the revenues firms earn, they buy in the inputs they
need from other firms and the labour they require. Firms thus trade with each other.

Countries also specialize. They produce more than they need of certain goods.
What is not consumed domestically is exported. The revenues earned from the
exports are used to import goods which are not produced in sufficient amounts at
home.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anam’siTaiiTe HOBI ci10Ba

Uranium — ypaH; ypaHOBbI!

Restrictions— orpaHu4eHuUs

Self-sufficient— He3aBUCHUMBIIT; CAMOCTOSATENIbHBIN; CAMOYBEPECHHBIIH;

HKOHOMHUYECKH CaMOCTOATENbHBIH
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Exploit— ucnoyib30BaTh B CBOMX HHTEPECAX

Entrepreneurial skills— npeanpuHuMaTenbCKUe HaBbIKH

Revenues— 10x0/; rocy1apCTBEHHBIE 10X0/Ibl; TOAOBOU JTOXO/
Consumed domestically— u3pacxonoBaHHbI HAa BHYyTPEHHEM PbIHKE

2. Find a word in the text to complete these phrases.
Hajinure cJI0BO B TeKCTE, YTOObI COCTABUTH (pasbl.
3HalAITH C10BO y TeKCTI, 1100 cKIacTu ¢pasu.

| D D trade

2. textilew..................
3. Covriiinn, manufacturers
4. certain g.............

5. mo........... skills

6. labourf...........

A equipment
8. self-s............

9. Veeeriiii interest
10.international c...............
| 0 countries
12.freet............

3. Complete the following sentences with the correct idioms.
3aBepHInTe NpeAJI0KeHUs] BEPHbIMU UIHOMAMM.
3aBepIiTh peYeHHs BipHUMHU ifiomamMu.

to hit it off to break the ice to get along with
to get to know to warm up to

e At first the employees were nervous about the new director. They thought she
was too strict, but after a few month they realized she just wanted the best for the
project and they her.

e | met a lot of people at the conference but I was too busy to
anyone very well. I hope this year I can follow up and meet with
some of these contacts.

e They met at a stockholders’ meeting and . Within weeks,
they were planning a new venture together.
e The new head of sales does not with his employees.

This will have a bad effect on the whole department.

® On the first day of the seminar the participants all had dinner
together
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4.

Match the words (1-8) with the similar meanings (a-h).
Ion6epure k cioBam (1-8) coorBercTBYIOIIEE 3HAYeHUE (a-h).
Iinoepitsh a0 cais (1-8) BinnoBigne 3navyenus (a-h).

1. fix a. repair

2. setup b. depend on
3. build c. make

4. create d. construct

5. afford e. start

6. rely on f. pay for

7. maintain g. give work to
8. employ h. look after

=)

. Choose the correct form of the word in brackets.

Bri0epuTe npaBuiIbHYI0 GopMYy CJIOBA B CKOOKAX.
OO0epiTh NpaBWILHY (OPMY CJI0BA Y AyKKAX.

You need to it by another two meters. (wide)

How 1s the tank? (wide)

What’s the of the room? (wide)

How is the axle? (long)

Can you this workbench? (long)

I think we need to adjust the of the shelves. (long)
Do you know how the reservoir is? (deep)

I can’t reach that shelf. It’s too (high)

We might to increase the of the new shed. (high)

. Complete the sentences using the words from the box below.

3aBepmiuTe NpeasioKeHNs: CJI0BAMH U3 TA0JIHIBI.
3aBepuIiTh peYeHHS CJI0BAMHU 3 TEKCTY.

services charge suppliers deliver tolerance bust deal peak
reputation  conditions comprehensive  approved

XTI HE DD =

If wedon’t.............. this order on time, we will lose the contract.

We’re thinking of changing our raw material ..........................
I'savery .........coeenn. warranty. It covers everything.

I work in the Lab. [ don’tusually .................. with our customers directly.
We supply a wide range of goods and ..........................

We operate to very tight...................... levels.

It’s important to have a good ...................... in business.

Is the company onour .................... times.

. I’ve just heard that our main supplier has gone........................

10 Are you sure you’ve read the terms and..................... carefully?
11.We guarantee to replace it free of......................
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7. Choose the right preposition.
Bri0epuTe npaBWJIbHbII MPEIJIOT.
O0epiTh NpaBUILHUI NPUHUMEHHHK.
The warranty runs out within/in/until September.
It’s due for renewal at/on/in the beginning of the month.
The guarantee runs for/until/in next June.
We must have that part on/by/in next Friday.
e [f the machine breaks down on/during/for the guarantee period, we offer an
immediate replacement.
e We guarantee delivery for/by/within three working days.
We usually take on extra fitters on/within/at peak times.
We can’t deliver the part until/on/during next Monday.
If the job is urgent, we will get to you for/during/within a couple of hours.

8. Test
Tecr
Tecr
. Translate into English.
IlepeBeauTe HA AHTJIMICKUNA A3BIK.
IlepexkaaaiTs aHIJIIHCHKOI0 MOBOIO.
1. He Bonyiics, eciiu st HOTEPAIO 3TY KHUTY, i KYILTIO Te0e HOBYIO.
a) Don't worry, if I lose this book, I will buy you a new one.
b) Don't worry, if I will lose this book, I buy you a new one.
c) Don't worry, if I will lose this book, I will buy you a new one.
2. laxe ecyii ObI BBl TO3BOHUIIM MHE BUYEPA, S HE CMOT ObI PUNTH.
a) Even if you rang me yesterday I could not come
b) Even if you had rung me yesterday I could not have come.
c) Even if you had rung me yesterday I could come
3. Ecniu 661 He 00JIbHOE TOPJI0, 51 ObI TOXKE UCKYTIAICS.
a) If I do not have a sore throat, I would have bathed too.
b) If I did not have a sore throat, I would bathed too.
¢) If Idid not have a sore throat, I would bath too.
4. Ha Bamiem mecTe st Obl YIIEN paHblIE.
a) If I was you, I would leave earlier.
b) If I were you, I would leave earlier.
c) If I were you, I would left earlier.
5. Ecnu ObI OH He ObLIT TAKUM PAaCCESTHHBIM, OH OBl HE 3a0bLI O HaIlleH BCTpeye.
a) If he were not so absent-minded, he would not have forgotten about our
meeting.
b) If he was not so absent-minded, he would not have forgotten about our
meeting.
c) If he were not so absent-minded, he would not forget about our meeting.
6. Eciiu 661 MHE ObLIO BCe paBHO, MEHs OBl 3/1€Ch ceifuac He ObLIO.
a) If it were the same for me, I would not be here.

[y
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b) If it was the same for me, I would not have been be here.

c¢) If it was the same for me, I would not be here.

7. Eciu uziet 10k Ak, TO IOPOTH CTAHOBSITCS CKOJIB3KUMU.

a) If it rain, the roads become wet.

b) If it rains, the roads become wet.

c) If it is raining, the roads become wet.

8.0OHa He yBepeHa, NMpUJET JU OH Ha CBHUJAHWE, HO €CIU TPHUJIET, OHA €ro

IIPOCTHUT.

a) She is not sure if he come son the date, but if he comes she will forgive him.
b) She is not sure if he will come on the date, but if he will come she will forgive

him.
c) She is not sure if he will come on the date, but if he comes she will forgive
him.
9. M&1 Obl ceftyac moxaseiu, eciau Obl He MOCIeA0BaId €ro0 COBETY TOT/Ia.
a) We would be sorry now, if we had not followed his advice.
b) We would be sorry now, if we did not followed his advice.
¢) We would have been sorry now, if we have not followed his advice.
10.Ecnu y Mens Oynet cBosi KOMIaHus, s Oyay 3aHUMAaThCsl TOPTOBJICH.
a) If I will have my own company, I will be dealing with trade.
b) If I will have my own company, I am dealing with trade.
c) If I have my own company, I will be dealing with trade.
2. Open the brackets, using necessary type of Conditional Sentences
(Subjunctive Mood).
Packpoiite cKO0KHM, MCHOJb3Yyl HeOOXOAMMBIH THI Y CJIOBHBIX
pennoxenni
Po3kpuiiTe ay:KKHM, BHKOPHCTOBYHOUYM HEOOXiIHMHA THUI YMOBHHX
Peuens.

1. If I (have) a computer, I (take) up Computer Studies.

a) If I had a computer, I would take up Computer Studies.

b) If I had a computer, I took up Computer Studies.

c¢) If I have a computer, I will take up Computer Studies.

2. If he (lose) my library book, I (have to) buy a new one.

a) If he lose my library book, I will have to buy a new one.

b) If he will loses my library book, I will have to buy a new one.

c) If he loses my library book, I will have to buy a new one.

3. What we (to do) if the Sun (not to shine)?

a) What will we do if the Sun does not shine?

b) What would we do if the Sun did not shine?

¢) What would we do if the Sun does not shine?

4. If I (to have) the soul of a true artist, I (to die) rather than do such a thing.
a) If I had the soul of a true artist, I would die rather than do such a thing.

b) If I have the soul of a true artist, I will die rather than do such a thing.

c) If I had had the soul of a true artist, I would die rather than do such a thing.
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5. If I (to have) much money, I (to travel) everywhere.

a) If I have much money, I will travel everywhere.

b) If I had much money, I would travel everywhere.

c¢) If I had much money, I would have travelled everywhere.

6. If we (can) pay out our debts, we (not to lose) our lands.

a) If we could have paid out our debts, we would not have lost our lands.

b) If we could pay out our debts, we would not lost our lands.

c) If we could paid out our debts, we will not lose our lands.

7. If you (to go) to work by helicopter, how long it (to take)?

a) If you go to work by helicopter, how long will it take?

b) If you had gone to work by helicopter, how long would it take?

c) If you went to work by helicopter, how long would it take?

8. If you (not to interrupt) him at that meeting, he (to finish) his report
successfully.

a) If you did not interrupt him at that meeting, he would finish his report
successfully.

b) If you had not interrupted him at that meeting, he would have finished his
report successfully.

¢) If you had not interrupted him at that meeting, he would finish his report
successfully.

9. If you (to believe) me that time, I (not to have) such life now.

a) If you had believed me that time, I would not have such life now.

b) If you believed me that time, I would not have such life now.

c) If you believe me that time, I will not have such life now.

10. If you (to interrupt) people, they (to get angry).

a) If you interrupted people, they would get angry.

b) If you will interrupt people, they get angry.

c¢) If you interrupt people, they get angry .
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Variant I1

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuiuiTh TEKCT i NepeKJIAAITH HOTO PITHOI MOBOKO.

London and Finance

London, the capital of the United Kingdom, is a political, cultural,
commercial, industrial and financial centre of the country. At the same time
London is one of the world's financial capitals. The business centre of London is
the City, where numerous banks, various exchanges, insurance offices, shipping
and other companies have their head offices.

At the heart of the City is the London Stock Exchange where millions of
shares and securities are traded daily. There are also exchanges in several other
cities of the United Kingdom but the London Stock Exchange is the most
important. Here through the Exchange members the investor can buy or sell
shares in any of the thousands of companies which are quoted on the Exchange
and many more companies which are quoted on recognized exchanges overseas.
The London Stock Exchange offers the largest range and number of securities
quoted on any Stock Exchange in the world. In volume of business it ranks third
to New York and Tokyo.

London is also the headquarters of many prominent international banking
and insurance concerns which deal in foreign shares, insurance and bonds and
handle English investments in other countries.

The central feature of government finance is the Bank of England, founded
under a royal charter as a private company in 1694 to provide loans to the
Government and nationalized in 1946 by Act of Parliament. The Bank of England
is the country's national bank, it carries out government monetary policies and
acts as the 'banker's bank' for privately owned banks and other Commonwealth
nations.

Most domestic banking operations of the United Kingdom are carried on by
the commercial clearing banks. The main commercial banks are Lloyds Bank,
Barclays Bank, Midland Bank and National Westminster Bank, often referred
to as ‘the Big Four’.

Learn new words

3anoMHHUTE HOBBIE CJI0BA

3anmam’sATaiiTe HOBI cJIOBa

Numerous — MHOTOUYHCIICHHBIN; OOIITUPHBIH;

Shares and securities — akIiuu U IEHHbIE OyMary;

Quoted — mpuBeAEHHBIN; YKa3aHHbII

Prominent international banking — Beigaromniasicsi BHEIIHEAKOHOMUYECKAS

OAaHKOBCKasl 1€ITebHOCTh

Insurance concerns — cTpaxoBON HHTEPEC

Royal charter — koposieBckasi mpuUBUIIETUS

Commonwealth nations — ctpansl bputaHcKkoro coapyxecTBa

Commercial clearing banks — mpOMBIIIIEHHBIN/TOPTOBBIN pacUETHBIN OaHK

93



2. Find a word in the text to complete these phrases.
Hajinure cJI0BO B TEKCTE, YTOObI COCTABUTH (pasbl.
3HAWIITH CJI0BO y TEKCTI, 1100 cKIacTu ppasu.

1. £, centre

2. businessC..............
I + banks
4. variouse.............

5. 0cciiiiinn.. offices

6. heado............

7 PO concerns
8. foreigns.............

9. guvviiiiiil. monetary
10.royalc...............

| B N R nations
12.domestic b............. [ JU,

3. Are these sentences correct or incorrect? Correct the verbs that are

wrong.
IIpenJioxkenus BepHble UM HeBepHble? UcnpaBbTe HenpaBHJIbHbIE
rJIaroJibl.

Peyenns BipHi yu HeBipHi? BunpasTe HeBipHIi aieciioBa.
Have you ever be to Korea?
When did he took over the company?
Where have you been yesterday?
She has left the company last year.
They have worked for the company for two years.
We have started flexible working hours six months ago.
I worked here since last March.
I’ve finished my report. Let’s go.
What time have you arrived this morning?
Recent reward schemes have improved staff motivation.

=

. Complete the sentences using words or phrases from the box.
3aBepmiuTe NpeasioKeHus: CJI0BaMU U ppazamMu U3 Ta0IHIBI.
3aBepuIiTh peYeHHA CJI0BaMH Ta ()pa3aMH i3 TEKCTY.

| that order because means because of so |
e | wasn’t sure I haven’t heard from you.
® We have another two staff leaving this week, _______ I need six now.
This that there might be some errors in the original
information.

e In____ to check this, do you mind if I go over some of the job
details?
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e [t’s probably the low salary that there hasn’t been any
interest.

e [’ve just got a few more questions, so ____ we can be sure that all
the information is correct.

5. Circle the words that are most similar in meaning to the words that

underline.
O6Benure ciaoBa, Haubosgee mOAXOAANIME IO CMBICAY K
NOJYEePKHYTOMY.
Oo0BeaiTh cJaoBa, sIKi HaMOIJABII NDiAXOAATH 3a 3HAYEHHAM 0

MiIKpeCcJeHoro.

e A young but successful communications company in the US wanted to
get the account to develop a new computer system for the bank.
businessman
money
job
He had an excellent background in US sales.
experience
time
interest
Peter Knolls started to look for the right person to contact.
touch
. speak to about the business
be friends with

e He called several people in the US bank but wasn’t able to get a hold of
the person in charge of the account.
understand
. hug and kiss
speak to
This association acts as a third party to introduce business contacts.
independent group
. large dinner
businessperson

e The association identified Roberto Coronas of the US bank as the key
contact for the account.
person who introduces
. person who gives information
most important person
He sent the company’s credentials.
description of qualifications
. credit cards
description of beliefs

pTPenTE e TS

cTE e T

cTE e T
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6. Match the idioms with their definitions (relationships).
IlonGepuTe NAMOMBI C MX 3HAYEHHUEM (B3aMMOOTHOIIEHHS).
Iin6epiTh inioMmu 3 iX 3HAYeHHAM (B3a€EMOBiITHOILIEHHSI).

. to hit it off

. to break the ice

. to get along with
to get to know

. to warm up to

to like someone immediately

to have a good relationship

to get past the beginning of an introduction
to begin to like a person

to learn more about a person

DN B~ W =

® a0 T

7. Correct the mistakes in the sentences.
HcnpaBbTe OIIUOKN B MpeII0KEeHUSIX.
BunpaBTe NOMUJIKH Yy pedeHHSIX.

e [ondon are the capital of the United Kingdom, was a political, cultural,
commercial, industrial and financial centre of the country.

e The business centre of London is the City, where numerous bank, would
various exchanges, insurance office, shipping and other companies have there
head offices.

e At the heart of the City is the London Stock Exchange where million of
shares and securities had traded daily.

e There was also exchanges in several others cities of the United Kingdom
but the London Stock Exchange is more important.

e Here through the Exchange members the investor had bought or sell
shares in any of the thousand of companies which were quoted on the Exchange
and many more companies which are quoted on recognized exchanges oversees.

e The London Stock Exchange offers are the largest range and number of
securities quoted on any Stock Exchange in the word.

e [ondon is also the headquarters of many prominent international banking
and insurances concerns which deals in foreign shares, insurance and bonds and
handle English investments in other countries.

e The central feature of government finance has the Bank of England,
founded under a royal charter was a private company in 1694 to provide loan to
the Government and nationalized in 1946 by Act of Parliament.

e The Banks of England is the country's national bank, is carries out
government monetary policies and acts as the 'banker's bank' for privately
owned banks and other Commonwealth nations.

e Most domestic banking operations of the United Kingdom are carries on
by the commercial clearing banks. The main commercial banks had been in
Lloyds Bank, Barclays Bank, Midland Bank and National Westminster Bank,
often reffer to as ‘the Big Four’.
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8. Test
Test
Tect
1. Translate into English.
IlepeBeauTe HA AHTJIMIACKUHA A3BIK.
IlepexkaaaiTs aHIJIIHCHKOI0 MOBOIO.
1. Ecnu Obl Thl OCTYINUJ B YHUBEPCUTET B MPOIJIOM IOy, TO ceiuyac Obl Obl
yK€ Ha BTOPOM KypcCe.
a) If you had entered the University last year, you would be on the second course
already now.
b) If you entered the University last year, you would be on the second course
already now.
c) If you had entered the University last year, you would have been on the
second course already now.
2. Bbl HE CMOXKETe MHE ITOMOYb, JIAXKE €CJIU Bbl JOKTOP.
a) You can not help me, even if you are a doctor.
b) You will not be able to help me, even if you are a doctor.
¢) You will not can help me, even if you are a doctor.
3. Ecnu GBI THI TOBEPHYI Ha MOIO TOJIOCY, Thl ObI MEHS YOI
a) If you turned to my line, you killed me.
b) If you had turned to my line, you would have killed me.
c¢) If you turned to my line, you would kill me.
4. Ecnu Ob1 BBI MEHSI TOT/Ia OKJIMKHYJIH, MBI OBl ceiiuac ObLITH BMECTE.
a) If you cried to me then, we would be together now.
b) If you had cried to me then, we would have been be together now.
c) If you had cried to me then, we would be together now.
5. Ecnu BbI MEHS MOCTYIIAETE, 1 BAM PACCKAXKY UCTOPHUIO CBOEH HKU3HHU.
a) If you listen to me, I will tell you the story of my life.
b) If you will listen to me, I tell you the story of my life.
c¢) If will you listen to me, I will tell you the story of my life.
6. Eciu Obl BBl HHTEPECOBAIUCH UCKYCCTBOM, BbI Obl MEHS TTOHSUIH.
a) If you was interested in art, you would understand me.
b) If you were interested in art, you would understand me.
c) If you were interested in art, you would understood me.
7. Ecnu GBI OHM KCIIOBH30BAM MO0 PEKIIaMy, TO MPOJaiu Obl ceiiuac HaMHOTO
OoJbIIe.
a) If they had used my advertisement, they would sell much more now.
b) If they used my advertisement, they would sell much more now.
c) If they had used my advertisement, they would have sold much more now.
8. Eciii y Bac HET 10pUAMYECKOro 00pa3oBaHusl, Bbl HE UMeEeTe IpaBa paboTaTh
aJIBOKaTOM.
a) If you don't have a law (juridical) education, you don't have a right to work as
a lawyer.
b) If you don't have a law (juridical) education, you will not have a right to work
as a lawyer.
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c¢) If you don't have a law (juridical) education, you wouldn't have a right to
work as a lawyer.

9. Eciu Obl s He ObLT YBEpEH, YTO YMHpal, TO HE paccka3ai Obl BaM 3Ty
UCTOPHIO.

a) If I were not sure that I am dying, I would not tell you the story

b) If I was not sure that I am dying, I would not tell you the story

c¢) If I were not sure that I am dying, I would not have told you the story

10. Ecniu Ob1 MBI TIEpeexaiv 3a TOpoJl, TO CMOIJIA Obl KYIUTh HEOOJIBIION JOMUK.

a) If we moved to the country, we could have bought a small house.

b) If we moved to the country, we could buy a small house.

c) If we had moved to the country, we could buy a small house.

2. Open the brackets, using necessary type of Conditional Sentences

(Subjunctive Mood).
Packpoiite CcKOOKHM, HCHOJb3YS HEOOXOAMMBbIN THI Y CJIOBHBIX
IMpenaoxennia
Po3kpuiiTe ay:KKHM, BHKOPHCTOBYIOUYM HEOOXIIHMHA THUI YMOBHHX

PeueHs.

1. He (not to insist) on that idea, if he (not to know) the truth.

a) He did not insist on that idea, if he had known the truth.

b) He would not insist on that idea, if he had known the truth.

¢) He would not have insisted on that idea, if had known the truth.

2. If the computer (to work) today, we (to send) our e-mail.

a) If the computer worked today, we would send our e-mail.

b) If the computer works today, we would send our e-mail.

c) If the computer would work today, we would send our e-mail.

3. If I (to win) a lottery, I (to buy) a yacht and a plane.

a) If I win a lottery, I will buy a yacht and a plane

b) If I won a lottery, I would buy a yacht and a plane

c) If I won a lottery, I would have bought a yacht and a plane

4. If you (to be) had been more careful, you (not to make) wouldn't have made
such a big mistake.

a) If you were more careful, you would not make such a big mistake.

b) If you had been more careful, you would not make such a big mistake.

c) If you had been more careful, you wouldn't have made such a big mistake.

5. If it (not to rain) last Sunday, we (to go) to the country.

a) If it hadn't rained last Sunday, we would have gone to the country.

b) If it did not rain last Sunday, we would have gone to the country.

c) If it hadn't rained last Sunday, we would go to the country.

6. If you (not to advice) me yesterday, I (not to know) how to act today.

a) If you did not advice me yesterday, I would not know how to act today.

b) If you had not advised me yesterday, I would not know how to act today.

c) If you had not advised me yesterday, I would not have known how to act
today.
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7. 1f T had had time yesterday, I would have gone with you, but I was busy.

a) If I had had time yesterday, I would have gone with you, but I was busy.

b) If I had time yesterday, I would go with you, but I was busy.
c¢) If I had had time yesterday, I would go with you, but I was busy.
8. If I (to be) you, I (to go) to the dentist at once.

a) If I was you, I would go to the dentist at once.

b) If I had been you, I would have gone to the dentist at once.
c) If I were you, I would go to the dentist at once.

9. If you often (to tell lie), people (not to believe) you.

a) If you often tells, people don't believe you.

b) If you often tell lie, people don't believe you.

c) If you often will tell, people will not believe you.

10. If you (to be fired), what you (to do) then?

a) If you were fired, what would you do then?

b) If you had been, what would you do then?

c) If you are fired, what will you do then?
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Variant 111

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

The Economy of Japan

Natural Resources

Japan’s industrial complex is built on one of the word’s weakest resource bases.
Although in variety Japan’s resources are surprisingly rich, their amount, availability,
and quality limit domestic production to a fraction of the country’s needs.

The degree of Japan’s dependence on imported raw materials is illustrated by the
following import figures from 1989: petroleum, 99.7 per cent; coal, 91.4 per cent;
bauxite, 1000 per cent; nickel, 100 per cent; iron ore, 99.8 per cent; copper, 98.4 per
cent; and lead, 90.0 per cent. Japan also relies on outside sources for 100 per cent of
its raw cotton, wool, and rubber, as well as large and growing amounts of forest
products, agricultural commodities, and seafood. Japan’s exceptionally high rate of
economic and industrial growth since the 1960s has resulted in ever greater reliance
on foreign sources.

Resources, especially sources of energy, have also been strained by the rising
affluence on Japanese society. In addition to industrial growth rates of 20 per cent or
better during some years, the purchase of major household appliances by Japanese
families has greatly increased the demand for energy. Periodic shortages along with
sharp rises in production costs have given the energy industries top priority in
government planning.

Structure of National Income

The Japanese economy can be understood by examining three aspects of the
national income: production, distribution, and disposition. Regarding production,
primary industry (agriculture, forestry, and fishing), which accounted for 26.0 per
cent of the GDP in 1950, shortly after the war, fell to 2.4 per cent in 1990, while the
share of secondary industry (manufacturing) rise from 31.8 per cent to 36.9 per cent,
and tertiary industry (services) rose from 42.3 per cent to 60.7 per cent in the same
year.

Learn new words

3anoMHUTE HOBBIE CJI0BA

3anam’sATaiiTe HOBI cJIOBa

Petroleum — ned1p; OeH3UH

Bauxite— 6okcuT; anroMuHHEBas pyaa

Iron ore— xene3Has pyaa

Rubber— kayuyk; pe3uHa; 1acTuk

Exceptionally— uckmtounuTenbHO

Reliance— noBepue; yBEpeHHOCTb

Disposition— pa3MmelieHue; npojiaxa; pacrnoaoKeHue

Tertiary industry— cdepa yciayr; TpeTUIHOE MPOU3BOACTBO
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2. Find a word in the text to complete these phrases.
Hajinure cJI0BO B TEKCTE, YTOObI COCTABUTH (pasbl.
3HAWIITH CJI0BO y TEKCTI, 1100 cKIacTu ppasu.

| ¢ P production
P o P sources

3. rawM......ooennnn...

4, Tovoiiiinnn.. affluence
5. agriculturale............
6. major h..............

N TR shortages
8. regarding p.............
9. 1eeiiiiinn. rise
10.tertiary i...............
ITn.............. income

12.foreigns............

3. Complete the phrases with words from the box.
3aBepmiuTe NpeasioKeHUs: CJI0BAMH U3 TA0JIHIBI.
3aBepuIiTh peYeHHS CJIOBAMM I3 TEKCTY.

time quality up-to-date assembly cut shortage

1. control 4. management
2. line 5. technology
3. staff 6. costs

4. Complete the table.
3anmosiHUTE TA0IMILY.
3anoBHiTH TA0AMLIIO.

Verb Noun Adjective

1. 1. l.innovation

2. 2.imagination 2.

3.creat 3. 3.

4. 4. 4.competitive
5. 5.pofit 5.

6.succeed 6. 6.

7. 7. 7.economical

101



5. Choose the correct word (a-c) to complete each of the sentences.
Bri0epuTte BepHoe ¢JIOBO (a-C), YTOOBI 3aBEePIINTH TA0IHUILY.
O0epith BipHe cj10BO (a-c), 1100 3aBEPIIUTH TAOJIULIO.

1) Weran James at the restaurant.

a. away

b. into

c. out

2) Miles Ashcroft has taken as the head of the product development.

a. on

b. in

C. over

3) Are you working the new web design?

a. on

b. in

c. off

4) Orders went after our competitor launched a cheaper model.

a. on

b. down

C. over

5) We’ll need to bring the deadline; they want it a week earlier.

a. forward

b. back

c. off

6. Underline the odd one out in each group.
IToguepkHUTeE JIMIIIHEE CJI0BO B KAaXK/A0U rpyIIIe.
IigkpecJiTh 3aiiBe CJ0BO y KOKHIN IPyIIi.

lI.a encourage b praise c criticise
2.a help b order c support
3.a competitive b teach c instruct
4.a stimulating b interesting ¢ friendly
5.a promotion b talent c skill

6.a ambitious b  responsible ¢ determined
7. Correct the mistakes in the sentences from the text.

HcnpaBbTe 0IUOKHN B NPeIJI0KEHUAX.
BunpaBTte noMuIKM y pedeHHsX.
e Although in variety Japan’s resources are surprisingly rushed, their amount,
availability, and quality limit domestic production to fraction of the country’s needs.
e Japan also rely on outsides sources for 100 percent of their row cotton, wool,
and rubber, as well us large and growing amounts of forest products, agricultural
commodities, and seafood.
e Japan’s will exceptionally high rates of economic and industrial grown since
the 1960s have resulted in greater reliance on foreign sources.
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e Resources, especially are sources of energy, has also bean strained by the
rising affluence on Japanese society.

¢ [n addition to industrial are growth rate of 20 per cent or better during same
years, the purchase of major housewife appliances by Japanese family has greatly
increased the demand for energy.

e Periodic shortage along with sharps rises in production costs had given the
energy industries top priority in government planning.

e The Japanese economy can be understood by examining three aspects of the
national income: production, distribution, and disposition.

8. Test
Tecr
Tecr
1. Translate into English.
IlepeBeanTe HA AHTJIMICKUI A3BIK.
IepexkagiTh aHIIiICHKOI0 MOBOIO.
1. Ecau Obl 51 He MOMYYHII B IETCTBE MPU3 32 JYUIIUNA PUCYHOK, POAUTENIU Obl HE
YUUIIM MEHS KUBOIUCH.
a) If I had not got the prize for the best drawing, my parents would not have
taught me art.
b) If I had not got the prize for the best drawing, my parents would not teach me
art.
c¢) If I did not got the prize for the best drawing, my parents would not teach me
art.
2. 51 Ob1 HE HaYaJ CBOE JIEJI0, €CITU OBl HE OBLI BETMKUAM XYT0KHHUKOM.
a) I wouldn't begin my own business, if I was not a great artist.
b) I wouldn't begin my own business, if I were not a great artist.
c) I wouldn't have begun my own business, if I were not a great artist.
3. Ecnu y mens OynyT jkeHa u eTH, s Oyay 0 HUX 3a00TUThCH.
a) If I have a wife and children, I will take care of them.
b) If I will have a wife and children, I will take care of them.
c) If I will have a wife and children, I take care of them.
4. Ecnu Obl ThI BeJ1 MalliiHy 0osiee BHUMATENBHO, ThI ObI HE MOMaJ B aBapHIO.
a) If you had driven the car more attentively, you wouldn't got into the accident.
b) If you drove the car more attentively, you wouldn't have got into the accident.
c) If you had driven the car more attentively, you wouldn't have got into the
accident.
5. Ecnm yHuuTOXATH JIeca, TO HaM HeYeM OYJET JbIIIaTh.
a) If one destroy forests (woods), we do not have air to breathe.
b) If one destroys forests (woods), we will not have air to breathe.
c) If one will destroy forests (woods), we will not have air to breathe.
6. Eci 661 51 HE Opocut 60pb0y, st ObLT ObI ceifdac N3BECTHBIM.
a) If I had not given up the fighting, I would be very famous now.
b) If I had not given up the fighting, I would have been very famous now.
c¢) If I did not give up the fighting, I would be very famous now.
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7. Ecnm ObI TBI 3HAUI, KTO TIEpeT TOOOH HAXOIUTCS, ThI ObI TaK HE pa3roBapuBall.
a) If you would knew who is in front of you, you wouldn't speak like that.

b) If you know who is in front of you, you wouldn't speak like that.

c¢) If you knew who is in front of you, you wouldn't speak like that.

8. Eciu Ob1 y Hac ObUTM OUJIETHI, MBI MOTJIU OBl IOWTHU HA KOHIEPT.

a) If we had tickets, we could go to the concert.

b) If we had had tickets, we could go to the concert.

c) If we had tickets, we could have gone to the concert.

9. Eciu Obl OHa HE CIIEIIMIa TaK TOTJIa, OHA MOTJIa OBl OCTAThCS €Ile HEMHOTO.
a) If she were not in such a hurry, she could stay a little more.

b) If she had not been in such a hurry, she could have stayed a little more.

c) If she was not in such a hurry, she could have stayed a little more.

10.Ecnu 651 J[>)k0oHa B35UIM B KOMaH[y, OH OBl CTapajicsi U130 BCEX CHIL

a) If John were taken to the team, he would do his best

b) If John was taken to the team, he would have done his best

¢) If John was taken to the team, he would do his best

2. Open the brackets, using necessary type of Conditional Sentences

(Subjunctive Mood).

Packpoiite CcKOOKHM, HCHOJb3YS HEOOXOAMMBIN THI Y CJIOBHBIX

[pennoxenuni

Po3kpuiiTe ayxKKH, BHKOPHUCTOBYWYM HeOOXiIHMI THI YMOBHHX

PeyeHb.

you.

1. If you (not to help) me that time, I (not to finish) the work today.

a) If you did not help me that time, I wouldn't finish the work today.

b) If you had not helped time, I wouldn't have finished the work today.
¢) If you had not helped me that time, I wouldn't finish the work today.
2. 1 (to give) you some advice, if I (to have) any experience in this field.
a) I would give you some advice, if I had any experience in this field.

b) I would give you some advice, if I have any experience in this field.
c¢) I gave you some advice, if I would have any experience in this field.
3. If you (to wait) for some more minutes yesterday, he (to accept) you.
a) If you waited for some more minutes yesterday, he would accept you.
b) If you had waited for some more minutes yesterday, he would have accepted

c) If you were waiting for some more minutes yesterday, he would have

accepted you.
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4. If he only (to ask), she (to give) her permission, but he didn't.

a) If he only had asked, she would have given her permission, but he didn't.

b) If he only asked, she would give her permission, but he didn't.

c¢) If he only asked, she would have given her permission, but he didn't.

5. If he (to be re-elected) once more, it (to be) a great disappointment for them.
a) If he will be re-elected once more, it will be a great disappointment for them.
b) If he is re-elected once more, it is a great disappointment for them.

c) If he is re-elected once more, it will be a great disappointment for them.



6. If you (to be) more attentive, you (to do) fewer mistakes in that dictation.

a) If you were more attentive, you would have made fewer mistakes in that
dictation.

b) If you had been more attentive, you would made fewer mistakes in that
dictation.

c¢) If you had been more attentive, you would have made fewer mistakes in that
dictation.

7.1 (to buy) a car, if I (to win) the money.

a) [ bought a car, if I won the money.

b) I would buy a car, if I won the money.

c) I will buy a car, if I win the money.

8. If he (to come), tell him I (to wait) him in the meeting room.

a) If he comes, tell him I will be waiting him in the meeting room.

b) If he come, tell him I am waiting him in the meeting room.

c¢) If he will come, tell him I will be waiting him in the meeting room.

9. I (to accept) that offer, if I (to be) you.

a) I would accept that offer, if I were you.

b) I would have accepted that offer, if I was you.

¢) I would have accepted that offer, if I were you.

10.If you (to be) hungry, you (to go) to the restaurant or some other pace to eat.

a) If you is hungry, you will go to the restaurant or some other pace to eat.

b) If you are hungry, you go to the restaurant or some other pace to eat.

c) If you are hungry, you will go to the restaurant or some other pace to eat.
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Variant IV

1. Rewrite the text and translate it into your native language.
IMepenuuuTe TEKCT M MEPeBEeIUTE €ro HA POAHOM A3bIK.
IlepenuuuiTh TEKCT i MepekJIATITH HOTO PiTHOI0 MOBOIO.

Buying the future

Fifty years ago, when products were more individual, manufacturers had the
upper hand. They could change a lot for successful items because they were made in
small quantities. As competition increased and became more global, there were more
products to choose from and they increasingly resembled each other. This gave
retailers the advantage because they could pick and choose which products to sell,
and demand the best prices from suppliers. Now the consumer is taking command.

The arrival of the internet is one of the things responsible for the big shift in
power. The web makes it easy for people to discover who offers the best deal. This
could still be a retailer, but it could also be a manufacturer selling directly to
consumers, or a trader on eBay.

The group to watch closely is the younger generation. 18 to 34-year-olds see the
internet as one of their most important sources of information and entertainment. For
this age group, the internet will remain the dominant medium in their lives, as it will
be for the following generation. This does not mean they will reject the tradition retail
environment entirely. Shops will be as much part of their scene as they have been for
their parents or grandparents. But some shops may be used in different way. One
indication is the growth of brand showrooms, such as the Apple and Sony stores.
Their main role is to demonstrate a range of the company’s products, with
knowledgeable and enthusiastic staff on hand who are under no pressure to clinch a
sale. Where people actually buy the product in the end becomes of secondary
importance.

As media become increasingly interactive, consumers will be able to exercise
more choice. Getting advertising will be optional — so it will need to be good, useful
and relevant to their lives. But traditional mass-media advertising will continue to
have a role, at least for the foreseeable future.

Learn new words

3anoMHNUTE HOBBIE CJI0BA

3anam’sATaiiTe HOBI cJIOBa

Upper hand — Bepx; BiacThb

Age group— BO3pacTHas rpyIra

Dominant medium— riaaBHbIIA/JOMUHUPYIOIUN yTh/ CPEICTBO

Reject— OTKJIOHATE; OpakoBaTh

Entirely— Bcelieno; BIoiHe; COBCEM; COBEPILIEHHO; UCKIIOUYUTEIHHO

Showrooms— BbICTaBOYHBIH 3a11; MarasuH-caJioH; BEICTaBKa 00Pa3IOB;

Enthusiastic staff— moaHbIil 5HTYy3HMa3Ma KOJJIEKTUB

Pressure— 6e30TiarareabHOCTh ; BO3ACHCTBUE; HEOTIIOKHOCTD;

3aTpyAHUTENIBHOE 00CTOSATEIBCTBO
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Clinch a sale— ucxon npoaax, peuiaroniasi Ipoaaxa, 3aKJIIYUTh CACIKY
poaax
Foreseeable future— 0603pumoe Oyyiiee

2. Find a word in the text to complete these phrases.
Hajinurte cJI0BO B TeKCTE, YTOObI COCTABUTH (pasbl.

3HAWIITH CJI0BO y TEKCTI, 1100 cKIacTu ppasu.
1) OO hand

PN AW =
2]
¢
[Ny
=
=
(0)e}

I1.secondaryi................
| 128 PO interactive

3. Choose one of the words (a-c) to complete each of the sentences.
Bbi0epuTe BepHOe €10BO (a-C), YTOOBI 32aBePIINTH TA0IULLY.
O0epiTh BipHe ¢J10BO (a-¢), 100 3aBePIIATH TAOJIULIO.

1. The should not trade any products that are poor quality.

A buyer b seller ¢ warehouse

2. You should buy your new laptop in the . They’re selling last
year’s models very cheaply.

A sell b sold c sale

3. My customers know what they want and they don’t like to be pressurized — so
I don’t need to use any sell.

A strong b  hard ¢ heavy

4. Yes it’s very popular — in fact it’s our selling design.

A top b  high ¢ lead

5. We don’t have an aggressive sales style. We prefer to use sell to
encourage consumers to buy our products.

A kind b nice c soft

6. I'm afraid we out of that style last week. Would you like me to
order one for you?

A lost b sold ¢ bought

4. Underline the odd one out in each group.
IMogyepkHUTE JMIIHEE CJI0BO B KAXKI0M IpyIIIe.
IigkpecJiTh 3aliBe CJI0BO y KOKHIN IpyIIi.

I.a trader b retailer ¢ client

2.a vendor b commercial ¢ advertisement
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3.a consumer
4.a buy

5.a shop

6.a outlet

b  pay for Cc consumer
b value ¢ purchase

b store C promotion
b price c cost

5. Complete the sentences with words from the box.
3aBepumiuTe NpeasioKeHus: CJI0BAMH U3 TA0IHIBI.
3aBepuIiTh pe4eHHS CJI0BAMM i3 TEKCTY.

| free see busy arrange make say  meet
e [’dlike to an appointment with you, please.

* Are you on Monday?

e Can we next week?

e Jcan’t Thursday I’m afraid.

¢ [’m afraid 'm on Tuesday.

o [et’s 9:30?

e I'll you at 9:30 on Wednesday then.

6. Match the types of the work with the definitions.
IHoa0epure THNIBI PAa0OTHI C X 3HAYEHUEM.
ig0epiTh THIIM POOOTH 3 iIX 3HAYEHHSM.

1. full-time e work from home using a computer

2. part-time e work that needs special training

3. flexi-time e start and finish work at convenient times
4.job-share e work shorter hours or fewer days each week

5. contract work

® sometimes work at night and sometimes work in the day

6. teleworking

® 00 to a place of work five full days a week

7. shift work

e work for a company for a fixed time until a project is
finished

8. skilled work

¢ divide a job between you and another person

7. Correct the mistakes in the sentences.
HcnpaBbTe OIUOKY B TPeII0KEHUAX.
BunpaBTe mOMUJIKM Yy pedeHHSIX.

® As competition increasing and become more global, there are most products

to choose fro and they increasingly resembled other.

e The arrival for the internet is one of the things responsible for the big shaft in

power.

e These could still be a retailer, but it can also be a manufacturer selling

directly to consumers, or a trader on eBay.

e For this age group, the internet would remain the dominant medium in their

lives, as it will be for the followed generation.
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e Their main role was to demonstrate a range of the company’s products, with
knowledgeable and enthusiastic stuff on hand who is under no pressure to clinch a
sale.

® When people actually bought the product in the end becomes of secondary
importance.

¢ As media become increasingly interactive, consumers will be able to exercise
more choice.

e (Getting advertising will be optional — so it will need to be well, useful and
relevant to their lives.

e But traditional mass-media advertising is continuing to have a role, at list for
the foreseeable future.

8. Test
Tecr
Tect
1. Translate into English.
IlepeBeauTe HA AHTJIMNCKUHA A3BIK.
IlepexkaaaiTs aHIJIIHCHKOI0 MOBOIO.
1. Ecnu Obl TOJIBKO ObLIIa XOpOIIIas MOrojia, Mbl Obl MOIJIM MO€XAaTh HA MUKHUK.
a) If it were good weather, we could go for the picnic.
b) If it were good weather, we would go for the picnic.
c) If the weather were good, we could go for the picnic.
2. Ecnu y MeHs cerofHs OyeT Bpems, sl 3aKOHUY YUTaTh POMaH.
a) If I have time today, I will finish reading the novel.
b) If I will have time today, I will finish reading the novel.
c) If I will have time today, I am finish reading the novel.
3. Ecniu Obl oHU TshKeno paboTaiu BeCh JIeHb, TO HE CMOTJIM Obl LIETYI0 HOYb
KaTaTbCsl HA MAIlIMHE.
a) If they worked hard all day long, they couldn't drive a car all the night.
b) If they were working hard all day long, they couldn't be driving a car all the
night.
c) If they had been working hard all day long, they couldn't be driving a car all
the night.
4. Ecnu 651 BB yexaiu B 6, y Hac ObuT Obl BECh IEHb JIJISI IPOTYJIOK.
a) If you have left at 6, we would have the whole day for walking.
b) If you left at 6, we would have the whole day for walking.
c) If you had left at 6, we would have had the whole day for walking.
5. Ecnu Ob1 BB Benu ce0st BEKITMBO BUYEPA, 51 OBbI YK€ CETOAHS TTOUYMHUI MAIIUHY.
a) If you had behaved polite yesterday, I would fix (repair) the car already today.
b) If you behaved polite yesterday, I would fix (repair) the car already today.
c) If you had behaved polite yesterday, I would have fixed (repaired) the car
already today.
6. Eciu KT0-TO CIpOCHUT, TO S B CTOJIOBOM.
a) If someone will asks, I am at the canteen.
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b) If someone asks, I am at the canteen.

¢) If someone will ask, I will be at the canteen.

7. Ecnu Obl Bbl pabOTaIv MO BBIXOAHBIM, 51 ObI BAM XOPOUIO IJIATHII.

a) If you worked at the weekends, I would pay you well.

b) If you had worked at the weekends, I would pay you well.

c¢) If you worked at the weekends, I would have paid you well.

8. Ecnu ObI ThI 3aKOHYMII pabOTY B CPOK, TO ceiyac Obl OT/IbIXAJ B TOpax.

a) If you finished the work in time, you would rest in the mountains now.

b) If you had finished the work in time, you would have been resting in the

mountains now.

c) If you had finished the work in time, you would rest in the mountains now.
9. Ecnu O6b1 OH He Tpuexail, Mbl Obl OCTATUCh 0€3 KBapTUPBHI.

a) If he did not come, we would leave without a flat.

b) If he had not come, we would have left without a flat.

c¢) If he had not come, we would have been leaving without a flat.

10.Ecnu 6b1 y MeHs Oblla MallliHa, st ObI BCEX JApYy3eH KaTall.

a) If I had a car, I would drive all the friends.

b) If I had had a car, I would drive all the friends.

¢) If I have a car, I would drive all the friends.

2. Open the brackets, using necessary type of Conditional Sentences

(Subjunctive Mood).

Packpoiite CcKO0KHM, MHMCHOJb3Yyl HEOOXOAMMBIH THI Y CJIOBHBIX

pennoxenni

Po3kpuiiTe ay*KKH, BHKOPHUCTOBYWYM HeOOXiZHHMI THI YMOBHHX

PeyeHb.

1. I (to congratulate) my colleague, if I (to have) his telephone number.

a) I would have congratulated my colleague, if I had his telephone number.

b) I would congratulate my colleague, if I had his telephone number.

¢) I would congratulate my colleague, if I had his telephone number.

2. If one (to have) fever, he or she (to take) some medicine.

a) If one has fever, he or she will take some medicine.

b) If one had fever, he or she takes some medicine.

c¢) If one has fever, he or she takes some medicine.

3. If the man (not to be) so nervous at that meeting, he (to be) a success.

a) If the man had not been so nervous at that meeting, he would have had a

SUucCCess.
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b) If the man was not so nervous at that meeting, he would have a success.

c) If the man were not so nervous at that meeting, he (would have a success.
4. 1 (to put) the suit on, if it (not to be) dirty.

a) I would put the suit on, if it had not been dirty.

b) I would have put the suit on, if it was not dirty.

¢) I would put the suit on, if it were not dirty.

5. If you (not to make) me angry last week, I (not to treat) you like this now.
a) If you did not make me angry last week, I would not treat you like this now.



b) If you had not made me angry last week, I wouldn't treat you like this now.

c¢) If you had not made me angry last week, I would not have treated you like this
now.

6. If they (to make) an appointment on Friday, I (not to be able) to agree.

a) If they made an appointment on Friday, I would not be able to agree.

b) If they will make an appointment on Friday, I will not be able to agree.

c¢) If they make an appointment on Friday, I will not be able to agree.

7. All the children (to sledge), if it (to snow) now. But there is no snow.

a) All the children would sledge, if it were snowing now. But there is no snow.

b) All the children would have sledged, if it snowed now. But there is no snow.

c) All the children would sledge, if it had been snowing now. But there is no
SNOW.

8. If I (to be interested) in this matter that time, you (to get) good interest now.

a) If I were interested in this matter that time, you would get good interest now.

b) If I had been interested in this matter that time, you would get good interest
now.

c) If I was interested in this matter that time, would get good interest now.

9. If I (to be) you, I (to postpone) the trip and (to stay) for a while.

a) If I was you, I would postpone the trip and would stay for a while.

b) If I were you, I would have postponed the trip and would have stayed for a
while.

c) If I were you, I would postpone the trip and would stay for a while.

10. She (not to forgive) will not forgive him any more, if he (to lie) lies again.

a) She will not forgive him any more, if he lie again.

b) She will not forgive him any more, if he lies again.

c¢) She does not forgive him any more, if he lies again.
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APPENDIX
Module I
IIpuuactus (The Participles)

B anrmmiickom s3eike umerorcs npudactue | um mpuuactue 11 (Participle I,
Participle II). [lepBoe oOpa3syercs mytem noOaBiieHuss K ocHOBe cyddukca -ing,
BTOpOoe - cydhdukca -ed u, Takum oOpa3oM, MMEET BHEIIHE CXOAHYIO (opmy C
npoweqmuM BpeMeHeM Past Indefinite, ot kortoporo Participle II ortnuuaercs mo
¢byukun B npeanoxxenuu. s obpazoBanus Participle I HecTanmapTHBIX T71arojos
oepercs III popma.

1. ®opMbI IpUYaACTHSA

Participle Active Voice Passive Voice
Participle I examining being examined
Participle II - examined

Perfect Participle having examined having been examined

Participle I (Present Participle) Beipaxkaer nelicTBue, OTHOBPEMEHHOE C
JCHCTBUEM, BEIPAKEHHBIM CKa3yeMbIM:

Speaking about the new T'oBopst 0 HOBOM MeTO/IE, UH-
method the engineer told us eHep pacckazan HaM MHOTO
many interesting things. MHTEPECHOTO.

Participle II (Past Participle) BeipaxkaeT AeiicTBHE, 3aKOHUEHHOE 110
OTHOIICHHUIO K JICHCTBUIO, BEIPAKCHHOMY CKa3yeMbIM:

The results obtained are  |[loJiy4yeHHBI€e pPE3yJIHTATHI
very important. OYCHb BaKHbI

Perfect Participle BeipaxkaeT neiicTBre, NpeaIeCTBYIONIEE AEHCTBHUIO,
BBIPAXKEHHOMY CKa3yE€MbIM:

Having been made Tak Kak onbIT OLLJI cIeJIaH
carelessly the experiment |HeOpexHO, OH OKa3ajiCcs
proved useless. Oecroyie3HbIM
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2. ®ynkuum Participle I

DyHKIUA IIpumep u nepeBoa
They were watching the moving particles
Onpenenenue Onu wHabOmOmamum 3a  JBWKYIIUMUCS
YaCTULIAMU
The substance being investigated was
brought to the laboratory
Hccnenyemoe BelecTBO MPUHECTH B
J1a00paATOPHIO
When carrying out the experiment the
O6CTOATETHCTBO scientist encounted many difficulties [Tpu
(BpeMeHH, MPUYMHBI, 00pa3a NEeUCTBUS - [TPOBEICHUH JKCIIEpUMEHTa  (TIPOBOS
4acTo ¢ corozamMu when wim while). SKCIIEPUMEHT) YYEHBIA CTOJIKHYJICA CO
MHOTHMH TPYAHOCTSIMH
YacTp mpoCTOro riaroibHOro He is carrying out the experiment now
CKa3yeMoro Ceiluac OH MPOBOJUT FKCIEPUMEHT
3. ®yuxknuu Participle II
DyHKIMSA IIpumep u nepeBoj
The results obtained are of great
importance for the radio engineer
[TonyueHHble pe3ynbTaThl OYEHb BAXKHBI
Omnpenenenue TSl paAuONHKEHEpa

(JieBo€ U MmpaBoe)

The designed device was used in radio
engineering
CKOHCTPYHPOBAHHbBIN
MCITIOJIB30BAJICS B PAJIMOTEXHUKE

npuodop

O0CTOATENBLCTBO
(gacto ¢ coro3amm when, if, unless)

When designed the device was given to
the laboratory

Korma nmpubop ObIT CKOHCTPYHUPOBAH, €T0
oT/anu B 1a00paTopuio

Yactb IMPOCTOIO I'1aroJIbHOI0 CKa3z3yCcMoOIro

The device was designed by the engineer
[TpuGop OBLIT CKOHCTPYHUPOBaH
WH)XCHEPOM
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4. He3aBucumblii npu4acTHblii 000poT (Absolute Participial Construction)

HeszaBucumblii mpu4acTHBIE 00OPOT COCTOMT U3 CYLIECTBUTEIBHOIO B OOIIEM
najnexe (WIM MECTOMMEHHUS B UMEHHUTEIBHOM Mafieke) U MpUYacTus. XapaKTepHbIM
INPU3HAKOM HE3aBUCHMOIO MPHYACTHOTO 00OpOTa SBISETCS HAIUYME 3arsToi,
OTAeNsoNIed O00OpPOT OT OCTaJbHOM 4YacTH TNPEASIOKEHHs. AHaJOTHYHON
KOHCTPYKLIMM B pYyCcCKOM si3blke HeT. OOOpOT mepeBOOUTCS HAa PYCCKUN SI3BIK
HNPUAATOYHBIMU TPEASIOKEHUSIMH, KOTOPbIE BBOASTCSA COI03aMH TaK Kak, MOCKOJBKY,
XOT$, MOCJIe TOTO KakK, KOT1a, Mpu4eM, a, €Ccliu.

The engineers having tested Ilocie TOro Kak HMHKEHePHI
this device, we can use it. HCHBITAJIM JITOT NpPUOOpP, MBI
MOEM €r0 UCIO0JIb30BATh
New machines were brought HoBble MammHbl ObUTM TPHUBE3CHBI
to the plant, all of them being Ha 3aBOJI, MPpUYeM BCe OHU ObLIM B
in good order. XOpoeM COCTOSTHUM
The signal given, the rocket Korma (xkak To0JBKO) pgaercs
starts immediately. CHUTHAJI, PaKeTa Cpasy B3JIETAET
Tak kak B 3ajie ObLIO MHOIO
HAPOay, Mbl HE MOTJIM BOUTH
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MOI{&JILHLIG IJ1aroJbl, BbIpakaromue BCPOATHOCTD,
BO3MOKHOCTH, COMHCHHE

DopMUpOBaHKE BPEMEHU
(mocJie MOJAJIBHBIX IJ1aroJia)

1. Present Indefinite /
Future Indefinite

Usually, every day
Tomorrow, next week

do (I hopma)

[\°)

. Present Continuous

Now

be + doing

w

. Past Indefinite /
Present Perfect

Yesterday, last week
Already, yet, recently

have + done (3 popma)

4. Past Continuous /
Present (Past) Perfect
Continuous

At that moment
For, since

have + been + doing

Can/ Could

Heyxeau oH ...

He Mo:xeThb ObITh, UTO (0bI)
OH...

Heyxesu oH He ...

Can + he + riaaroa?

He + can not + riaroJi

Can + he + have failed +
to + riaroJ (I opma)

IIpumep

I. Can he know 2
languages? — Heyxenu
OH 3HAaeT 2 s3bIKa?

2. Can she be flying to
Italy now? — Heyxenu
OHa JIETHT cely4ac B

Nranuio?
3. Can they have
already arrived? -
Heyxemn oHum  yxe
npuexasum’?

4. Can you have been
waiting for her for 2
hours? — Heyxenu TbI
ee kaaJ 2 yaca?

1. She cannot train every
day. — He MoxeThb ObITh, 4TO
OHa TPEHHpYeTcs KaKIbIi
JIeHb

2. They cannot be sleeping
now. — He MoxeT ObITb, YTO
OHH CHAT celyac

3. I cannot have already
passed all exams. — He
MOYKET OBLITh, UTOOLI S CAAJIA
yaKe BCE DK3aMEHbI

4. You cannot have been
watching all this for all
evening. — He Moxer OBbITb,
YTOOBI BBI BCE 9TO
Ha0J/1101a)11 BeCh /IeHb

He cannot have failed to
notice you? — Heyxenu oH
Te0s HE 3aMeTUI?
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Must
(00.151cen 0L, 00121cHO ObIMB, 8EPOAMHO0, 04E8UOHO, HABEPHOE)

1. She must be very smart JloKHO OBITH, OHA OUYECHb YMHAs

2. They must be playing now BeposiTHO, OHU ceildac MTrparoT

3. She must have already sold the flat. OueBuHO, OHA yiKe mpojaaJia

KBapTUPY

4. You must have been holding the HagepHoe, Bbl NpoBOAMIH

excursion all over the city HKCKYPCHIO 110 BCEMY T'OPOJY
May / Might
(603mo31cHO, MOIICEM ObINMDB)

1. MoxeTb ObITh, OHa OyaeT paaa Bac She may be glad to see you.
BUJICTh

2. Bo3MoxHO, OHU ceiiuac padoTaT They may be working now.
aoma

3. MoskeTh ObITh, OHA ellle He yexaJa She might have not left yet.

4. Bo3moxHo, s mpoBepsiJia Bce I may have been checking

CJIMIIKOM J0JIT'0

everything too long.
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Module 11

The Infinitive Undpunutus (HeonpeaeseHnas popma rjiaroJia)

Active Passive
Indefinite to emit to be emitted
Continuous to be emitting -
Perfect to have emitted to have been emitted

Perfect Continuous

to have been emitting

[lepeBon wHGUHUTHBA HA PYCCKUM S3bIK 3aBUCUT OT €ro (QYHKIUH B

MIPEIOKECHUH B OT €r0 (hOPMBI.

Memorize the following expressions:

To cut a long story short

To tell (you) the truth

To put it mildly

To begin with

To say the least of it

To say nothing of

He is hard to please

He is hard to speak with

She is pleasant to look at

He is pleasant to deal with
His story is difficult to believe
Your work leaves much to be desired

It is out of question to buy this house

I have something to tell you

There is nothing to be gained by it.
There is nothing to be done.

There 1s much to be done.

There is nothing left to do but wait.

To see is to believe.

I have nothing to read.

Mother is the first to get up.

She is the last to come to school.
You are the first to tell me about it.

Who is to blame?

I am not to blame.
What is to be done?
Be sure to come.

Kopoue rosops

Ckazatb (BaM) 1O npasje

MHrko BeIpaxkasch

Haunewm c Toro, uto

Ilo xpaiitnen mepe

He rosops yxe o

EmMy TpyIHO yroauts

C HUM TPYJIHO pa3roBapUBaTh

Ha Hee npusiTHO cMOTpETH

C HUM TIPUSTHO UMETH JIETIO

Ero paccka3y TpyaHO MOBEPUTH
Baa pabora octaBisieT xenaTh
JYYILIEro

O TOM, YTOOBI KYIUTh 3TOT JJOM, HE
MOKET OBITh U PEUH.

MHe Hy»KHO BaM KO€-4TO CKa3aTh
OTUM HUYETO HEe J0ObelIbCs
Hwuuero e noaenaemns

Hy»xHo MHOTO€ crenathb
EnuncrBenHoe, dYro ocraercs -
KIATh.

Buners 3HaunT BepUTh

MHe Heuero 4ynuTarthb

Mama BcTaer neppas

OHa npuxoAUT B LIKOJY MOCIIECIHSISA
BrI niepBbIl 4€NOBEK, KOTOPBIA TOBOPUT
MHE 00 3TOM.

KTo BunOBat?

51 He BUHOBAT

Yro nenarn?

O0s13aTEIbHO NPUXOTUTE

9TO
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The Gerund
I'epynaun

I'epynauii — HenuuHas ¢opma riarona, KoTopas, Kak W mnpuyactue I,
obOpazyeTcs ¢ momoIpio cyddukca -ing, 100aBJIsIEeMOT0 K OCHOBE riarosa. ['epyHanii
o0JnafiaeT Kak CBOMCTBAMU IJ1aroia, Tak U CylleCTBUTEIbHOT0. AHAIIOTMYHON (DOPMBI
B PYCCKOM S$3bIKE HET, HO IO 3HAYEHUIO TEPYHIUI0 OJU3KU OTIJIarojbHbIe
CYLIECTBUTENbHBIE TUIIA XOX#COeHUe, YmeHue U T.11.

[epynauii MOXXeT MMETh Mepea CcoOOM MpeIor, OMpEeNesIeHNE, BhIPAKEHHOE
MPUTSHKATEIBHBIM  MECTOMMEHHEM WM CYIIECTBUTEIBHBIM B TMPUTHKATEIHHOM
najexe.

The engineer insisted on ex- WuxeHep HacTanBajl HA IKCIIePH-
perimenting as the best me- MEHTHPOBAHMHU KaK JIy4IIIeM
thod to solve this problem. CIoco0e pelIeHus ITOro BOIpoca.
The method of Kurchatov's MeToa 3KCIEPUMEHTUPOBAHUS
experimenting usually gave KypuaroBa naBan xopouue pe-
excellent results. 3yJIbTaThI

OO6nanast CBOMCTBAMU TJ1aroya, FepyHIui MOKET UMETh JOTIOJIHEHUE U
ONPENEIIATHCS HAPEUUEM.

Studying the results of the N3yuyenue pe3yapTaToB IKCIEpU-
experiment took me a week. MEHTA 3aHSJIO Y MEHS HEJIEIII0
The professor insisted on our [Ipodeccop HacTanBai Ha TOM,
designing a new type of YTOOBI MBI CKOHCTPYHPOBAJIH
semiconductor radio set. HOBBIUM THUII TOJYITPOBOJHUKOBOTO
paguoNnprueMHHKA

1. ®opmbl repynaus

Active Passive
Indefinite Perfect examining having examined |being examined having been
examined

Indefinite Gerund (Active u Passive) OOBYHO BBIpAXKAIOT ACHCTBUA,
MIPOUCXOJISIIINE 0OHOBPEMEHHO C ICUCTBUEM, BBHIPAKCHHBIM TJIar0JIOM-CKa3yeMbIM B
MPEJIOKEHUH B HACTOSIIEM, IPOLIEIEM U Oy TylIeM BpEMEHH.

In describing the experiment he IIpu onucaHuU IKCIEPUMEHTA, OH
gives every detail of the process. JaeT Bce NMOJAPOOHOCTH Mmpomecca

Perfect Gerund (Active wu Passive) BbIpaxkaeT JelCTBHE, KOTOpPOE
npeowiecmsyem NCUCTBUIO, BRIPAXKEHHOMY TIJ1ar0JIOM-CKa3yeMbIM.
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I know of your having
described the experiment.

S 3Ha10, YTO Bbl ONMCAJIH
9KCIICPUMCHT

2. ®yHKIMYU FepyHAus B NPeAI0KeHUH

DyHKIMSA

IIpumep u nepeBoj,

Ilomnexariee

Measuring temperature is necessary in many
experiments. N3mepenue TEeMIIepaTyphbl
HEOOXOAMMO TPU  MPOBEAECHUU  MHOTHUX
HKCIEPUMEHTOB

[Ipssmoe mononHeHue

He had to stop experimenting. OH BBIHYXJI€H
OBLT IPEKPATUTh HKCIIEPUMEHTUPOBAHNE

[IpennoxxHoe 1OMOJIHEHUE

He succeeded in obtaining reliable results. Emy
YAQJIOCh MOJYYUTh HAJEAKHBIE PE3YJIbTAThI

Onpenenenue (¢ npeasiorom of)

These devices have the advantage of being
cheap.

Ot npubOPHl UMEIOT TO MPEUMYILECTBO, UTO
OHM JICILIEBbIE

OO0CTOITEIBLCTBO
(Bceraa ¢ nmpemjiorom)

The engineer could solve this problem only
after experimenting. MHxeHep MOr peumuTh
3TOT BOITPOC TOJIBKO nocne
HKCIIEPUMEHTHPOBAHUS

3. I'epynaunansublii 000poT (Gerundial Construction)

Coueranue TrepyHIUs C

nNpeAmCcCTBYOINM My MNPUTAKATCIIbHBIM

MECTOMMEHUEM HWJIU CYIIECTBUTEIbHBIM B MPUTSKATEIILHOM WM OOIIEM TMaiexe
o0pa3yeT CIOXHBII TepyHAHAIbHbIA 000pPOT, KOTOPHIA MEPEBOAMTCS HAa PYCCKHMA
A3BIK MPUAATOYHBIM TpeasiokeHrueM. Takoi 000pOT 4acTo BBOJIMTCA CIIOBaMHU TO,

YTO, TOI'0, YTO, UTO, YTOOBI U T.II.

His taking part in

known to everybody.

the/To, 4r0o OH mnNpuHMMAJ Yy4yacTHe B
development of the new cooling pa3patorke HOBOI1 CHCTEeMbI
system was of great help to us.
Kurchatov's having devoted all|momoribto

his life to nuclear physics is|To, uro KypuaToB mocBATHI BCIO CBOIO

OXJIa:KAeHHusl, ObLIO JJI1 HAc OOJIBIION

KM3Hb SIepPHOH (PM3HKe, U3BECTHO BCEM
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4. CpaBHenne ¢pynkuuii Participle I u Gerund

YiieHbl peasiIoKeHust

Participle I

Gerund

[Tonnexaiee He ynotpebnsercs Testing a new device is a
difficult task. McnibiTanne
HOBOTO prOoOpa — TPYAHOE
hi (S (6]

JlononHeHnue He ynotpeGasiercs He likes testing new devices.

(mpstMo€ WM Ipen-
JIOKHOE)

Emy HpaBHUTCS UCTIBITHIBATH
HOBBIE TPUOOPHI.

He thought of testing this de-
vice later. OH 1yman o Tom,
YTOOBI HCTIBITATh 3TOT MPUOOP
HO3Ke

Yactp nmpocToro
CKa3yeMOro

The engineer is testing this
new device now. HxxeHep
UCIIBITBIBAET 3TOT MPUOOP
cenyac.

She has been working at this
plant since 1955. Ona
paboTaeT Ha 3TOM 3aBOJIE C
1955 rona

He ynotpebnsercs

YacTh COCTAaBHOTO

He ynorpe6nsiercs

He began these parts.

IJ1aroJIbHOTO OHn Havas1 00pabOTKy ATUX
CKa3yeMoro neraneu
Onpenenenue The man testing new devices |This method of testing new
1s our engineer. YenoBex, devices is quite good. DTOT
UCIIBITHIBAIOIINI HOBBIE METO/1 UCTIBITAHUSI HOBBIX MIPU-
npuOOpHI, HAIl HHKEHED OO0pOB JOBOJIHHO XOPOUIHIA
OOCTOSTENBCTBO (While) testing a new device |Upon testing a new device the

the engineer used a new
method. VcnibiThiBast HOBBIN
npuOop, HHKEHEP MPUMEHII
HOBBIM METOJI

engineer put down the data.
[locne ucnpITaHnss HOBOTO
npudopa WHXEHEpP 3anmucal
JTaHHbIE
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Remember and learn by heart the following verbs after which the Gerund is

required:

to avoid (u30erath)

cannot help (He mory He)

to feel like (1e xouercs)

to deny (oTpunaTh)

to enjoy (HacIaxaaTbesl)

to mind (OBITH IPOTHB)

to finish (3akaHUMBaTH)

to stop (mpexkpaiars)

to thank for (61arogaputs 3a)
to forgive for (mpomars)

to excuse for (MpOCUTH MPOIICHHUS)
to be sorry for (coxaneTs 0)

to accuse of (0OOBHHSATEH B )

to approve of (0100psTH)

to be afraid of (6osTBCS)

to complain of (anoBarbcs Ha)
to give up the idea of (oTOpocuTh
MBICJIB O)

to think of (mymats o)

to suspect of (moo3peBath B)
to depend on (3aBUcCETH OT)

to rely on (moyiaratbcst Ha)

to continue (IpoaoJKATh)

to go on (MpoOaOJKATh)

to keep (on) (mpo10IXKaTh)

to insist on (HacTauBaTh Ha)

to persist in (HacTauBaTh HA)

to succeed in (IpeycneTs B)

to burst out (pa3pa3uTbcs)

to give up (OpocuTh AeIaTh YTO-TO)
to postpone (OTI0XKUTh)

to put off (0TJI0XKUTH)

to prevent from (mpeaynpeauTs o)
to agree to (COracUTHCS HA)

to look forward to (;x1aTh ¢ HETEpHIEHUEM)
to object to (Bo3pakaTh NPOTHUB)
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Module IIT

The Passive Voice

CrpanarejibHbIN (IaCCHUBHBII) 3aJ10T

Bpemsi
= Present Past (Ilpoweowiee) Future (Byoywee)
pE (Hacmosawee)
S EQ} am was
S S| s supplied supplied |  will be supplied
:g S| are were
S
~ N
. § am was
3 E is being supplied being supplied will be supplied
£ 3| are were
= R
S
N
S| have
S been supplied | had been supplied will have been supplied
2| has
Sy
L
3
2

Perfect
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Prepositions

Hpenaorn
In At On

(B, Ha) (B, Ha) (1a)
in a room at the bus stop on a shelf
in a shop at the door. on a plate
in a car at the traffic lights. on a balcony
in the water at her desk. on the floor
in a garden at the top on a wall
in a town at the bottom on a door
in the city centre at the end (of...) on the ceiling
in France at the top of the page. on the grass.
in the kitchen at home on the envelope.
in that bag at work on a horse
in a bank at school on a bicycle
in a factory at university on a motor-bike
in the river at college on a bus
in the sea. at the station on a train
in a town at the airport on a plane
in the country on a ship
in bed on the ground floor
in hospital on the first floor
1n prison on the way (to
in a street on the way home
in the sky on the left/right

in the world

in a newspaper

in a book

in a photograph

in a picture

in a car in a taxi

in the middle (of...)

Takxe in or at Mo:kHO ynorpe0asaThb Ajs 3nanuii (hotels, restaurants

at a nice hotel or in a nice hotel.
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To In At
(K, IO HATIPABJIEHUIO K) (B) (B, HA)
go/come/return/walk to be/stay/do something | be/stay/do something

get to (a place)

in

arrive in a country or

at

arrive at other places

BE3 IIPEIJIOT A town (arrive at the station /
get home / arrive home arrive at work
next to | between | in behind | opposite | by (= | under | above | below
(beside) front next
of to)
pAIOM, COOKY | MeXKIy | IIEpe] | 03aau | HalpOTHB | Y, MOJ | BBIIIE | HUXKE
BO3JIE
from up down by (car) with without back
u3 BBEPX BHHU3 Ha C 0e3 Ha3aJl

LR

into (in) (B, BHYTpb)

l

oF

\{&

=

-@-
-
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through (uepe3)

=M

out of (u3)

LB A\

under (11oy1)
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__—-—"_. _
along (B10.1b)

past (Mumo)

across (uepe3)

v
afraid of...

angry with somebody
angry about something

different from ...
fed up with ...

full of...
good at ... / bad at ...

interested in ...

married to ...

nice/kind of somebody to
(be) nice/kind to

(somebody)

sorry about (something)

sorry for (doing

something)

* Are you afraid of dogs?

* Why are you angry with me? What have I done? ¢ Are
you angry about last night? (= something that happened
last night)

* Ann is very different from her sister.

* I'm fed up with my job. I want to do something
different. (= I've had enough of my job)

* The room was full of people.

* Are you good at maths? ¢ Tina is very bad at writing
letters.

* 'm not interested in sport.

* Sue is married to a dentist. (= her husband is a dentist)
« It was kind of you to help us. Thank you very much.

* David is very friendly. He's always very nice to me.

* ['m afraid I can't help you. I'm sorry about that.
* I'm sorry for not phoning you yesterday, (or I'm sorry I
didn't phone you)

After a preposition (at/with/for ezc.), a verb ends in -ing:

ask (somebody) for fill in (a form) = complete (a form)
belong to put out (a fire / a cigarette):
happen to cross out (a mistake / a word etc.)
listen to try on (clothes) = put on clothes to
speak/talk to somebody about | see if they fit you

something give up = stop something you do
thank somebody for ring up = (tele)phone smb

think about smth
think of doing smth
wait for

write to

look at

look for

look after

look up (a word in a dictionary etc.)
turn up = make louder (TV, radio)
knock down (a building) = demolish
turn down = make more quiet (TV)
throw away (rubbish)

put away = put something in the
place where you usually keep it
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depend on

put on

take off

go in

fall off

wake up = stop sleeping
speak up = speak more loudly
grow up = become an adult
give up = stop trying

slow down = go more slowly
break down = stop working (for cars)
fall over = lose your balance
run away

pay somebody back (money that you
borrowed)

knock over (a cup/a glass/a person)
show (somebody) round/around =
take somebody on a tour of a place
look out / watch out = be careful
come on = be quick / hurry

hold on = wait

carry on = continue = go on /walk on
drive on etc. = continue going

get on = manage (in a job, at school)
take off = leave the ground (for planes)
hurry up = do something more quickly
wash up = wash the plates
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Module IV

Subjunctive Mood (¥ ciioBHble [Ipenioxennst)

Tun OTtHoO Heiict IIpensnoxenne IIpumep
CUTCH BHE
0 Hacro- If + Present Indefinite | If it rains the roads
qIiee Peann- | (macrosiiee)  (Present | are wet.
BpeMs HOE Continuous) + Present| Ecau maer noxnb, TO
(Present) Indefinite (Present | noporu Mokpsbie
Continuous)
(HacTos1IEE)
1 If + Present | If the weather is fine
bynyuee Peanb- | Indefinite(nactosiee) | tomorrow we will go to
BpeMms HOE (Present Continuous) + | the country.
(Future) Future Indefinite Ecnu mnorogma Oyaer
(Future Continuous) | xopomias 3aBTpa, MbI
(Oynyiee) nmoejeM 3a ropoj
2 Hacro- If + Past Indefinite | If I had one million
sIee (mporemiee) (Past | now I would buy a
BpeMs Continuous) + would | plane.
(Present) (6p1) mmm could (mor |Ecim 6Bl 'y MeHd
Bynymee Hepeans- | Ob1) + rnaron (I ¢popma) | ceifuac ObL1 MUIUIHOH,
BpeMsi HOE s ObI KyIIHJI CAMOJIET.
(Future) If T were (mas Bcex
OBl MecTouMeHnmii) you I
wouldn’t  go  there
today.
Ha tBOEM Mmecte s ObI
Ty/la CEroJHs He XOINJI
3 IIpomen- If + Past Perfect| If I had known his
niee (mpennporiueaiee) address then I would
BpeMsi Hepeanb- | (Past Perfect | have sent him an
(Past) HOE Continuous) + would | invitation.
(6e1) mmm could (mor| Ecmm ObI 5 3HAJ ero
ObI Ob1) + have + rmaron (3 | agpec Torma, s Obl
¢dopma) npucjaal eMy
IpUrjanieHne
cMe Hacro- If + Past Perfect| If you had told me
HIaH sAlee Hepeanb- | (mpennpomentiiee) then I would study
HbIN BpeMms HOE (Past Perfect | here now.
(Present) Continuous) + would
+ IIpowen ObI (6p1) mmu could (mor| Ecmm OB TB MHE
niee ob1) + rnaroxn (I popma) | ckazan Torma, s Obl
Bpemsi(Past) YUYWJICH 31E€Ch celvac
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